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IHEPEAMOBA

Jlanuii HaBUaNbHUN TOCIOHMK po3pobsieHO s cTyAeHTiB | kypcy
€KOHOMIYHMX CIEUIaIbHOCTEN BIIMOBIIHO J0 JEP>KABHOTO Ta rajy3€BOr0 CTaHIApTiB
BUKJIaJJaHHA 1HO3€MHOI MOBU Mpo(eCciiHOro CcopsIMyBaHHS 3 ypaxyBaHHSAM
«3aranpHO€eBponeiicbkux PexoMeHailiii 3 MOBHOI OCBITHU, BUBYEHHS, BUKJIAJIaHHS,
OLIIHIOBaHHS» IIOJ0 MOBHOi OCBITH. TeMaTuka aBTEHTUYHUX TEKCTOBUX MaTepiaiiB
cmiBlajgae 3 mporpamoro (axoBUX ITUCUHUIUIIH, a came «EKOHOMIYHA Teopisy,
«MikpoekoHOMIKa» Ta «MaKpOeKOHOMIKa» €KOHOMIYHOTO (DaKyIbTeTy, BIANOBIIAE
nporpamMi aHrJaiiCcbKOI MOBH JJIS CTYACHTIB, K1 HABYAIOTHCA 32 HANPSIMOM «(iHAHCH,
O0aHKIBCbKA CIIpaBa Ta CTPaxXyBaHHSA», «EKOHOMIYHA TEOPis», «MIDKHAPOIHA
€KOHOMIKa» Ta 1H.

[lociOHuK mpoHIIOB ampobaiiio 3 ypaxyBaHHSIM T0OakaHb 1 3ayBa)KEHb
TOJOBHMX YyYaCHHUKIB HAaBYaJbHOTO TIPOIECY: CTYJACHTIB, BHKJIAJA4iB BHUIIUX
HaBYAJIBHUX 3aKJajiB. EKCnepuMeHTallbHa TepeBipKa JIaHOrO TMOCIOHWKA, IO
BinmOyBanacs y 2013-2017 pokax Ha ekoHOMIYHOMY (hakyibTeTi Ta hakynpTeTi MEO
1 Th XapkiBcekoro HarioHanpHOTO yHiBepcutery imeHi B. H. Kapasina, mokasana,
o Horo marepiaj J03BoJisiE chOpMYBAaTH CTiMKiI 0a30B1 MOBHI 3HAaHHS W BMIHHS
BUKOPHUCTAHHS aHTJIIHCHKOT MOBHU B IIPOQeCIHHOMY CepeIOBHINI (YUTaHHS, IEPEKIa,
aHOTyBaHHsA, pedepyBaHHS ayTEHTUYHHUX TEKCTIB aKaJeMIYHOTO EKOHOMIYHOTO
TUCKYPCY).

[Tocionuk mae 8 pozmimiB (UNitS), KOXEH 3 SKUX CKJIAJAETHCA 3 OCHOBHOTO
TEKCTY, JICKCHYHUX BIPAB, JOJATKOBOTO TEKCTYy IJsi pedepyBaHHS 1 3aKIHIYETHCS
MOYPOUYHUM CIIOBHUKOM. HaBuanpHuii mOCIOHWMK po3paxoBaHo Ha 120 romun
aynutopHoi Ta 120 roauH caMOCTIHHOT pOOOTH CTYACHTIB.

CtpykTypa moOCiOHHMKAa Ja€ MOXJIHMBICTh BUKIAJa4eBl BUOpATH ONTHUMAJIbHI
NUISXA OpraHizamii SK ayJuTOpHOI, TaK 1 CaMOCTIHHOI pOOOTH CTYACHTIB 3
ypaxyBaHHSM PIiBHS iX 3HaHb Ta CKIJIAJAEThCS 3 JBOX B3a€EMOIOB’S3aHUX YACTHH.
[lepmia yacTrHA MICTUTh OCHOBHHUH JIGKCHKO-TPaMaTHYHHUNA MaTepian 3 TeM «Science
of Economics», «Types of Economic Systems», «Mixed Economy», «Utility»,

«Economic Resources», «Supply and Demand», «Market Studies», «Market



Structures». [Ipyra yactuHa — [NOAATOK, SIKMA MICTUTh Marepiayl JJisi PO3BUTKY
npodecifHOro CMUIKYBAHHS ~aHTJIMCHKOIO MOBOIO Y BHUIJISAI TEKCTIB A
J0JIaTKOBOI'O YUTAHHS, TAOJIMLIO Ha3B KpaiH CBITY AHIJIIHMCBKOIO MOBOIO, Ijocapii
BUKOPHUCTaHUX a0peBlaTyp Ta CKOPOUEHb, MOUTUPEHUX B EKOHOMIYHOMY CEpPEAOBHILL,
a TakoX  JIOJATKOBI BOpPaBU Uil BIANPAIlbOBYBAHHS JIEKCUKO-TPaMaTHYHOIO
Marepianty, HaaHOTO B OCHOBHIN YacCTHHI.

ABTOpH TMOCIOHMKA TJIMOOKO BJSYHI pELIEH3eHTaM — JOLEHTOBI Kadenpu
NeAaroriku Ta 1Ho3eMHOI (urosiorii XapKiBChKOIO HAI[IOHATIBHOTO E€KOHOMIYHOT'O
yuiBepcutety iMeHi C. Ky3neus, kanaunaty ¢itonoriuanx Hayk Kosanenko O. 1O.,
noueHtoBl kadeapu ¢inanciB ta kpeaury XHY imeni B. H. Kapasina, kangunaty
exoHoMiuHMX Hayk ['nmymenko O. B., a Takox kosneram kadeapu IUI0BOI 1HO3EMHOT
moBH Ta nepeksany XHY imeni B. H. Kapasina, siky o4omtoe qokTop (Gi10J0T19HAX
Hayk, npodecop [lleBuenko I. C., 3a yBakHe 03HAOMIICHHS 3 PYKOITMCOM TTOCIOHMKA
Ta IiHHI KpUTWYHI 3ayBakeHHs. Ili 3ayBakeHHs W BIATYKH CTYACHTIB 3HAYHO
CHPUSIN YAOCKOHAJIECHHIO 3MICTY Ta CTPYKTYPH ITOCIOHHKA.

JlyMKH Ta 3ayBa)K€HHs WIOJ0 IOCIOHMKAa MOXXHa HaJCWIAaTH aBTOpaM Ha

enexkTpoHHy aapecy: dilovamova@karazin.ua.



— “Why should I major in economics?”

— People study economics for lots of different reasons.
Majoring in economics can open you up to a whole world of
opportunity. Perhaps without realising it, you encounter
economics everyday — deciding between a cup of tea or a
deluxe caramel infused creamy latte. All of these can be
explained using economics, of course, it also embraces
bigger issues such as the current financial crisis, poverty reduction, the environment
— the list is seemingly endless.

So economics is all around you, you can almost guarantee you will find an area
that interests you. Besides it will give you a stack of skills that are applicable to many
work places: quantitative skills, the ability to analyse, to explain complex economic
issues in simple, digestible forms and to understand the implications of economics.
All of these skills are transferable allowing you to do all manner of things:
development, teaching, finance, the government economic service — the list can go
on.Economics is a fantastically diverse and interesting science that can open you up
to many different opportunities, | would say, definitely major in economics
[http://whystudyeconomics.ac.uk].




Unitl SCIENCE OF ECONOMICS
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1. Working in pairs discuss the following questions: et AL 2
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a) Why do people work? Provide as many reasons as ?« A i) ,-:;30,:_
. o Y S ‘»?\" »
possible. '-"-‘-‘:f.~ PR A
b) Which jobs are considered to be the most L

popular/unpopular nowadays? Make up a list of possible reasons.
¢) What was your choice based on when deciding on your future profession?

READING

2. Read the following text:

Economics relates to every aspect of our lives, from the decisions we make as
individuals or families to the structures created by governments and firms. But what
Is economics really like?

People have a wide range of wants and they are constantly growing. Economics is
the science that studies how to satisfy all human needs and wants and advise people
and societies what decisions to make in order to get the most out of their limited
resources.

People work to earn their living and take part in economic activities to provide
their families with everything they need: essential and non-essential commodities.
Essential commodities are such vitally important goods as food, clothes and shelter
while non-essentials are of secondary importance (e.g. books, theater, travelling
and other luxuries). The work that people do is their economic activity which makes
up the economic system of a town, a city, a country or the entire world. Such an
economic system is the sum-total of what people do and what they want.

Economists study the general life of the community in order to understand how it
all works. Using objective and scientific methods they describe the facts of the
economy in which we live and try to solve the basic problem of economics: how to
convert limited resources into the goods and services that best satisfy their needs.
They also explain how to maximize productivity, create wealth and maintain
financial stability.

There are two main branches of economics: macroeconomics and
microeconomics. Microeconomics focuses on individual people and individual
businesses to explain how individuals make decisions about where to spend their
money or how to invest their savings.

Macroeconomics, on the other hand, takes a much broader view by analyzing the
economic activity of the country or the international market and concentrating on
economy-wide factors such as interest rates, inflation and unemployment.



To sum up, economics is all about scarcity and choice. There is too little time and
resources to satisfy all our desires, so people have to make hard choices about what
to produce and consume. Economists analyse the decisions that people make on

maximising their happiness in a world of scarcity [Tom McArthur. A Rapid Course in
English for Students of Economics / Tom McArthur. — Oxford University Press, USA, 1997. — 138
p.; Peter Antonioni. Economics For Dummies / Peter Antonioni, Sean Masaki Flynn. ; [2nd
Edition]. — Chichester : John Wiley & Sons, 2011. — 420 p.].

%

% Consider just how nasty, irrational and short life used to be:
standards of living were quite low, and people lived poor, short
and painful lives until just a few centuries ago:
 Life expectancy was about 25 years.
» More than 30 per cent of newborns never reached their fifth birthdays.
« Women had a 10 per cent chance of dying during childbirth.
« Most people had personal experience of horrible diseases and/or starvation.
» The standard of living for one generation was no higher than that of previous
generations. Except for the nobility, everybody lived at or near subsistence level,
century after century.

Find some current data on the issues given above and report on how life has
changed.
PRACTICE

Ex. 1. Find the words or word combinations in the text to substitute the
following:

1. any particular branch 8. to keep in proper or good
of knowledge condition

2. to get money by working 9. turninto

3. continiously 10. absolutely necessary

4. athing sold 11. interms of the country

5. housing 12. shortage

6. use (v.) 13. society

7. variety 14. total of numbers added

together



Ex. 2. Using the information in the text say whether the following statements are
true or false:

1.
2.

3.
4.

o

Ex.

Most people work in order to get satisfaction and enjoy themselves.

People are more interested in non-essential commodities because
they provide them with particular personal satisfaction.

Economists can use any methods to solve economic problems.

Economic science deals with people’s desires and needs to make
their lives better and more comfortable.

Microeconomics studies the general issues of the economy in terms
of the country while macroeconomics analyses economic activities of a
particular individual or a company.

Economics is all about scarcity and satisfying needs of the society.

The economists’ concerns range from people’s wages to the
company’s productivity and inflation in terms of the country.

Standards of living have not changed a lot since the last century and
people can hardly provide themselves with essential commodities.

3. Look through the text again and give Ukrainian equivalents to the

following English words and word combinations:

NGl WNE

economy 9. shelter

satisfy human wants and needs ~ 10. on the other hand

to earn one’s living 11. luxuries

to convert smth into smth 12. economy-wide factors
non-essential commaodities 13. to solve the problem
to maintain financial stability 14. tosum up

vitally important 15. to relate to

a wide range of wants 16. unemployment

Ex. 4. Look through the text again and give English equivalents to the following
words and word combinations:

NG~ WDNE

Ex.

HayKa eKOHOMIKa 9. exoHOMiYHa AISUTHHICTH
MPOTYKTUBHICTh 10. BimCOTKOBA CTaBKa
CyCHUTBCTBO 11. nHaykoBi MeTOIU
CTBOPIOBATH MaTepiayibHi MiHHOCTI 12. HecTaya 4-H.

TOBapH NEPIIOi HEOOXITHOCTI 13. mpwuitmaTu pimeHHs
BKJIQJIaTH 3401 >KEHHS 14. cnoxuBatn
MOBCSAKIEHHE JKUTTSI 15. piBeHB KUTTS
KOHKYpPYBAaTH 3 K-H. 16. pazom, y CyKymHOCTI

5. Complete the following sentences with the words/word combinations

from the text:

1.
2.

Schools, hospitals and banks provide people with important
The money he earns is enough only for
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Ex.

=

8.

EXx.

Such goods like newspapers, toys for children are
Economic is the work that people do.
Economists’ methods should be and :
The science of Is concerned with and choice.
Microeconomics studies behaviour of a person or a company in the
markets.

Macroeconomics deals with the economic activity of an country.

6. Complete the following sentences with prepositions where necessary:

People work in order to provide their families everything they need.
You should work hard to get the most your studies then
in the future.
We take part everyday life of our community to satisfy
our wants and needs.
The problem of the scarcity of natural resources is the greatest
importance economists.
First we will focus the issues of microeconomics and then you may
concentrate the studies macroeconomics.
The professor made a pause to sum the lecture and convert the
theory practice.

the one hand our desires are unlimited and we have to learn how to
satisfy them but the other hand economic resources are limited and
we must consume them economically.
Companies compete each other to get maximum profit in the market.

7. Paraphrase the following sentences using the words from your active

vocabulary for the underlined words:

1.
2.

3.

Bankers and lawyers give services. Farmers and coal-miners make goods.

People work to earn money and buy those things that bring them some special
pleasure with the money they earn.

In the same garage you may not only buy a car but you can also buy a service
which helps to keep that car working.

You can’t live without food, clothes and shelter so economists consider them to
be vitally important goods.

This science explains how to use economic resources and where to keep money
you saved.

This science can give reasons for the unstable economic situation in the country
and the situation when there are not enough working places.

The work that people do makes up the economic system of a town,
a city or a country.

Scientists work out the answers to the problems that people face in their
everyday lives and make the structure of the economic life in the country more
efficient.




Ex. 8.a. Make up the words which relate to the word “economy” and put them
down into the last column:

Y economy

ICS

IST

UN ECONOM IC |AL | LY

IZE | ER

Ex. 8.b. Complete the following sentences with the words from the table:

1
2.
3.
4

o O

o N

10.
11.

12.

13.

14.

Marx and Keynes are two famous who lived in the 19th century.

We must be very with the money we earn.

Inflation may cause a country to be in a bad state.

The students of the School of are working at a new project on
development of their region.

The system of a country is usually called the national

It is possible to if one compares the prices of items before buymg

them.

It is usually more to buy large amounts of a product than small ones.

The people in this town live very due to their low income.

The national is the system of the management and use of

resources of the country.

Politically and , the country is going through enormous changes.

A person is free, if he can do what he wishes with his own money,

time and property.

The principles of production and distribution of goods and services and the

development of wealth are called

If you want to go to the seaside in summer you should start to right
now.
A new president is rebuilding a solid base for the future of the

country.



Ex. 9. Match the beginning of the sentence in column A with its ending in

column B:

A
1. Most people work in order to ...

2. Economists try

3. Our range of wants

4. Economics is the science
that studies how

5. The economic activity is ...

6. The sum-total of all economic
activities and people’s wants is ...
7. The work which people do
provides them ...
8. People need both ...
commodities.
9.Food, clothes and shelter are ...
10. Macroeconomics focuses on ...
11. Economic science is all about ...
12. Microeconomics studies ...

a)
b)
c)
d)
e)

f)

B
to satisfy all human needs
and wants.
the work which people do.
essential and non-essential
with everything they need
to live happily.
individual economic activities
of a person or a company.
using scarce resources.

to solve the basic problem of
scarce resources.

the national and international
economic activity of the country.
Is constantly growing.

an economic system.

essential commodities.

earn their living.

Ex. 10. Give a small talk on the basic problem of economics using your active

vocabulary and the diagram below.

Unlimited
wants

Limited
resources

Ex. 11.Translate the following into English:

1. — Jle Bu HaBuaerech? — Y XapKiBCHKOMY HaIllOHAJIBHOMY YHIBEPCHUTETI iMEHI
B. H. Kapaszina na exonHomiunoMy (axkynpreri. — A BH? — S mepmoKkypcHHUK
dakynprery MEO Ta Tb/ekoHomiuHoro GakynsTeTy (noswicmio). 51 Oyny
€KOHOMICTOM, 11100 BUBYATH MOBCIKICHHE KUTTS JIFOJCH 1 pO3YMITH, K MPAITIOE

€KOHOMIYHA CHUCTEMA.



Bu 3Haete, B yomy 3arasibHa mpoOieMa Hayku ekoHOMiku? — Tak. ExoHomicTu
BHUBYAIOTh, SIK 33JJ0BOJIbHUTU HEOOMEKEH1 MOTpeOur 3a JOMOMOT0I0 OOMEKEHHUX
pecypciB. [ToTpeOu 3aBxau 3pOCTalOTh MIBUALIE BT BUPOOHUYUX MOKIUBOCTEM.
— A YoMy BOHM TaK IIBHJKO 3pOoCcTaloTh? — Piu y TOMy, 1IO JIIOAM MarOTh
pI3HOMaHITHE KOJIO OakaHb; 1X Oa)KaHHSI MOCTIMHO 3MIHIOIOTECA. BUPOOHUIITBO
HE MOY€ 3a/I0BOJIbHUTH YC1 HEOOMEXKEH1 OTpeOU HACEJICHHS.

S Gararo mparoro, 100 3apoOJATH JOCTATHHO Tpolied 1 3a0€3MeUYUTH CBOIO
pPOJIMHY yCIM HEOOXiIHMM. 3 OJHOro OOKYy, BOHM MalOTh YCi TOBapH MEpIIOi
HEOOXITHOCTI: 1KY, >KUTIO Ta OAr, 3 JAPYroro X OOKYy, BOHHM IOCTIHHO
noTpeOyloTh NPEIMETIB PO3KOII, TaKUX SK JOPOri EJNEeKTPOHHI MNpUIaiH,
TYPUCTUYHI TIOJIOPOXK1, PO3Baru Ta 1HIIL.

Jist Toro mo0 KymyBaTH HE TUIBKM TOBapH MEpHIOi HEOOXITHOCTI, a TaKOX
TOBapH, K1 HAJAIOTh NIEBHE 33/I0BOJICHHS, Tpeba OyTH JyXe OLaTUBUMHU.
Bueni 3acTOCOBYIOTh 00’€KTHBHI Ta HAYKOBI METOAM, 100 BUPIIIUTH MUTAHHS
HecTaui MPUPOJHUX Ta EKOHOMIYHUX PECYPCIB Ta HABUMTH JIFOJECH €KOHOMHO iX
BUKOPHCTOBYBATH.

Pobora, Ky BUKOHYIOTH JItOJIM, 3a0e3Meuye iX rpounMa. EKOHOMICTH KaXyTb,
0 EKOHOMIYHA MISUTbHICTh, $KY BHUKOHYIOTH JIIOJIM, CKJIaJla€ EKOHOMIYHY
CUCTEMY KpaiHH, TOOTO €KOHOMIYHA CHCTeMa — 1€ CYKYIHICTb €KOHOMIYHOI
JISUTBHOCTI JTIOIEH.

JIromuHa abo0 KoMmaHiss MOXe BUPOOJATH TOBapH (CUIHLCHKO-TOCIIONAPCHKI YU
BUpOOHMY1) Ta HagaBaTu nocayru. Hanpuknan, kommnanis «CaMCyHr» BUPOOIIsiE
TOBApH Ta HAJA€ MOCIYTH 3 X 0OCIYrOBYBaHHS.

WRITING

Ex. 12. a. Write a magazine article under the headline: “Is any job better than no
jobatall?”

Ex. 12. b. Write a letter to your pen-friend in England and give reasons of your
entering the School of Economics.

Ex. 13. Do the crossword:

1 10
2.
AcCross: 3.
1. things 4. which people
wear (pl); 5.
2. 10 manage 6.
7.
8.
Q.




economically;

based on facts;

pleasant;

as much as necessary;

society;

a branch of knowledge or study systematically arranged and showing the operation
of general laws;

The scientist who studies our everyday lives.

9. Important

No bk ow

©

Down:
10. The study of how society uses its scarce resources.

QUESTIONS FOR DISCUSSION

1. Work in pairs. Ask each other the question ‘Why do people study economics?’

Give as many reasons as possible. Then compare your lists with the rest of the

group.

2. Choose the statement you agree with and state your choice:

a) ‘The purpose of studying economics is to acquire a set of answers to economic
questions.’

b) ‘The purpose of studying economics is to learn how not to be deceived by
economists.’

VOCABULARY

English Ukrainian

be of secondary He  MaTH  BaKJIMBOI'O

importance 3HAYCHHS

community CYCIIUTBCTBO

concentrate on KOHLICHTPYBaTHUCS
30CepeKyBaTUCS

create wealth HAKOMUYYBaTH,
CTBOPIOBAaTH MaTtepiajbHi
[IIHHOCT1/0araTcTBo

earn a living 3apo0IATH HA KUTTS

economic (adj.) €KOHOMIYHHHA

economic activities €KOHOMIYHA JiSIIbHICTh

economic system €KOHOMIYHA CHCTEMa

economical (adj.) 32011 1JTUBHIA,
€KOHOMHUM

economics eKOHOMiKa (HaBYaJbHA Ta

HayKOBa JUCIUILIIHA)



economist (n.)
economize (v.)

economy (n.)

economy-wide
essential  commodity

everyday life
focus on sth.

generation
get the most out of sth.

humanity
invest

life expectancy

limited resources
luxuries/luxurious
goods
macroeconomics
maintain

make up
market
maximize

microeconomics
newborn
nobility
non-essential
commodities
produce
productivity

provide smb with sth
range of wants

relate to

satisfy

savings

scarcity

€KOHOMICT
3a0111a][’KyBaTH,
€KOHOMUTH

€KOHOMIKa (kpainn),
HapoJIHE  TOCIOJapCTRO;
€KOHOMIs

y  MeXaX  EKOHOMIKH
KpaiHu

TOBap nepuoi
HEOOX1JHOCTI
MOBCSAKICHHE KUTTS
30CepeIKyBaATUCS,
30CEepeIUTUCS HA Y-H.
MOKOJIIHHS, TeHepallis
OTPUMYBATH, OJIEPKYBaTH
MaKCUMyM

JIOACTBO

1HBECTYBAaTH TpOIlIi

cepenHs TPUBAJICTh
KUTTS

oOMexeH1 pecypcu
peIMETH PO3KOIIT

MaKpOEKOHOMIKa
iATPUMYBaTH y
pobouomy cTaHi
CTBOPIOBATH, CKJIaIaTH
PUHOK

30UTBIIYBATH JI0 MEXI;
MaTH KOPHUCTh
MIKpPOEKOHOMIKa
HOBOHAPOJKCHUH
JIBOPSTHCTBO

TOBap HE Iepuoi
HEOOX1THOCTI

BUPOOJISATH
IPOYKTHUBHICTh

3a0€3IeUnTH K-H., Y-H.
K010 OakaHb

MAaTH BiJHOIIEHHS 10 4Y-H.
3a10BOJIBHUTH
3a011aPKEHHS

HelxocTayva, HecTaya,



science

scientific

shelter

society

solve the problem
standard of living
starvation
subsistence level
sum up

sum-total

take a broad view of
sth.

take part in sth

used to be

vitally important

nediaut

HayKa

HayKOBUMU

KUTIIO

CyCHUIBCTBO
BUPIILYBAaTH POOTIEMY
PIBEHb KUTTS

roJI0JT; TOJIOAYBAHHS
POXUTKOBUI PIBEHb
IiJICYMOBYBAaTH,
niA0MBaTH MJICYMKU

y CYKyITHOCTI, pa3om
IIMPOKO JTUBUTHCS HA pedi

Opatu y4acTh B 4-H.
MaTH 3BHUKY; paHiIle

JKUTTEBO BaXKJIMBUMN



Unit 2 TYPES OF ECONOMC SYSTEMS
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a) What economic systems do you know? Ity A "?"-J;Q.-‘;«
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b) What economic systems are prevailing in the
developed countries?

c) What do governments control in countries? Does it depend on the economic
system of a country?

d) What are the rights and duties of citizens? Do they vary from country to
country?

READING

2. Read the following text and check your answers:

All communities have to deal with the same basic economic problem — how to
satisfy people’s unlimited wants with limited economic resources (land, labour,
capital). Different countries use different methods to deal with the problem.
Depending on the approaches they use, economists distinguish several types of
economic systems: market, command, traditional and mixed. In their purest forms,
the three types of economy can be defined as follows:

O A market economy is one in which almost all economic activity happens in
markets with little or no interference by the government. Because of the lack of
government control, this system is also often referred to as laissez-faire, economy
which is French for ‘let well alone’. It is based on private enterprise with private
ownership of the means of production and private supplies of capital (a surplus
income available for investment in new business activities). In market economy
countries individual citizens can own private property and can exercise
considerable freedom of choice, they have right to dispose of property and other
natural or manufactured factors of production, set up new businesses, firms are
free to decide what to produce and consumers are free to spend their income as they
wish.

0 A command economy is one in which all economic activity is directed by the
government. Its main feature is central planning. The central authority has
complete power to organise the whole economic effort of the nation. It decides what
goods and services to produce, how to distribute them and what prices to charge for
these goods. The government controls economic resources, and it is concerned with
both quality and quantity. Another feature of the command economy is public
ownership of the means of production. Private property is usually limited to private
things such as houses, cars, etc.



O A traditional economy is one in which production and distribution are
organised according to long-standing cultural traditions. They are based on custom
and tradition or command of community, family, or religion.

In the today’s real world the result is that most societies opt for a mixture of two
pure types: the command economy and the market economy, which is called mixed

economy [Tom McArthur. A Rapid Course in English for Students of Economics / Tom
McArthur. — Oxford University Press, USA, 1997. — 138 p.; Peter Antonioni. Economics For
Dummies / Peter Antonioni, Sean Masaki Flynn. ; [2nd Edition]. — Chichester : John Wiley & Sons,
2011. — 420 p.].

PRACTICE

Ex. 1. Find the words or word combinations in the text to substitute the
following:

1. stock 7. extra

2. earnings 8. set a price

3. use (v.) Q. intervention

4. method 10.  deliver

5. personal 11. right to possess
6. choose 12. amount

Ex. 2. Using the information in the text say whether the following statements are
true or false:

1. The economists define economic systems by the economic resources
used.

2. There are limits on land, labour and capital in the world.

3. Market economy is based on public ownership of the means of
production.

4, Government controls an essential part of the command economy.

5. The central authority decides on the quantity, quality, price and place
of sale of a commodity.

6. Individuals are free to use their property, income and time as they
wish in any economic system.

7. Traditional economy is determined by historical background of the
community.

8. Collective needs are more important in a state with command

economy than an individual’s wants.



Ex. 3. Answer the questions:

ok wdE

What types of economic systems do economists classify?

Why is market economy referred to as a laisser-fair?

What are the main features of market economy?

What are the citizens free to do in a market economy country?

What do the governments control in the command economy countries?

What distinctive feature helps economists to differ market system from the
command one?

Ex. 4. Look through the text again and give Ukrainian equivalents to the
following English words and word combinations:

NGk~ WDNE

as follows 9. long-standing

opt for 10. private ownership

be concerned with 11. central authority
feature 12. laissez-faire economy
means of production 13. lack of

exercise freedom 14. complete power
dispose of 15. manufactured
consumer 16. the purest form

Ex. 5. Look through the text again and give English equivalents to the following
Ukrainian words and word combinations:

1.

O N LA WN

npauyA 9. 3anac Kanitany
NiANPUEMCTBO 10.8onoaiti

MaTK cnpasy 3 11.nigxig,

byTn cnpamoBaHUm 12.nocmnatucs
NPU3HaYaTH LiHY 13.manHo

PO3PI3HATK 14.cycninbHa BNACHICTb
YyNpaBaATH

15.KomaHaHa eKOHOMIKa

NoTpanaATb B KaTeropito .
P P 16.npomucnoBsi ¢pakTopu

BUPOOHMLTBA

Ex. 6. Complete the following sentences with the words/word combinations from
the text:

1.

agbswn

o

In command economy states citizens can’t private property. All the
property is in these countries.

All have to solve the same economic problems.

In market economy countries people are free to their business.

Countries have limited amounts of land, and :

Private of the means of production is the main feature of the market
economy.

Citizens have freedom to spend their as they wish on goods and services.




7. In the command economy the government decides how to the whole
economic effort of the state.
8. Traditional economy is based on and

Ex. 7. Complete the following sentences with prepositions where necessary:

1. An important form capital is surplus income available investment
new business companies.

. Public ownership the means of production is concerned
command economic system.

3. They charge quite a lot of money the commaodity.

4. The government dispose economic resources in the command economy.

5. The economists referred this method as uneconomic.

6

7

8

N

. People usually spend money according their income.
. Management opted setting a new subsidiary.
. Public property is limited a minimum in the command economy countries.

Ex. 8.a. Change the listed adjectives into adverbs (ly or -ally as necessary)

a) usual e) clear h) systematic
b) regular f)  scientific i) careful

c) considerable g) complete j) rapid

d) probable

Ex. 8.b. Complete the following sentences with these adverbs:

1. The new government worked to change the laws.

2. The central authority controls the quality of goods.

3. The State plans the economic effort of its citizens.

4. The economic system changed over the thirty year period.
5. Work in economics always should be done

6. Their economic system is capitalistic.

7. The employers will discuss the use of new machines in the factory.
8. The city has changed in the last few years.

9. These men work from nine o’clock till five every day.

Ex. 9. Certain nouns can be formed from certain adjectives. Make a list of the
nouns and put each word in its place. NOTE the loss of the letter e in active,
secure, mobile and productive.

EXAMPLE: active [I[Jactivity

1. The system was complex. Its surprised him.

2. The movement of the products in the factory was rapid. The of the
work contributed to their success.

3. People who have cars are very mobile. This Is a useful thing.



©

10.

11.

The National Bank has a solid reputation. Its In money is similar to
the of its buildings.

The national economy, like a man, should be active. Its
Is a sign of its health.

Your money is secure in the National Bank. Its Is important both to
you and to the bankers.

The workers in those factories are very productive. Their IS very
useful to the national economy.

Those men arrive regularly at nine o’clock. Their is well-known.

The American and British economic systems are very similar. This IS
not surprising.

Those two men earn equal sums of money they have in wages
because they produce the same quantity of the goods.

The exchange of money should be as liquid as possible. The of

money helps economy to grow.

Ex. 10. The table shows how words are formed around the verb produce. List all
the words you can make from the table and use them in the suitable blanks in
the sentences.

okowndE

7.
8.

R produce

—|m

PRODUC IV(E) | ITY

ION

The company a new commodity every year.

The company’s newest is special blue soap powder.

The of soap powders met last year to discuss prices.

That factory is not as now as it was five years ago.

The of that factory goes down.

The manager of the factory decided that they must increase their of
packets of soap powder.

The cars made in Germany roll down a line.

They sell most of their farm to the larger supermarket chains.

Ex. 11. In geography and economics we often refer to the parts of the world
rather than list countries by name, e.g. The Middle East. Below there are 24
countries. List them under these five headings:

Latin-American

North African




South-East Asian

Balkan

North-East Asian

Libya
Japan
Thailand
Bulgaria
China
Romania

Venezuela
Argentina
Philippines
Mexico
Korea
Ecuador

Brazil
Serbia
Macedonia
Algeria
Indonesia
Vietnam

Albania
Morocco
Bosnia
Egypt
Croatia
Colombia

Ex. 12. Work in pairs. Ask and answer the questions to find out the information
on the following countries and complete the table:

Country

Capital

Language

Nationality Currency

Austria

Belgium

Canada

China

Denmark

Finland

France

Germany

Greece

Hungary

the Netherlands

Italy

Japan

Norway

Poland

Spain

Sweden

Switzerland




Turkey

Ukraine

Ex. 13. Translate the following into English:

1. B exoHOMIYHIH HayIll ICHYIOTh PI3HI MIAXOIU 100 Kiacu(ikaiii eKOHOMIYHUX
cucteM. HaiiGuibin nommpeHa kiacudikaiis 0a3yeTbCsi Ha JABOX O3HaKax: 3a
dbopmor0 BIIACHOCTI Ha 3aco0M BHUPOOHUIITBA Ta 3a CIIOCOOOM YIPABIIHHS
rOCTOJIapChKOI0  JISIBHICTIO. BigmoBimHO 10 muX Kiacu(iKalliiHUX O3HAK
HAyKOBIII BHOKPEMIIIOIOTH TPATUIliIHHY, aaMIiHICTpAaTHBHO-KOMAaHIHY, PUHKOBY
Ta 3MIIIAHY €KOHOMIYHI CUCTEMH.

2. B xpaiHax 3 KOMaHJHOK €KOHOMIYHOIO CHCTEMOIO JiepKaBa MOBUHHA BOJIOITH
3acobaMu BUpPOOHMIITBA Ta BCIEIO BJIACHICTIO, @ TAKOX IUJIAHYBAaTH HApPOJHE
rocroaapcTBo. JlepkaBHe IUIaHYBaHHS JOMOMAara€ oOpraHi3yBaTH 3yCHIUIA
3aBO/I1B, BU3HAYATH I[IHY 3a TOBAp, HOTO SIKICTh Ta KUIbKICTb.

4. KomaHgHa €KOHOMIKa € CUCTEMOIO 3 CYCIUIBHOK (JIEp>KaBHOKO) BJIACHICTIO Ha
3acO0M BHUPOOHUIITBA Ta JICP)KABHUM IUIAHYBaHHSAM. LleHTpanbHMIA ypsn
3 HEoOMEXEHOI0 BIAJO0 HaJa€ TpoMaJsHAM BCl TMOCIYTH, $KI BOHHU
OTpeOYIOTh.

5. PunkoBa cuctemMa 6a3yeThCcs Ha MPUBATHIN BJIACHOCTI Ha 3acOO0W BUPOOHHUIITBA
Ta HAa MPUBATHOMY MIANPUEMHUNTBL. [IpuBaTHE NIANPUEMCTBO HAJIEKUTD
TPOMAJITHUHY 1 JO3BOJIIE IOMY OOMpaTH TOBap, METOAM HOro BUPOOHUIITBA Ta
HOro KUTBKICTD.

6. B TpaamimiiiHiii eKOHOMIII METOIU Ta 3acOOM BHPOOHHUIITBA, PO3IOALUT JOXOMIIB
0a3yloThCs Ha 3BUYASAX 1 TPAAMINIAX, SKI BIKaMU BH3HA4YaJId BUPOOHUYY Ta 1HIII
BUJM JISUIBHOCTI Jrofel. HaciimkomM Takoro cTaHy OCHOBHHMX CKJIAJOBHX
TPaAUIIIHHOT EKOHOMIYHOI CUCTEMH € COIlIaJIbHO-CKOHOMIYHUHN 3aCTii, O1HICTS 1
HU3BKUW PIBEHb KUTTS OCHOBHOI YaCTWHU HaceneHHsA. CTiiike 3pocTaHHs HOro
YHUCEIIbHOCTI TOPIBHSHO 3 HU3BKUMH TEMIIAMH EKOHOMIYHOTO PO3BUTKY
CYNPOBOIKYETHCS BHUCOKHM PIBHEM 0€3pOO0ITTS Ta HU3BKOKO IMPOJTYKTHBHICTIO

mpari.

Ex. 14. Using the diagram given below explain the differences between these two
economic systems. Provide examples where possible:

~

Determined by Determined by
consumer’s government
preferences preferences

/
Determined by Determined by
producers government and
seeking profits their employees
~

Determined by Determined by
purchasing govermnment

power preferences




QUESTIONS FOR DISCUSSION

1. Which countries mentioned in the unit have the highest standard of living?
2. What countries provide the most favourable conditions to private enterpreneurs?
3. What country would you prefer to do business in? Explain why.

VOCABULARY

English

approach

as follows

be based on

be concerned with
define

be directed by

refer to

central planning
charge price for
command economy
complete power
consumer

deal with

dispose of

distinguish
distribute

economic resources
effort

exercise freedom
factors of production
fall into the category
feature

individual citizens
interference

lack of

laissez-faire
long-standing
manufactured
market economy

Ukrainian
X1
HACTYITHE
OazyBatucs
MaTH CIIPaBy 3

JaBaTH TOYHC
BU3HA4YCHHA
6YTI/I CIIPsAMOBAHHUM

TIOCHJIATUCS
IICHTPAJIbHE TJIaHyBaHHS
NpU3HAYATH IIHY TS
KOMaHJIHa EKOHOMIKa
MOBHA BJIaJ1a

CIIO’KMBaY

MaTH CIIPaBy 3
PO3MOPAIKATUCS
MalHOM

PO3PI3HATH

PO3IOLIATH
€KOHOMIYHI pecypcH
3YCHILIIS

BUKOPUCTaHHS CBOOO U
dakTopu BUpOOHUIITBA
MOTPAIUTSITH B KaTETOPII0
0COOJIMBICTH

OKpeMi rpoMasiHu
BTpYYaHHS

BIJICYTHICTh

MOJIITUKA HEBTPYYaHHS
JOBFOTPUBAINI
MIPOMUCIIOBUH

PUHKOBA €KOHOMIKa



means of production
opt for

own (V)

ownership
possessions

private enterprise
private ownership

private property
public ownership
the purest form
refer to

restrictions on

set up

supplies of capital
surplus income
traditional economy
venture

3aco0u BUPOOHULITBA
BUOpaTU

BOJIOJIITH

paBo BJIACHOCTI

ManHO

npUBaTHE MIANPUEMCTBO
IIpaBO IPUBATHOL
BJIACHOCTI

IpUBaTHA BIACHICTh
CycCHuTbHA BJIACHICTh

y 4YUCTIH popmi
MOCHJIATUCS Ha; MaTH
BiJTHOIIICHHSI JIO Y-H.
oOMeXeHHs Ha
3aCHOBYBATH
HAKOITMYCHHS KaITiTay
Ha/JTUITKOBHUH MPUOYTOK
TpaauIliiHa eKOHOMIKa
HiAITPUEMCTBO
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1. Match these definitions with the words they 37O g
refer to:
1. mixed economy a) economic system in which anyone can

attempt to raise capital, form business,
and offer goods or services

2. free enterprise b) economy with both private and public
sectors
3. long-term planning c) industry owned by the government, for

economic, social or strategic reasons
4. nationalized industry d) planning which extends beyond five years

READING

2. Read the following text and check your answers:

A mixed economy is an economy with both private and government control and
reflects characteristics of both capitalism and socialism. No state today is completely
socialist, and relies on command economy, or completely capitalist, and adopts
market economy. Various national economic systems tend generally towards one
type or the other. It is rather difficult to classify many of them exactly.

The government regulation is concerned with the fact that the private sector cannot
be well equipped to address such issue as environmental protection, maintenance
of employment standards and maintenance of competition. In some mixed
economies, it even includes various degrees of centralized economic planning, i.e.,
state ownership of some of the means of production for national or social objectives.

The precise nature of the mixture depends on the country, with the United
Kingdom and the United States featuring more emphasis on markets, whereas
France and Germany, for example, feature more emphasis on government
intervention. On the other hand, a few totalitarian states, like North Korea, still
continue running pure command economies as part of their authoritarian regimes.

Under-developed countries of the globe are usually interested in control and long-
term planning, e.g. in Cuba a command economy exists alongside a small business
economy, and other states such as China or Vietnam tend to free the business sector
of their economies. India also makes a clear distinction between the public sector of
its economy on the one hand and the private sector on the other hand.

In a typical mixed economy, the government may run such things as the postal
service, rail lines, libraries, and in some cases, the health care service. Even in



industries which are not owned or run by the government, its influence is very
noticeable in the form of taxes and regulations like wage controls.

Britain, for example, has a mixed economy. There are the nationalized industries
like coal and steel, Directly Operated Railways and Eurostar International Limited,
Lloyds Banking Group in the public sector of British economic life. The majority of
large and small nation’s industries are in the private sector. The private sector
includes giant companies like Serco Group plc* and BP plc* as well as a great
number of small family businesses.

Although the government plans national production and sets up production
targets it is, however, a very difficult matter to plan ahead with any certainty not
only in a mixed economy but even in a rigidly controlled economy, because natural
disasters, political changes and other factors can affect the general plan in

unexpected ways[Tom McArthur. A Rapid Course in English for Students of Economics / Tom
McArthur. — Oxford University Press, USA, 1997. — 138 p.; Peter Antonioni. Economics For
Dummies / Peter Antonioni, Sean Masaki Flynn. ; [2nd Edition]. — Chichester : John Wiley & Sons,
2011. - 420 p.].

* Serco Group plc — Serco Group plc is a British government
services company based in Hook, North Hampshire in the United
Kingdom. It is listed on the London Stock Exchange and is a constituent of the FTSE
250 Index. Serco operates in six sectors of public service provision: Health,
Transport, Justice, Immigration, Defence, and Citizens Services. Among them are
public and private transport and traffic control, aviation, military and nuclear
weapons contracts, detention centres and prisons and schools.

*BP plc, sometimes referred to by its former name British Petroleum, is a British
multinational oil and gas company headquartered in London, England, United
Kingdom. It is the sixth-largest energy company by market capitalization, twelvth-
largest company in the world measured by 2012 revenues, and the sixth largest oil
and gas company measured by 2012 production. As of 31 December 2016, BP had
operations in 72 countries worldwide. It is one of the six oil and gas “supermajors”.

PRACTICE

Ex. 1. Find the words or word combinations in the text to substitute the
following:

1. armed 8. income

2. not frequently occuring Q. depend on

3. important 10.  third world countries

4. Dbe likely to do 11.  weekly payment

5. stress (v.) 12.  setup

6. duty, charge 13.  aim(n)

7. accurate 14.  relating to a dictorial one-party

state



Ex. 2. Using the information in the text say whether the following statements are
true or false:

1.

2.
3.

6.
7.
8.

Some countries are completely capitalist and some countries are
completely socialist.

Economic systems can be easily classified.

The UK finds it necessary to control national economic conditions to
a certain extent.

The interest of the under-developed countries in long-term planning
IS inevitable.

Under-developed countries make a clear distinction between the two
sectors of their economy.

The nationalized industries are in the private sector of the economy.

Giants like Serco plc and BP plc are not publicly owned.

Planning ahead in any type of economy is not particularly difficult.

Ex. 3. Look through the text again and give Ukrainian equivalents to the
following English words and word combinations:

NGO WDE

under-developed countries 9. public sector

run a country 10. reflect

feature emphasis on 11. long-term planning
tend towards 12. healthcare

globe 13. economic planning
set up a target 14. address (v)

exist alongside sth 15. tax

plan ahead 16. plc

Ex. 4. Look through the text again and give English equivalents to the following
Ukrainian words and word combinations:

1
2.
3.
4
5

o

aBTOPUTAPHUHN PEKUM 8. TpuBecCTH y BIINOBIIHICTH
o0JIagHAHUHA 9. craBHUTH L1

BILJINBaTH 10. cruxiiiHe IUXO

M TPUMaHHS 11. moBHICTIO

OXOPOHA HAaBKOJIUIITHHOTO 12. MOBrocTpoKoBe IJIaHyBaHHS
cepeaoBuIla 13. BipoTimHICTH

BiIPI3HATH 14. BupoOHMUI mimi
KOHKYPEHITis 15. KOpPCTKO KOHTPOJIBOBAHUM

Ex. 5. Complete the following sentences with the words/word combinations from
the text:

1.

It is difficult to most economic systems.



The under-developed countries are interested in and

The government may take different forms like nationalizing
strategically important industries.

The majority of British industries is in the sector.

The British government an official body to control allocation of
resources.

In socialist countries private and private are reduced to a
minimum.

Economic systems with public and private sectors are neither nor
Goods like coal and iron are among the most important industries in

any economy.

Ex. 6. Match an adjective from column A with a noun from column B:

A B

1. private a) economy
2. under-developed b) targets
3. mixed C) sector
4. nationalized d) countries
5. giant e) disaster
6. official f) industries
7. natural g) company
8. production h) body

Ex. 7. Work in pairs. Spot mistakes in the following sentences and correct them:

1.
2.

3.

o1

The nationalized industries are in the private sector of the British economic life.
Essential services like transport, education and medicine are in the private sector
of many socialist economies.

The coal and steel industries are among the activities controlled by small family
businesses.

The under-developed countries of the world are not interested in long-term
planning and government control.

Britain today is an entirely capitalist country with public sector of the economy.
The government can plan ahead and set up production targets in a mixed
economy.

Government regulation is justified by the fact that public sector can not deal
with such economic issues as maintenance of employment standards.

All countries feature more emphasis on markets and authoritarian regimes.



Ex.

1.

2.

EX.

W

i

8. Supply the missing articles where necessary:

food production and distribution are perhaps
most basic activities in any economy.
Some countries make distinction between public sector
and private sector of economy.
central authority with complete power decides what
goods and services to produce.
If person can do what he wishes with his property on one
hand, and he obeys law on other hand, then
economists say he is economically free.
nationalized industries include various types of transport,
steel-production and coal-mining.
My friend is leading economist. He works for BP plc.
President of company is Mr Peterson.
Natural disasters and political changes can affect the
general plan in unexpected way.
Under-develped countries like India tend to make clear
distinction between public sector of their economies on one
hand and private sector on other hand.

9. Complete the following sentences with prepositions where necessary:

The Chinese government set an official body to control the
distribution of goods all over the country.

The majority of national economic systems tends either socialism or
capitalism.

Both employers and employees of our company are interested AGM.
Heavy industries are usually among the activities guided the
government.

The message includes much important information.

Transport and education employ a large part the national work force.
We can make the general plan together with the leading economists
of the company.

This company is based Hook, North Hampshire the
United Kingdom and listed the London Stock Exchange as the fifth-
largest energy company market capitalization and the fifth-largest
company the world measured 2012 revenues.

Ex. 10. Change these sentences by modifying certain adjectives into verbs.

EXAMPLE: They made the economy regular. [J They regulated the economy.

a)
e)

1.

complicate b)) liquidate C) nationalize d) activate
consolidate f)  simplify g) internationalize h) re-activate

They made the subject complex.
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They made the subject simple.

They made the businesses “solid” (by bringing them together).

They made the economy active.

They made the business “liquid” (by breaking it up or “dissolving” it)
They made the economy active again (or for a second time).

They made the industry national (or public).

They made the business international.

Ex. 11. Combine these pairs of sentences in the two ways shown in the example.

EXAMPLE: The government has set up an official committee. This committee must
decide national economic policy.

1. The government has set up an official committee, which must decide national
economic policy.

2. The government has set up an official committee to decide national economic
policy.

The economists have organized a commission. This commission must study the

economic problems of Latin America.

The workers have demanded an investigation. This investigation must find out

what happened in the factory.

The trade unions have asked for a new plan. This plan must regulate the flow of

work.

The government has proposed a new scheme. This scheme must come into

operation next year.

The employers have prepared a special scheme. This scheme must be approved

by the government.

Ex. 12. It shows how words can be formed by adding first the suffix -ify (verbs),
and then the suffix -cation (nouns) (with suitable changes in spelling). Use the
table to complete the following sentences.

1.

2.

This plan is not simple enough. We must therefore it.
The of the plan is essential.

The economy of that country belongs to the Marxist group or class. We must
therefore it as socialist. The of the economy of that
country is not difficult.

That water is not pure enough. It is necessary to it. The

of the water is a matter of public health.

Please send a note to the members of the Council. You should them
of the date of the next meeting. The should reach them this week.
The economics teacher tried to make the situation clear. He tried to

his description by making it simpler. When he had made this , his

students understood the whole matter much better.



Ex. 13. Complete the following sentences with suitable words: national (adj.),
nation (n.), nationalize (v.), nationalism (n.), nationalist (n.)

1. The USA is the homeland of the American :
Most countries have banks, such as the Bank of England.

2.
3. The Socialist Party has plans to various privately owned industries.
4. In the last twenty years has been a strong political force leading to

the formation of many new nations.
5. A person who is interested in the progress and history of his own country may be
called a

Ex. 14. Work in groups. Discuss the following questions:

1.  What is an abbreviation?
2. Why do many professionals use abbreviations?
3. What abbreviations do you use?
4. What do the following abbreviations stand for: the USA, st., the former USSR?

Some most common abbreviations are:

CE — Council of Europe

DC — developed country

EC — European Community

EEC — European Economic Community

EUROSTAT — Statistical Office of the European Communities

ICC — International Chamber of Commerce

OSCE — The Organization for Security and Co-operation in Europe

SIM — subscriber identification module (card for mobile phone)

WTO — The World Trade Organization
NB: Abbreviations are a shorter form of a word or phrase and they are an important
part of the English language. They shorten words, which makes writing more precise,
concise and simplified. You may abbreviate titles before and after names. You may
also abbreviate familiar institutions, countries, corporations, days, months, states
and more. Learning how to abbreviate words allows us to simplify our speaking and
writing. For more information go to Supplement section (Unit 3).

Ex. 15. Distribute the following abbreviations under the appropriate headings
and think of three more examples to add to each category:

1. Ms. 9. Ave. 18.1.e.
2. P.S. 10.MBA 19.0SCE
3. p.m. 11.e.9. 20.GDP
4. VAT 12.CA 21.BC
5. etc. 13.AD 22.SFO
6. B4AN (bye for 14.SIM 23.1T
now) 15.EUROSTAT 24.a.m.
7. CE 16.ttyl8r (talk to you 25.mph
8. KISS (keep it later) 26.VIP

simple, stupid) 17.Dr. 27.NB



28.GNP
29.NY
30.EU

31.lol (laugh out 32.CD
loud)

1.

People/titles

2.

Places

3.

Time

4.

Names of companies
and organisations

Proffesional terms

. Common objects and

phrases

Latin-based

Text

Ex. 16. Work with a partner. Match the following abbreviations with their
Ukrainian equivalents and abbreviate them in Ukrainian:

=
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the UK
GDP
OECD
WTO
CE

EU
UNO
OSCE
GNP

10.EBRD

11.PLC
12.1td
13.NATO
14.CEO
15.MBA
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TOBApPMCTBO 3 06MeXKeHOoo BiANOBIAaNbHICTIO
CnonyyeHe KoponiscteBo

CsiToBa opraHisauia Toprisni

Papga €Esponu

OpraHi3auia 3 6e3neku Ta cnisnpaui B EBponi
Ba/I0BUI BHYTPILLHIA NPOAYKT

€sponelicbkmin Coto3

OpraHizauia O6’egHaHmx Hauin

AKuioHepHe  TOBapuCTBO 3  0ObBMeXKeHot
BiANOBIAANbHICTIO

OpraHizaujia MiBHIYHOATNAHTUYHOIO [A0roBOPY
(Takoxk MiBHIYHOATNAHTMYHMI aNbAHC)

Ba/I0BWI HaLLIOHANbHUM NPOAYKT
EBPONENCbKMN BaHK PEKOHCTPYKLIii Ta PO3BUTKY

. TeHepanbHWI AnMpeKTOp

MaricTp AinoBOro aaMiHiCTPYBaHHA
OpraHi3auia eKkoHOMIYHOro cniBpobiTHMUTBA Ta
PO3BUTKY

Ex. 17. Look up in a dictionary what these abbreviations stand for and complete
the sentences:




N =

Just as Rd is short for Road, St and Sq are short for and

#24 in the USA and Ne24 in Britain both mean 24.

In a report or textbook e.g. means , 1.e. stands for , etc.
means .

A British company’s name may be followed by the abbreviation plc. or PLC
(short for ), Ltd ( ) or & Co. ( ).

An American firm’s name may be followed by Corp. ( ) or Inc.
( ).

A leap year starting on Fri. ( ) is any year with 366 days
(i.e. ( ) it includes 29 Feb ( )) that begins on Friday, 1 Jan

( ), and ends on Sat. ( ), 31 Dec ( ).
With 57 States from Europe, Central Asia and North America, the OSCE

(

) is the world’s largest regional security organization,
bringing comprehensive and co-operative security from Vancouver to
Vladivostok.

Ex. 18. Translate the following into English:

1.

VY cBITI icHye OaraTo PO3BUHYTHX Ta CJIa00pO3BUHYTHUX KaIiTaJICTUYHHUX 1
COITIATICTUYHUX JepkaB. BoHM pi3HI 3a 17e€oJioTi€ro, ajie OUTBIIICTh 3 HHUX
MalpTh 3MIllIaHy EKOHOMIKY. 3MilllaHa EKOHOMIKa 3aCcHOBaHA Ha PI3HUX
(dbopMax BIacHOCTI: MpUBAaTHA BIACHICTh B3AaEMO/IIE 3 IEPKABHOIO BIACHICTIO, a
nepkaBa, BUPOOHUKHM 1 CIIOXKHBadl BIAITPAlOTh JOCUTh BaXJIUBY pPOJb y
BUPIIICHH] TOJIOBHUX IMHUTaHHH EKOHOMIKH — KIIO», IK», «B SKid KUTBKOCTI» i
«JIJIS1 KOTO» BUPOOJIATH.

B 3Mmimaniit ekoHOMIIll JepKaBHE yMPABIIHHA €KOHOMIKOIO MOIITUPIOETHCS K
Ha TPUBATHUM, TaK 1 HA JCP>KaBHUI CEKTOPHU: MIATPUMKY CHUCTEMU OXOPOHU
3MI0pOB’S, CTaHAAPTIB  MpaleBIAllITYBaHHSI, OXOPOHY HABKOJUIIHHOTO
CepeOBHINA, a TAKOXK MiATPUMaHHS KOHKYPEHITI.

CrmiBBiZHOIICHHS PI3HUX (OPM BIACHOCTI 3QJICKUTHh Bil KOHKPETHHX yMOB
KOXHOT KpaiHM Ha PI3HHUX eTamax il po3BUTKY. Tak, po3BUHYTI KpaiHH CBITY,
taki sk CIJA Ta Bemuka bputanis, CKOpOTWIM BTpyYaHHS JEp>KaBH B
TOCIIOAAPChKE KUTTA KPaiHHW, BIABOASYM BAKIUBY POJIb PUHKOBUM METOIAM
peryJIrOBaHHS €KOHOMIKH.

Y IIBemii migBUIleHAa YyBara NPHUAUISETECA TPODUIAKTHYHUM 3aX0jam,
OpPIEHTOBAaHUM Ha TMIATPUMKY PpETiOHAJIBHOI EKOHOMIYHOi piBHOBArw,
JOCSITHEHHS CIIPUUHATIMBOI CTAOUTBPHOCTI I[iH, OXOPOHY HaBKOJIHUIIHHOTO
cepenoBuia, 3abe3nedeHds: poO0TO0, CMIBYYacTh Y BUPOOHUIITBI 1 3pOCTaHHS
JOTIOMOTH  KpaiHaMm, 110 pO3BUBaIOThCSA. CKIIAJOBUMHU  €IEMEHTAMH
€KOHOMIYHOI TOJIITHKW € TOJATKOBAa, TPOIIOBA MOJITHKA HA PUHKY TIpaili Ta
perioHaibHa MOJITHKA.

B exkoHOMIIIl 3MIIIIAHOTO TUITY AY>KE BAXKO IUIAHYBATH BUPOOHUIITBO HaIepes.
l'omoBa Hamioro MmANPHUEMCTBA MaB  CHIBOPANIOBATA 3  YECHKUMHU



BUPOOHUKAMU, ajie¢ MOJITUYHI 3MIHM BIUIMHYJIM Ha 1€l IJIaH HECIOIBaHUM
YUHOM.

6. [liBneHHOKOpEiiCbKa MOJIeTb JEP)KaBHOTO PETyJIOBaHHSA € MPUKIAIOM
VHIKQJIbHOTO NO€JHAHHS OPCTKOrO JEP>KABHOIO IJIAHYBAaHHS Ta PUHKOBOTO
MEXaHI3My: JepkaBa IUIaHYye MAaKpPOEKOHOMIUHI TIOKAa3HUKH, KPEAMTHI 1
MO/IATKOB1 3aX0I1 CTUMYIIIOBAHHS €KCIIOPTY 1 0OMEXKEHHS IMIIOPTY.

Ex. 19. Using the diagram below give a talk on different types of economic
systems (provide examples where possible):

i 1 i i f i1
centrally planned mixed free market |
economies economies economies

complete . amount of government Mo
government insclvement in economic govermnment
control | dl?":iﬁlﬂl'l making ] control

VOCABULARY

English
address (V)

affect sth
allocative efficiency

authoritarian regime
be listed on

equipped with
certainty
classify
completely
competition
constituent
detention center

economic planning

environmental protection

Ukrainian

MIPUBECTH Y BIJIMIOBIIHICTB;
3BEPHYTHCS; CIIPIMYBATH
BILIMBATH Ha
e()EKTUBHICTb PO3IMOALTY
pecypciB

aBTOPUTAPHUU PEKUM
OyTH 3aHECEHHM JI0
CITUCKY

o0aIHaHUH

BIICBHCHICTH
KiacudikyBaTu

MTOBHICTIO

KOHKYPEHITis

CKJ1aJoBa

IEHTP JJISI YTPUMAHHS i1
BapTOIO MPABOMOPYIIHUKIB
CKOHOMIYHE TIJITaHYBaHHS
O0XOPOHA HAaBKOJIUIITHHOTO
cepeoBHIIa



exist alongside sth
feature emphases on
government intervention
government services
company

health care service

London Stock Exchange
long-term planning
maintenance

make a distinction
make a step
natural disaster
noticeable
objective (n)

plan ahead

plc (public limited
company)

precise
production targets
public sector

rare
reflect

revenue

rigidly controlled

run a company

set up a target

tax

tend towards
under-developed country
wage

ICHYBaTH pa3oM 3
BiIBOJANTH BaXKJIUBY POJIb
Jep’KaBHE BTPYYaHHS
KOMIIaH1s, 1110 HaJae
JIe€pKaBHI1 MOCIYTU
CHUCTEMa OXOPOHU
310pOB’ 4

JlonnoHcrkka GoHI0Ba
Oipxa

JIOBTOCTPOKOBE
TUTAaHYBaHHS
MiATPUMaHHS B
HaJIEKHOMY CTaH1
BIJIPI3HATH

poOUTH KPOK

CTUXI1HHE JINXO
IIOMITHHH

L1J1b

TUTAHYBATH HaIepes
nyOJiyHa KOMIaHis 3
0OMEKEHOIO
BIJIITOBIAAIBHICTIO
TOYHUU

BUPOOHUYI ITLT1
JepKaBHUM CEKTOP
€KOHOMIKH, OI0KETHA
chepa

piaKicHUN

Opatu 110 yBaru
pIYHUN TOX1T
YKOPCTKO KOHTPOJIFOETHCS
YIPABIATH KOMITAHIEIO
CTaBUTH LUI1

IT0JIATOK

MparHyTH JI0 4-H.
c1a00pO3BUHYTA KpaiHa
3apo0iTHA I1aTa
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PRE-READING

1. Work with a partner. Answer the questions:

a) What is your choice usually based on when you make a decision about a
purchase? State your idea.

b) Which of the following features of a product do you consider to be the most
valuable: its price, quality or satisfaction?

READING

2. Read the text below:

Our basic needs are simple, but our additional individual wants are often very
complex. When purchasing some goods the consumer follows his willingness to
satisfy a want. Commodities of different kinds satisfy people’s wants in relation to
time, people and nations.

This characteristic of satisfying a want is known in economics as its ‘utility’.
Economists say that utility determines ‘the relationship between a consumer and a
commodity’. Utility varies between different people and between different nations. A
vegetarian does not want meat, but may rate the utility of bananas very highly, while
a meat-eater may prefer steak. A mountain-republic like Switzerland has little interest
in submarines, while maritime nations rate them highly.

Utility, however, should not be confused with usefulness, e.g. a submarine may or
may not be useful in time of peace, but it satisfies a want.

In wartime, the utility of bombs is high, and the utility of pianos is low. Utility is
therefore related to our decisions about priorities in production, e.g. the production
of pianos falls sharply in wartime.

The utility of a commodity is also related to the quantity which is available to the
consumer. If paper is freely available, people will not be so interested in buying too
much of it. If there is an excess of paper, the relative demand for paper will go down.
We can say that the utility of a commodity therefore decreases as the consumer’s
stock of that commodity increases.

Microeconomic models of consumer behaviour study how people choose to
spend their money. It is commonly assumed that consumers act in ways that
maximize their happiness but our actions are constrained, especially by limited



budgets, so we have to make choices. We do so according to our scale of
preferences by ranking all relevant alternatives in order of preference. There is
a relationship between a consumer and a commodity that tells us for any set of
alternatives how much pleasure the consumer derives from buying an additional unit
of a commodity or service.

The concept implies that the utility or benefit to a consumer of an additional unit
of a product is inversely related to the number of units of that product he already
owns. Usually, the more the person consumes, the larger his or her total utility* will
be. Marginal utility is the additional satisfaction, or amount of utility,
gained from each extra unit of consumption.

Take, for example, a chocolate bar. Let’s say that after eating one chocolate bar
your sweet tooth has been satisfied. Both marginal utility and total utility after eating
one chocolate bar will be quite high. But if you eat more chocolate bars, the pleasure
of each additional chocolate bar will be less than the pleasure you received from
eating the one before — probably because you are starting to feel full or you have had
too many sweets for one day or a point in time comes when the financial sacrifice is
greater  than  the satisfaction of = eating  chocolate. Economists refer
to this phenomenon as the Law of Diminishing Marginal Utility which states that
the utility of a commodity decreases as the consumer’s stock of that
commodity increases.

It is clear that the nature of a commodity remains the same, but its utility
changes. This change indicates that a special relationship exists between goods and
services on the one hand, and a consumer and his money on the other hand: the
consumer will stop buying chocolate at the current price. The higher the price is the
fewer he buys. The lower the price is the more he buys. Thus this tendency and the
concept of utility itself underlie the laws of demand and supply and explain how
individuals and economies aim to gain optimal satisfaction in dealing with scarcity.

It should be noted, however, that this law doesn’t work in case of money,
knowledge, hobbies, fashion, health issues, etc. For example, if an item of clothes
you bought is in fashion its utility for you is high and will remain so until it goes out

of fashion [Tom McArthur. A Rapid Course in English for Students of Economics / Tom
McArthur. — Oxford University Press, USA, 1997. — 138 p.; Peter Antonioni. Economics For
Dummies / Peter Antonioni, Sean Masaki Flynn. ; [2nd Edition]. — Chichester : John Wiley & Sons,
2011. - 420 p.].

* total utility — the sum of satisfaction or benefit we get from consuming
a given amount of goods or services.

< Economists imagine that if they were able to get inside your l_arain
% and measure utility, they’'d do so using a unit that they call a util.
Some people very naturally object to assigning specific numbers
of utils to different things — e.g., 25 utils to the pleasure associated with eating a
brownie, or 75 utils to the pleasure associated with watching a sunset.
(Such method of measuring pleasure is called cardinal utility (like cardinal
numbers: 1, 2 ..). There are doubts about whether people even make such



assessments — after all, how many utils do you think you receive from a sunny day or

a baby’s smile? [Peter Antonioni. Economics For Dummies / Peter Antonioni, Sean Masaki
Flynn. ; [2nd Edition]. — Chichester : John Wiley & Sons, 2011. — 420 p.].

PRACTICE
Ex. 1. Find the words or word combinations in the text to substitute the
following:
1. toarrange objects as a sequence 7. the way in which two things
2. mean (v.) are connected
3. astrong liking for sweet foods 8. loss
4. likes (noun, pl.) 9. Dbasic quality or character
5. additional units added 10. use (n.)
to a consumer’s stock of a 11. pleasure
commodity give progressively 12. suppose
less satisfaction 13. go down
6. limited 14. get

Ex. 2. Using the information in the text say whether the following statements are
true or false:

1.

2.
3.

7.

8.

There is a principle assumption in the consumer behaviour theory
that consumers attempt to allocate their budget according to their preferences.

People tend to buy anything they can afford.

Utility is a characteristic of a commodity which shows how it
satisfies a want.

The consumer will probably buy more with each successive
purchase.

With each successive purchase the satisfaction gained from a
commodity decreases.

If the price remains the same, the consumer will reach a point when
his financial sacrifice is greater than his satisfaction.

‘The Law of Diminishing Marginal Utility’ is a tendency for a
consumer’s desire to diminish as he buys more units of the commodity.
Utility of money changes according to the currency exchange rate.

Ex. 3. Answer the following questions:

1.
2.
3.

o s

What is the theory of consumer behaviour about?

What is the difference between total and marginal utility?

Under what conditions will a consumer go on buying a commodity? Provide
your own example.

What happens with each successive purchase?

What goods or services can be used as an example of inefficiency of the Law of
Diminishing Marginal Utility?



Ex. 4. Look through the text again and give Ukrainian equivalents to the
following English words and word combinations:

NGO~ WDE

indicate 9. inversely

It is commonly assumed 10. to increase

consumer behaviour 11. the nature of a commodity
to imply 12. financial sacrifice

to be constrained 13. to remain the same
phenomenon 14. rank

scale of preferences 15. according to

consumer’s stock 16. to underlie

Ex. 5. Give English equivalents to the following words and word combinations
from the text:

1. nocwiarucs (Ha 110CH) 9. cnoxuBaHHS

2. 3B’SI30K, B3a€EMOBITHOCHHH 10. momwmT

3. TakuM YUHOM 11. cuig 3a3HA4YUTH

4. mkana nmepeBar 12. npomno3swuiis

5. OyTu AOCTyIHUM 13. opepxyBaTu

6. 3akoH cnajgHOI rpaHUYHOI 14. kopucth
KOPHUCHOCTI 15. 3amoBoneHHS

/. 3HWKATHUCS 16. mpunmcyBaTH, BBaXKaTH

8. CyKyIlHa KOPUCHICTh

Ex. 6. Complete the following sentences with words or word combinations from

the text:

1. The theory of consumer explains how people their
choices.

2. Itis not possible to be completely free as our actions are always by
laws, budget and other people’s freedom.

3. Our of preferences indicates our priorities and helps us to
decisions.

4. The Law of Diminishing utility says that the consumer’s
diminishes with each successive purchase.

5. A consumer will stop buying a commodity or service when his financial

IS more than the he gains.

6. It should be that the concept of utility two other
economic phenomena: supply and demand.

7. In economic theory the term refers to a number of goods offered for

sale.

Ex. 7. Complete the following sentences with prepositions where necessary:

1.

When making a decision about a purchase we rank all possible options
order of preference.



our scale of preferences essential commodities always

go first.

the one hand our benefit gained each additional
commodity tends to diminish but the other hand if it’s fashion or a
matter essential necessity we will go buying such goods
and services.
The Law of Diminishing Marginal Utility doesn’t work case of
money or fashion: soon your bag goes of
fashion its utility is negative you and you will want another bag.
People buy goods and services current prices they cannot
change them. But they do affect the consumer’s choice: the higher
the price is the fewer the consumer will buy.
The consumer’s desire a commodity depends very much
its stock, i.e. the more goods he has the less he wants.
In order to explain the consumer’s behaviour economists refer the
term “utility” which implies the existence a special relationship

a commodity and a consumer.

Ex. 8. Match a word from column A with an appropriate word/words from

column B.
A B
1. sweet a) utility
2. financial b) assumed
3. consumer c) tooth
4. ltshould be d) alternatives
5. toincrease e) behaviour
6. scale f)  the consumer’s stock
7. Itis commonly g) sacrifice
8. microeconomic h) noted
9. relevant 1) of preference
10. marginal J)  models

SHOWING RELATIONSHIPS WITHIN
AND BETWEEN SENTENCES

Transitional words and phrases connect and relate ideas, sentences, and
paragraphs. They assist in the logical flow of ideas as they signal the relationship
between sentences and paragraphs. The material is supported and conditioned not
only by the ordering of the material (its position) but by connectives which signal
order, relationship and movement.

Repetition of key words and phrases and the use of synonyms which echo
important words both serve to establish connections with previous sentences.



Additionally, pronouns can act as connectives when they are used to refer to a
noun in the preceding sentences.

Ex. 9. Read the most commonly used connectives listed below and note especially
how these connections function to develop, relate, connect and move ideas in the
text.

To signal
addition of ideas

and, also, too, besides, as well as, nether ... nor, either ... or,
both ... and, further, furthermore, morecover, in addition,
then, of equal importance, equally important, another

to introduce the
subject

It is generally assumed that, actually, as a matter of fact, to
tell the truth, I think, I believe, | suppose, regarding (this)

To signal time

next, then, afterward, finally, later, last, lastly, at last,
subsequently, when, soon, thereafter, after a short time, in
the meantime, meanwhile, on the following day, ultimately

To signal order or
sequence

first of all, firstly, secondly (etc.), finally, hence, next, then,
from here on, to begin with, last of all, after, before, as soon
as, in the end, gradually

To signal an
example

for example, to illustrate, for instance, to be specific, such
as, notably, just as important, in particular

To show results

as a result, hence, so, due to, accordingly, that is why,
because of this, thus, as a consequence, consequently, since,
therefore, for this reason and more, for this reason

To signal purpose

to this end, for this purpose, with this in mind, for this
reason, for these reasons

To signal like, in the same manner or way, similarly, as compared

comparisons with/to, as against, in comparison with

To indicate but, in contrast, however, still, while, nevertheless, whereas,

contrast nonetheless, yet, on the other hand, on the contrary, or, in
spite of this, despite, for all that, strangely enough, ironically

To dispute people are wrong who say/deny that, be that as it may, no
doubt, many people claim, many people suppose, in any
case

To intensify above all, first and foremost, indeed, in fact, as a matter of

fact, as | have said, as has been noted, it should be noted

To summarize

as was previously stated, to put it briefly, to sum up, to
repeat, briefly, in short, finally, on the whole, therefore, in
conclusion, as you can see

To define, explain,

consist of, Is a term that, involves, is called, is characterized




clarify by, that is, occurs when, exists when, are those that, that is
(to say), | mean, (to) put (it) another way

To assert a truth surely, of course, without a doubt, naturally, in fact,
or acknowledge certainly, doubtless, no doubt
opposition

Ex. 10. Circle the letter of the word that correctly identifies the appropriate
transition word or phrase.

1. the invention of television, people probably spent more of their
leisure time reading.

a. Nevertheless b. Because c. Before

2. Ifyou’re planning a purchase, try to get the most out of it. , compare
the prices in different shops.

a. For instance b. In contrast c. Similarly

3. I’m temporarily unemployed, my boyfriend shares his profit with me.
a. Until b. Because c. Even though

4. People usually want to get as much utility possible.

a. after b. as C. as a result

5. Using utils to measure a level of satisfaction that people derive from a

commodity seems to be inefficient there are countless examples of things
that are not possible to measure happiness of having good weather, etc.
a. moreover ... but b. justas ... as c. because ... such as

Ex. 11. Read the text and, for each blank, choose the correct alternative given
below:

When students construct the portfolio of courses to study they need to strike a
balance between their unique personal interests and subjects which are most practical
and useful for their future (1) at university beyond.

(2) each subject has its own merits, a strong foundation in basic
economic theory provides students with an invaluable basis for making sound
decisions in their everyday lives, for understanding the world around them, and for
further education in a variety of areas. (3) , economics deserves
consideration when deciding on what courses students should incorporate into their
studies.

4) that there is much confusion over what exactly economics is.
Many people (5) that economics is the study of the stock market, or of
money, or of commerce. While economics (6) offers insights into each

of these fields, its true power lies only (7) in analyzing particular




aspects of the economy, rather in developing a general way of seeing
the world. Some people refer to economics as a “dismal science” (8)
they believe that its insights are dull realm of old, erudite men debating governmental
fiscal and monetary policy. (9) the truth is that economics offers much
broader and applicable insights not only into areas of financial and academic inquiry,
but also into social situations of our everyday lives. (10) it is the study
of scarcity and of how limited resources are allocated in response to unlimited wants
and desires. In our own lives we all face scarcity in many forms, (11)
in terms of time and money. (12) studying economics allows students
to understand that nothing in life is free and that there are an infinite number of
options in life that we have to choose from. Economics provides powerful tools for
deciding how one should best respond to the challenges of scarcity.

(13) benefit of studying economics is that it can help students
develop intuition which will allow them to make sense of the complex and
interrelated world in which we live.

(14) studying economics provides a great foundation for further
studies in a number of academic disciplines such as history, geography, sociology,
law, political science, finance — and even — biology.

1. a) notonly ... but b) neither ... nor c) both...and

2. a) dueto b) while c) besides

3. a) For these reasons b) nfact c) On the one hand
and more

4. a) Certainly b) It should be noted c) Similarly

5. a) argue b) guess c) claim

6. a) certainly b) of course c) asaresult

7. a) notonly ... but b) aswellas c) either or

8. a) dueto b) because c) but

9. a) however b) finally c) inparticular

10. a) on the contrary b) hence c) infact

11. a) in particular b) notably c) thatis

12. a) first of all b) secondly c) above all

13. a) on the whole b) another c) last

14. a) Itis generally b) Asyoucansee c¢) Finally

assumed that



Ex. 12. Rearrange the information below and make logical paragraphs using the
linking words given above:

DESIRE OF MONEY: This law is not applicable in case of money with an
increase in wealth man wants to get more and more.

DESIRE OF KNOWLEDGE: Some experts say that man wants to get more and
more knowledge so the law can not be applied in this case.

USE OF LIQUOR: With the additional use of liquor like wine marginal utility also
goes on increasing.

PERSONAL HOBBY: In case of hobby also this law can not operate. For
example, as the collection of tickets increases, its utility also increases.

FASHION: Utility also depends upon fashion. If the fashion of any commodity
changes, its utility drops down to zero. On the other hand if fashion exists then utility
Increases.

Ex. 13. Define the following economic terms and provide your own examples to
illustrate them using transitional words from the lesson:

Economics Goncepts
Total utility Utility
Marginal utility Utility vs. usefulness
Cardinal utility Scale of preferences
Consumer behaviour Law of Diminishing Marginal Utility

Ex. 14. Using transition words write a summary of about 200 words on the
economic concept of utility.

Ex. 15. Translate into English paying attention to the linking words:

1. 3rimHO 13 3arajdpbHOI0 JYMKOIO, TOBapW Ta TMOCIYTH 3aJI0BOJIBHSIOTH HaIll
notpebu. Ciin 3a3HaYUTH, OJHAK, 110 OJUH 1 TOM caMHil TOBap 4u MOCIyra mMo-
PI3HOMY 3aJT0OBOJIBHSIE TIOTPEOU PI3HUX JIFOACH, TOOTO KOPUCHICTH OHOTO i TOTO
K TOBAapy 3MIHIOETHCS BIIMOBIHO /10 JIIOJUHU, Yacy, UM MiCTa. Y KOKHOTO 3 Hac
€ CBOSI IIKaJIa MPIOPUTETIB, 3TITHO 3 IKOI0 MU i BUMIPIOEMO IIHHICThH peUeH.

2. EKoHOMICTH BUMIPIOIOTh IIIHHICTh pEUYeH, BXXHBAIOYM TEPMIHU «TPaHUYHA
KOPHUCHICTB» Ta «CYKyNMHa KOPHUCHICTE». OCTaHHS BHU3HA4Ya€ 3arajibHe
3aJI0BOJICHHS BiJI CTIOKMBAHHSA MEBHOI KUIBKOCTI TOBapiB 4M MOCHyr. B Toi yac
SK TPaHWYHA KOPUCHICTH MO3HAYAE 33J0BOJICHHS BiJl KOKHOI OKpEMOi OJXMHUII
ToBapy. Unm Ouibllie 3a70BOJICHHS MPUHOCUTH TOBAp CIOXKWBAdy, THM BHIIE
rpaHUYHA KOPHUCHICTH I[LOTO TOBAPY.

3. Koxken crnoxuBau mparse 3a0e3MeYyuTH MaKCHMaJIbHHUNA PIBEHb KOPHCHOCTI Ta
oJiep)KaTH HACTUIBKA 0OaraTto, HACKUIBKM II€ MOXJIHMBO. TakuM YHMHOM, BIH
3MYIICHUW IATH B MEXax MEBHUX MOKJIMBOCTEH, TOOTO HMOro MOKJIMBOCTI
oOMexeH1 OJ/I)KeTOM, aCOPTUMEHTOM TOBapiB YW IMOCIYr Ta 1H., CIIOXHBau



MOBUHEH PO3NOJAUIATA CBOI MOXJIMBOCTI MDK KUIbKOMa Ojaramu, 1100
MaKCUMAaJIbHO 33JI0BOJIBHSTHCS.

OTXe, KOpPUCHICTh BKa3zy€e Ha HAasBHICTb B3a€EMO3B’S3Ky MIDK TOBapoM Yu
MOCJIYTOI0 3 OJHOr0 OOKYy Ta CIOKMBadeM 3 Apyroro Ooky. Lleit exkoHOMiuHUN
(eHOMEH BHUMIPIOE IIHHICTh peYeil Ta € OCHOBOIO TaKUX IMOHATH, K MOIMUT Ta
MIPOIO3HULIisl, 1 Ja€ MOKJIMBICTh IMOSICHIOBAaTH MOBEIIHKY CIIOXKHBaya B YMOBax
nediuTy pecypcis.

3aKOH CMaJHOT TPAHUYHOI KOPUCHOCTI CTBEPIXKYE, IO 3 KOKHOIO HACTYIHOIO
MOKYIKOIO 3MEHIIYEThCA TPAaHUYHA KOPUCHICTh TOBAPY UM IOCIYTH Ta paHille
Yy Mi3HIE TpUiiie Yac, KOJM 1€ 3aJ0BOJICHHS Oyae MeHIle HDK Oa)kaHHs
BUTpaTUTH Tpoii. Ciia 3a3HA4YMUTH, 10 e eKOHOMIUYHUN 3aKOH HE JIi€, SIKIIO0
MU Ma€eMO CIIpaBy, Hamnpukiala, 3 TpomuMa. Yum Ouiblie rpoued Mu
OJIep)KyeMO, TUM Oinbiie MU OakaeMo, TOOTO TpaHMYHAa KOPHUCHICTH TpoLIei
IIOCTIMHO BHCOKA Ta HE 3aJICKUTH BIJ iX KUILKOCTI.

@DyHKIIS KOPUCHOCTI 0OEPHEHO MPOTOPIIIIHO OB’ s13aHa 3 KUTbKICTIO TOBApiB Ta
TaKUM YMHOM BIUIMBA€E Ha (DOPMYBAHHS CIIOKMBYOTO BUOOPY, IHIIMMH CIOBAMH,
— Ha TPOMO3UIlII0 Ta IMOMNHUT, SIKI B CBOIO uepry (OpMyHOTh NPIOPUTETH
BUPOOHUIITBA.

QUESTIONS FOR DISCUSSION

1. Knowing the Law of Diminishing Marginal Utility how can it affect your choice
when making purchases?
2. Is the characteristic of a commodity to satisfy a want enough for buying it?
Why? Why not?
VOCABULARY
English Ukrainian
according to BIZIMIOBIHO 10
assign MPUIKICYBATH, BBAKATH
assume BBayKaTH, IIPUITYCKaTH
cardinal utility KUTbKICHA KOPUCHICTH
be constrained OyTH 3MyIICHNUM;
00OMEKEeHUM
consume CIIOYKUBATH

consumer CIIOKHBA4



consumer behaviour

consumption

current exchange rate
current price

demand

derive from
determine

diminish (v.)
gain (from)

imply

indicate

inversely

It is commonly
assumed

It should be noted
Law of Diminishing
Marginal Utility
make assessments
marginal utility
maritime

nature

objections (to)
phenomenon (pl.-a)
priority

purchase (V)
quality
rank (verb)

MOBEJ[IHKA CIIOKMBaya
(moBeiHKA JIFOAUHH, 1110
OB’ si3aHa 3 PILICHHSAMU
1010 MOKYIIKK TOBApIB Ta
HOCIIYT)

CTIO’KUBAaHHS

Kypc OOMIHY BaJIIOT
MOTOYHA I11Ha

TIOTIUT

OJIepP)KyBaTH

BH3HAYATH,
BCTAHOBJIIOBATH

CTaIaTH, 3MEHIITYBATHCS
OJIep>KyBaTH, JOMAaraTucs;
3100yBaTH

MaTH Ha AyMIli (Ha yBasi);
HATSKaTH; MICTUTH B CO01;
3HAYUTH, MaTH 3HAYCHHSI
BKa3yBaTH; O3HAYATH,
OyTH 03HAKOIO

00€pHEHO MPOTOPIIIIHO
3T1HO 3 3araJIbHOIO
JTYMKOTO

CJIIJ 3a3HAYUTH

3aKOH CIIAJHOI TPAaHUYHO1
KOPUCHOCTI

OIIHIOBATH, OI[IHUTH
rpaHUYHA KOPUCHICTH
MOPCBKUU

IpHUPO/IA; XapaKTep
3anepeyueHHs

(hEeHOMEH, SBHUIIE
MEPIIOYEPTOBICTb,
NpIOpUTET

KyIyBaTH

SAKICTh

KJIacU(P1KyBaTH,
pO3TAIlyBaTH B IIEBHOMY
MOPSTIKY



rate
refer (to)

relationship
relevant

be related to
remain
sacrifice
satisfaction

scale of preferences

state

supply
sweet tooth

thus
total utility
underlie

usefulness
utility function
valuable

value
willingness

OL[IHIOBaTH

MIOCWJIATUCS HA K-H., Ha
10-H.

B3a€MO3B’ 130K
JIOPEYHU; 110
CTOCYETBCS CITPaBU
OyTHU OB’ SI3aHUM C Y-H.
3aJTUIIIATUCS

XKEepTBa

3aJT0BOJICHHSI

IIKaja nepenar
CTBEPKYBaTH
MIPOTIO3UITIS
MPUCTPACTh, CIAOKICTH A0
COJIOJIKOTO

TaKUM YHHOM, OTXKE
CYKYITHa KOPUCHICTb
nexatu (0yTH) B OCHOBI
Y-H.

KOPHCTh; MPUIATHICTh
(GyHKIIIS KOPUCHOCTI
[HHUA

IHHICTH
Oa)xaHHs



Unit 5 ECONOMIC RESOURCES
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“If God had meant there to be more than
2 factors of production, he would have
made it easier for us to draw three-
dimensional diagrams”
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PRE-READING

1. Answer the following questions:

1. What kind of resources is of greatest importance nowadays? Give your reasons.
2. What qualities are needed in an effective entrepreneur?
3. What resources must be combined in order to start a business? Provide examples.

2. Match these definitions with the word combinations below:

1. profit a) the money invested in a business

2. self-employed b) the difference between the price received for a product
and its cost (the price of the factors of production used
to make it)

3. capital c) the working population

4. labour force d) a person who works for himself, and is not paid

a salary by someone else

3. Read the following text and check your answers:

The production of goods and services requires resources. You can’t get output
without inputs of resources.Taking into account that economic resources are scarce
relative to the infinite needs and wants of people and businesses operating in the
economy, it is important to use these resources efficiently in order to maximise the
output produced from them.

Economists traditionally divide inputs, or factors of production, into three
classes: land, labour and capital.

To economists, land means a little more than just real estate or property. Land
refers to the natural resources available for production and is used to produce things
people want to consume. Land also includes the weather, plant and animal life,
energy, etc. Some nations rich in natural resources exploit this by specialising in the
extraction and production of these resources, for example — the development of the
North Sea Oil and Gas, while others, resource-poor countries, have to constantly
overcome the problem of resource scarcities to develop economically. There is only
one major resource nowadays which is for the most part free — the air we breathe
since its consumption by one person does not reduce the air available for others. The



rest are scarce, because there are not enough natural resources in the world to satisfy
the demands of consumers and producers.

TOTAL EMPLOYMENT IN THE UK ECONOMY

28500

Labour is the human input
into the production process or

26000 A ~~ | in other words it is the work
- /' \ ,J'/ that people must do to produce
g / \ / things. All people who supply
g 27000 ; \ / labour for the production of
£ sem goods and services during a

\/ specified period including both
0 - the employed and the

25500 TTTTTTTIT T T T T T T T T T T T TT T T T T T T T T TIT T T T T T T T T T T T T T T T TTT T unemployed are Called national
1958 1990 1992 1934 1996 1998 2000 |ab0ur fOfCG. |n the U K Of
Quarterly average for employees in emplayment about 59 million inhabitants

only approximately 35 million are of working age (16-64 years for men and 16-59
for women), and of those about 28 million have paid jobs. The employment level
for people in the UK economy is shown in the chart to the left.

As you can see there has been a steady increase in the employed labour force
over the recent years, providing more labour resources with which to increase total
output (GDP).

There are two important points to remember about labour as a resource:

« a housewife, a keen gardener and a DIY enthusiast do not get paid for their
work so they produce non-marketed output and the output of these people is not
included in Gross Domestic Product, and it is not therefore labour in the strict
economic sense;

« not all labour is of the same quality. Some workers are more productive than
others because of the education, training and experience they have received.

An important consequence is that skilled workers (high human capital) get paid
more than unskilled workers (low human capital). Thus human capital refers to the
quality of labour resources, which can be improved through investment in education,
training and health.

Entrepreneurs are people who provide the initial ideas, organise other
productive resources to make goods and services. Some economists regard
entrepreneurs as a qualified labour input. Others believe that they deserve
recognition as a separate factor of production. The success and/or failure of a
business often depends critically on the quality of entrepreneurship. They risk
their own resources in business ventures. They also organise the other 3 factors of
production.

To an economist, capital has several meanings — including the finance raised to
operate a business. But normally the term “capital” means investment in goods that
can produce other goods in the future. Man-made machines, tools and structures, that
aren’t directly consumed but are used to produce other things that people do, make up
capital*. For example, a car that you drive for pleasure is a consumption good,
whereas an identical car that you use to deliver bricks for your construction business



is capital. Capital includes factories, roads, machinery equipment, the Internet and so
on. A modern industrialized economy possesses a large amount of capital, and it is
continually increasing. Increases to the capital stock of a nation are called
investment. Investment is important if the economy has to achieve economic growth

in the long run [Tom McArthur. A Rapid Course in English for Students of Economics / Tom
McArthur. — Oxford University Press, USA, 1997. — 138 p.; Peter Antonioni. Economics For
Dummies / Peter Antonioni, Sean Masaki Flynn. ; [2nd Edition]. — Chichester : John Wiley & Sons,
2011.-420p.].

<= * Fixed capital includes machinery, plant and equipment, new
% technology, factories and buildings — all man made goods designed
to increase the productive potential of the economy in future years.
We also include the social capital created from Government investment spending,
i.e. the building of new schools, universities, hospitals and spending on expanding
the national road network. Working capital includes stocks of finished and semi-
finished goods (components, raw materials) that will be either consumed in the near
or will be made into finished consumer goods
[https://www.investopedia.com/terms/f/fixed-capital.asp].
Example: What resources go into making a car?
Focus on the main factor inputs:
Labour: Workers employed directly in the car industry; engineers, designers, paint
sprayers, testers, management staff, transport & distribution workers, etc.
Land: Natural resources used in manufacturer, land for plant and equipment.
Capital: fixed capital: machinery, technology, buildings + working capital: i.e.,
stocks of raw materials and components.
Entrepreneurship (sometimes seen as a separate factor): management, risk-taker.

Ex. 1. Find the words or word combinations in the text to substitute the
following:

1. about (not precise) 11. individual

2. make good use of 12.  have plenty of sth

3. rely upon/on 13.  direct or control projects,

4. utilization of economic goods businesses, etc.

5. make bigger or more 14.  someone who organizes a

6. seemingly boundless business venture and assumes
7. prepared or made artificially the risk for it

8. the things produced 15.  consider

9. toown 16. the action of taking out sth
10. acknowledgement

Ex. 2. Say whether these statements true (T) or false (F), and if they are false
say why.



8.

Capital refers to the machines, roads, factories, schools and office blocks
which human beings have produced in order to produce other goods and
services.

Labour represents the human effort needed to transform physical
resources into consumer products.

Capital represents only the monetary items used to produce goods or
services.

The entrepreneur carries no risks associated with turning his idea into a
business.

No nation is usually limited in the amount of physical resources they can
produce in their economy.

Workers are usually compensated for their services when companies pay
wages.

Natural resources include land, timber, fisheries, farms and other similar
items.

Labour doesn’t differ in quality.

Ex. 3. Look through the text again and give Ukrainian equivalents to the
following English words and word combinations:

NG~ WDNE

capital stock 9. fixed capital

factor inputs 10. achieve economic growth
employed labour force 11. productive resources
natural resources 12. employment level

in the strict economic sense 13. working capital
opportunity cost 14. inthe long run

of about 5 inhabitants 15. paid job

semi-finished 16. consumption good

Ex. 4. Look through the text again and give English equivalents to the following
Ukrainian words and word combinations:

NGk WNE

Jiep>KaBHI BUTPATH Ha iHBecTHIii 9.  po3po0isaTH (poI0oBHUIIA)

MOKpAIyBaTH 3a JOIIOMOI0I0 10. mocriitHe 301TBIIICHHS
MEPETBOPUTH HA 11. mnpame3naTHUl BiK
BaJIOBUY BHYTPINIHIA MPOTYKT 12. GesmepecraHky
MpaloBaTh, KEPyBaTH 13. BumobyTOK
OC3KOIITOBHI TOBapH 14. mignpuemenp
CHUpOBHHA 15. mTyuH1

cy0’€KT rocrnoaapchbkoi 16. y HatOmMxK9IOMY
TiSUTHHOCTI MaiilOyTHEOMY

Ex. 5. Complete the following sentences with words or word combinations from
the text:



The factors of production are resources that are the building blocks of the

economy; they are what people use to produce (1) and services.
Economists divide the factors of (2) into four categories: land, labour,
capital, and entrepreneurship.

The first factor of production is (3) , but this includes any natural

resource used to produce goods and services. This includes not just land, but anything
that comes from the land. Some common land or natural resources are water, oil,
copper, natural gas, coal, and forests. These resources can be renewable, such as

forests, or non-renewable such as oil or natural gas. The (4) that resource
owners earn in return for land resources is called rent.
The second factor of production is labour. Labour is the (5) that people

contribute to the production of goods and services. Labour resources include the work
done by the waiter who brings your food at a local restaurant as well as the engineer
who designed the bus that transports you to some place. It includes an artist’s creation
of a painting as well as the work of the pilot flying the airplane overhead. If you have
ever been paid for a job, you have contributed labour resources to the (6)

of goods or services. The income earned by labour resources is called wages and is
the largest source of income for most people.

The third factor of production is (7) . Think of capital as the machinery,
tools and buildings humans use to produce goods and services. Some common
examples of capital include hammers, conveyer belts, computers, and delivery vans.
Capital differs based on the worker and the type of work being done. For example, a
doctor may use a stethoscope and an examination room to (8) medical
services. Your teacher may use textbooks, desks, and a whiteboard to produce
education services. The income earned by owners of capital resources is interest.

The fourth factor of production is entrepreneurship. An entrepreneur is a person
who combines the other factors of production — land, labour, and capital — to earn a
profit. The most successful (9) are innovators who find new ways to
produce goods and services or who (10) new goods and services to bring
to market. Without the entrepreneur combining land, labour, and capital in new ways,
many of the innovations we see around us would not exist. Think of the
entrepreneurship of Henry Ford or Bill Gates. Entrepreneurs are a vital engine of
economic growth helping to build some of the largest firms in the world as well as
some of the small businesses in your neighbourhood. Entrepreneurs thrive in
economies where they have the freedom to start businesses and buy resources freely.

The payment to entrepreneurship is profit [https://www.stlouisfed.org/education/economic-
lowdown-podcast-series/episode-2-factors-of-production].

Ex. 6. Make the words negative by using the prefix dis-:
EXAMPLE: satisfaction [ dis + satisfaction = dissatisfaction

ability connect approve
engaged comfort obey
pleasure agree qualify

Ex. 7. Combine these sentences by using not only ... but also. This combination
creates a contrast.



EXAMPLE: Money is a means of exchange. Money is a means of measuring men’s
labour. [J Money is not only a means of exchange, but also a means of measuring

men
1.

2.

s labour.

The economic activity is the sum-total of our individual economic activities. The
economic system is the general situation that influences our individual activities.
This scheme is acceptable to both the management and the trade unions.

This scheme has the government approval.

The factory is producing less every year.

The factory is losing valuable workers.

The government has set up a new economic commission.

The government has begun to consider a change in the law very seriously.

The situation interests economists considerably.

The situation has certain features that make it highly unusual.

Ex. 8. Translate into English.

1.

dakTopu BMpOobHMLUTBA — pecypcu, HeobxiaHi ans BnpobHmMuTBa TOBapiB abo
nocayr. KnacnyHmmm daktopamm BupobHMUTBA € poboya cuna (BCi po3ymMoBi
Ta ¢i3nyHi 3ai6HoCTi ntoaen), semns (NpupoaHi 6aratcTea), Kanitan (HasABHi,
BMpOoONeHi 3acobu BUPOOHMUTBA, a TakoXK ¢diHaHCOBMI Kanitan). YetsepTum
$aKTopoOM BBAXKAETbCA NIANPUEMAMBICTD, fiIKa 06’eaHYE nonepegHi Tpwu
dakTopMu.

Poboya cuna Ak PpakTtop BUPOOHUUTBA € Pi3UYHOIKO Ta iHTENEKTYyaNbHOO
AIANBHICTIO NOAWHW, CNPAMOBAHOK HA BUPOOHMUTBO E€KOHOMIYHMX bnar i
HagaHHA nocayr. Llein ¢aKTop XapaKTepu3yeTbCA TaKUMM MNOKA3HUKAMM:
3ara/IbHOK YMCENbHICTIO NPaLLe34aTHOr0 HaceNeHHA, YNCENbHICTIO 3aNHATUX Y
Pi3HMX cdepax EKOHOMIYHOI AiANbHOCTI, piBHEM OCBITM, KBanidikaui€
pob0o40i cnnKn, NPOAYKTUBHICTIO NpaL TOLWO.

3emna Ak ¢pakTop BMPOOHMLTBA BKAKOYAE B cebe camy 3emMt0, @ TAaKOXK NiCOBI
M BOAHI pecypcu Ta iHWI nNpupoaHi 6araTcTBa, WO BMKOPMUCTOBYHOTbCA Y
BMpOBHUYOMY npoueci. MpupoaHi pecypcn — ue Bce Te, WO AoanHa bepe 3
npupoam i 3a AONOMOrOH CBOEI NpaLi NepeTBOPIOE HAa NPOAYKT 3a40BONIEHHA
B/IaCHUX noTpeb.

Kanitan — ue Bci 3acobu BMPOOHMUTBA, CTBOPEHI NOAUHOM: MPUMILLLEHHA,
obnagHaHHA, MaTepianu, a TaKoX KowTh, TO6TO rpowoBMA Kanitan,
NPMU3HAYEHUN ANA  OpraHisauii  BMpobHMUTBA. Kanitan Mmoxe 6yTu
npeacTaBNeHU  MalWMHaMMK, CTaHKaMKM, 0b6/agHAHHAM, Ccrnopygamu,
TPaHCNOPTHUMMK 3acobammn, CMPOBMHOID, MaTepianamu, AKi 3a4iaHi y NPoLEeCi
BMPOOHMUTBA. Kpim TOro, Kanitan BUCTYNa€E y BUIMAAI NEBHOI CYMU TPOLLENR,
HeobxiaHOT NiANPUEMLIO, AKMA PO3NOYMHAE CBOK AifNbHICTb, AN NnpuabaHHA
3aco6iB BUPOOHULTBA Ta HAMMAHHSA PoboYOoi cnau.

MNianpUeEMHMUbKI 34i6HOCTIi — ocobamBuii, cneumndiyHmMin pakTop BUPOOHULTBA,
o Bigobparkae AisNbHICTb NOAMHMU CTOCOBHO MOEAHAHHA Ta e(PEKTUBHOIO



BMKOPUCTAHHA BCiX iHWKX GaKTopiB BUPOOHULTBA 3 METOI CTBOPEHHSA baar Ta
nocAyr.

6. Bci ekoHOMIiYHi pecypcn (dakTopM BUPOOHWMLTBA) MAKOTb OAHY 3arasbHy
BNAaCTMBICTb: BOHM  abo  pigKicHi, abo HasBHIi B  obOMeKeHil
KinbKocCTi. BHacnigok uboro obmexkeHi i obcarm BMpPOOHMUTBA TOBapiB Ta
Nnocayr, TOMy CyCrniNbCTBO B KOXXHUW AaHMN MOMEHT He B 3MO3i BUTOTOBUTHU i
CNOXKUTK BeCb 06CAT CNOXKMBYMX Bnar, AKMIA BOHO XOTiNno 6 oTpumaTtu.

Ex. 9. Using the picture and the text below speak about the problem of scarcity
in economics. Provide examples where possible.

SCARCITY

food, clothing, shelter

and
labor capital
entreprencurship
~_ Limited Resources 7

Goods and services are scarce because the factors of production used to produce
them are scarce. In case you have forgotten, scarcity is described as limited quantities
of resources to meet unlimited wants. Consider a pair of denim blue jeans. The denim
iIs made of cotton, grown on the land. The land and water used to grow the cotton is
limited and could have been used to grow a variety of different crops. The workers
who cut and sewed the denim in the factory are limited labour resources who could
have been producing other goods or services in the economy. The machines and the
factory used to produce the jeans are limited capital resources that could have been
used to produce other goods. This scarcity of resources means that producing some

goods and services leaves other goods and services unproduced
[https://www.stlouisfed.org/education/economic-lowdown-podcast-series/episode-2-factors-of-
production].

VOCABULARY

English Ukrainian
achieve economic growth  gocsArTH €eKOHOMIYHOTO

3pOCTaHHS

approximately pUOIU3HO
business venture BEHUYpHUH Oi3HEC
capital stock OCHOBHHMH KaIiTa
construction business OymiBeJIbHAa KOMIIaHIs
consumption CITO>KMBAHHS

consumption good CIIO’KMBYHH TOBAp



consequence
continually

critically

depend on

deserve sth

efficiently

employed labour force
employment level
entrepreneur

entrepreneurship
expand
experience (n)
exploit (v)
extraction

factor inputs

fixed capital

free good

Government investment
spending

Gross Domestic Product
(GDP)

human capital

improve through

in the long run
in the near

in the strict economic
sense

increase (n) to
infinite

initial idea
machinery

make into

man made

national labour force
natural resources
non-marketed output
of about 5 inhabitants
operate

operate a business

HACJI1JI0K
Oe3nepecTaHKy
BaYKJTMBO, KPUTHYHO
3aJIe)KaTu Bl
3aCIyTOBYBaTH
e(hEeKTUBHO

3aifHsATa podoya cuia
piBEHb 3alHATOCTI
cy0’€KT rocrnoaapchbkoi
IISTTBHOCTI
niAnpUeMelb
PO3IIMPIOBATH

JIOCBI1J

po3pobIATH

POJIOBHIIIC

BUTPATH (PaKTOPiB
BUPOOHUIITBA

OCHOBHHM KaIliTa
0€3KOILITOBHI TOBapU
JIep>KaBHI BUTPATH Ha
IHBECTHILIIT

BaJIOBU BHYTPIIIHII
IPOIYKT

JIFOACHKAN KamiTal
MOKpAIlyBaTu 3a
JIOTIOMOT OO

B KiHI[EBOMY PaxyHKY

y HAaHOIMKIOMY
MaOyTHEOMY

B CYBOPO €KOHOMIYHOMY
CeHci

30UIBIIEHHS 10
HECKIHYCHHUH,
HE3JIIYeHHUH,
HEOCATHEHHUN

TepBiCcHA i1es

TEXHIKa, yCTaTKyBaHHS
NIEPETBOPUTH HA

MTY4HI

HallloHaJbHA poOoYa cuiia
IPUPOJIHI pecypcu
HEPUHKOB1 TOBapU
3 IPUOJIM3HOD MEITKAHI[IB
IpaIroBaTh
yIpPaBISATH O13HECOM



opportunity cost

output

paid job

pOSSess

productive potential
productive resources
raised capital

raw material

real estate
recognition

regard as
semi-finished
separate (adj)

social capital
success

training

working age
working capital

BUTPATH HCBUKOPHUCTAHUX

MOXKJIMBOCTEN
OPOYKIIS
oruiauyBaHa po0oTa
BOJIOAITH
BUPOOHUYUH TOTEHIIIAI
BUPOOHHUYI pecypcu
3aJIy4eHU KamiTasn
CUPOBHHA
HEPYXOMICTh
BU3HAHHS

BBAXKATU
HaniBadpukar
OKpEMHUI

COLllaJIbHUI KaIriTai
ycmix

HaBYaHHS, MIJrOTOBKA
nparne31aTHUi BiK
000pOTHHI KarmiTan



Unit 6 SUPPLY AND DEMAND

PRE-READING

1. Match these definitions with the words they define:

1. glut a) the amount of something that can be produced
and made available for people to buy;
2. demand b) the situation in which there is too much of

something, especially goods or raw materials,
so that not all of it can be sold or used;
supply c) the quantity of a good that people will buy at
any time depending on its price.

w

READING

2. Read the following text and check your answers:

Almost every holiday season the most popular “must have” thing is in short
supply. And there is usually a strong secondary market for the item — with people
paying well over the retail price just to make their close people happy. Then, in
January, stores reduce the prices of their remaining holiday items — cards,
decorations, and so on.

Why do people and stores behave this way? The answer is in the laws of supply
and demand.

After all, we all have limited resources, and we all have to decide what we’re
willing and able to purchase and at what price. Demand is defined as the quantity
demanded at any given price over some given period of time. With very few
exceptions, the quantity of the demanded good increases as the price decreases.

As an example, let’s look at a simple

e model of the demand for petrol. If the

price of petrol is £2.00 per litre, people

M may be willing and able to purchase 50

o ™~ litres per week, on average. If the price

$1.00 e drops to £1.75 per litre, they may be able

- to buy 60 litres. At £1.50 per litre, they

0o e e e may be prepared to purchase 75 litres.

R A ke e Note that while some petrol usage is

essential — driving to work, for example —

some is optional. Therefore, as petrol prices drop, people may choose to make more
optional trips during weekends, etc.

So there is an “inverse” relationship between price and quantity demanded. When
you draw the relationship, you get a downward-sloping line, like the one above. The

$2.00

Price per liter




Law of Demand states, *Other things being equal, more will be demanded at lower
prices than at higher prices.’

While demand explains the consumer side of purchasing decisions, supply relates
to the producer’s desire to make a profit and is defined as the quantity of a
commodity which is supplied at any given price over some given period of time.

The matter is that suppliers tend to have different costs of production: only the
most efficient producers can make a profit at a low price. At a high price, even high
cost producers can make a profit, so high prices encourage producers to make more
while consumers will stop buying their goods sooner or later. This can lead to over-
production and a glut on the market which may cause prices to fall sharply.

On the other hand, if prices fall either
locally or throughout the world, producers

. will reduce their production which will
8250 | result in a shortage of goods on the

market. This may mean serious difficulties
for manufacturers, and may cause them to

Figure 2: Supply of Gasoline

$2.00

% i g go out of business completely.

5 Because suppliers want to provide their
$1.00 products at high prices, and consumers
s want to purchase the products at low

s 70 % Mo 130 150 prices, there is a “direct” relationship
Litrs purchased per week per person between the price and supply of goods.

The supply curve shown above has an
upward slope and demonstrates how the
Law of Supply works: “More will be supplied at higher prices than at lower prices.”
Let’s go back to our petrol example. If oil companies try to sell their petrol at
£2.15 per litre, do you think they’ll sell as much? Probably not. Yet, if oil companies
lower the price to £1.20 per litre, consumers will be very happy, but will there be
enough profit? And furthermore, will there be enough supply to meet the higher
demand by consumers?
To answer all these questions and determine the price and quantity of goods in the
market, we need to find the price point where consumer demand equals the amount
that suppliers are willing to supply. This is what the economists call the market

“equilibrium” [Tom McArthur. A Rapid Course in English for Students of Economics / Tom
McArthur. - Oxford University Press, USA, 1997. - 138 p.;
https://www.mindtools.com/pages/article/newSTR_69.htm].

Price elasticity also affects supply and demand. This term is used

~—"%_ to see how sensitive the supply/demand of a good is to a price

% change. The higher the price elasticity, the more sensitive producers

and sellers are to price changes. A very high price elasticity

suggests that when the price of a good goes up, sellers will supply a great deal less of

the good and when the price of that good goes down, sellers will supply a great deal

more. A very low price elasticity implies just the opposite, that changes in price have
little influence on supply/demand.



PRACTICE

Ex. 1. Find the words or word combinations in the text to substitute the

following:
1. tobuy 9. atthe beginning
2. again, benefit 10. something pleasant and
3. make (smb) realize satisfying
the truth 11. functioning effectively
4. to the full or entire extent 12. extreme excess
5. deficit 13. a price for a commodity sold
6. inaddition in small quantities
7. inspire with confidence 14. sensitivity of demand for goods
8. make sb do sth (cause) to changes in price

Ex. 2. Answer the questions:

1. What does the word ‘Demand’ refer to?

2. What does a rise in prices encourage?

3. What does the Law of Demand state?

4.  What is the definition of ‘Supply’?

5. How do market prices affect the amount of goods produced?

6. What does a fall in prices cause?

7. What does the Law of Supply state?

8. What examples can illustrate the laws of Supply and Demand?

9. What is important point for firms?

Ex. 3. Say whether these statements are true (T) or false (F), and if they are false

say why.

1. Supply does not refer to the amounts which traders are prepared to sell.

2. Prices for “must have” are constantly high.

3. Our decisions on how to use our money show what we need most and
what we are willing to do without.

4, The laws of Supply and Demand deal only with people’s needs and
wants.

5. When people offer money for particular goods, they show that demand
exists.

6. Prices and quantity do not effect each other.

7. Changes in prices lead to a change in the quality of a commodity.

8. When there is a glut on the market, demand decreases and prices fall.

Q. Over-production encourages producers to make more of the commodity.

10. According to the Law of Supply, a rise in prices tends to reduce people’s

needs and wants.



Ex. 4. Look through the text again and give Ukrainian equivalents to the
following English words and word combinations:

1. supply 8. furthermore

2. convince of 9. market equilibrium

3.  “direct” relationship 10. upward slope

4. a‘“must have” 11. scale of preferences

5. inresponse to 12. strong secondary market for
6. inelastic 13. glut

7. law of demand 14. other things being equal

Ex. 5. Look through the text again and give English equivalents to the following
Ukrainian words and word combinations:

1. BuUpOOHMYI BUTpATH 8. KOpHUCTyBaTHUCS IIPaBOM
2. chajaHa JiHisg BUOOpY

3. 3a JaHui yac 9. Oyrtu nediuuToM

4, cmoyaTky, IepI 3a Bce 10. HaABUPOOHMIITBO

5. 3aKOH IMPOIO3HUIIiT 11. 3BopoTHa 3aJEXKHICTD
6. 3aJ0BUIBHSTH MOIMUT 12. kynyBatu

/. 3araJIbHUN MOMUT 13. 3aoxouyBaTn

Ex. 6. Complete the following sentences with words or word combinations from
the text:

1. is elastic when a small price has a relatively large effect on the
amount supplied.

2. Sometimes it takes long to your production to market conditions.

3. of any commodity can create difficulties.

4. to your letter I inform you that your order has been received.

5.  Supply is elastic when the amounts for sale can be easily and quickly

6. they are good suppliers but on the other they are bad payers.

7. This commodity glut many difficulties in the economy of the country.

Ex. 7. Change these sentences using the auxiliary verbs do or did. These verbs
are used for emphases.

EXAMPLE: 1. These goods and services have a value.

These goods and services do have a value.
2. The people went to city to find work.
The people did go to the city to find work.

These factors have an effect upon the economic system.

The management tried to change the methods.

The representatives of the employers and employees met last week.
The decision made by the trade unions affects everyone in the industry.

PN



5. Short-term economic anarchy has a bad effect on longterm stability and
investment.

6. The surplus money provided capital for a new building scheme.

7. Stable conditions led to an improvement in the general state of the economy.

8. The government encourages new commercial enterprises.

9. Achange in government usually means a change in policy.

10. The minister wanted to make a fundamental change in the national policy.

Ex. 8. Below are pairs of the sentences. In the first sentence there is a verb in
italics. In the second sentence there is a blank. Make the italicized verb into a
noun in order to fill the blank.

EXAMPLE: manage [] manage + ment [J management

1. It is sometimes necessary to adjust the quantity of goods flowing on to the

market. This Is made according to market conditions.
2. He arranged the committee meeting. His were very efficient.
3. The government encourages private enterprise. Their sometimes

takes the form of financial help.
4. Some economists are interested in measuring changes in the price of essential
commodities. This extends over a period of years.
5.  The management tried to assess the amount of money needed for the plan. The
was to be made by a special committee.
6. He decided to invest his capital in the new enterprise. His might be very
profitable.

Ex. 9. Many words are formed by adding -able. Do the exercise.

EXAMPLE : Fruit can perish. [ Fruit is perishable.
NOTE that can is not always necessary in the first sentence.

The plan can work.

Market conditions can change.
Economic conditions can vary.
These policies suit (us).

Those products have a value.
Some investments make a profit.

ok wdrE

Ex. 10. Supply the missing articles where necessary:

EXAMPLE: There is supply of steel. supply of steel is
increasing.
There is a supply of steel. The supply of steel is increasing.

1. Thereis shortage of bananas. shortage of bananas will continue
for some weeks.



There has been change of government. change in government

will probably mean a change of policy. change of policy may lead to
short period of instability. short period of instability could create
feeling of insecurity.
The speaker suggested special commission to study economic
conditions. He said that special commission should examine all aspects
of national economic life. commission should investigate
demands of workers and conditions under which they work. It
should also hear views of employers. Such commission
would render very valuable service to nation.

Ex. 11. Translate into English.

1.

[ocBia KpaiH, y AKUX PYHKLIOHYE PUMHKOBA EKOHOMIKA, CBiAYMUTb, WO BOHA AB/AE
cobolo mMexaHi3m, AKUM Npautoe ePeKTUBHO, i BAXKAMBUMU eNeMeHTaMn Lboro
MeXaHi3My € NoNuT i npono3uuia. Bsaemogia nonuty i npono3uuii popmye LiHM Ha
TOBapu Ta NOCAYTW.

. KinbKicte 6nar Ta nocnyr, sKki cnouBaudi 6axaloTb Ta MaAOTb MOMKAMBICTb

npuadaTM Ha [AHMW MOMEHT Ta B AaHOMY Micui, 3BeTbCcA nonutom. Monut
3aN1€eXNTb He TiINbKW Big LiHW, ane 1 Bif KiNbKOCTI TOro ToBapy Ha puHKY. LLob6 Ha
PUHKY He 6yno 3aToBaptOBaHHA, BUPOOHMKM KOHTPOIOKOTbL KiJIbKiCTb TOBapy Ha
PUHKY Ta nNPUCTOCOBYIOTb MOr0 A0 PUHKOBUX BWUMOr. 3 oaHoro 60Ky,
nepesmMpobHMUTBO NPM3BOAMTL A0 MAAIHHA UiH Ta nNpumMmylwye BUPOOHMKIB
3aKpuWBaTK CBOI NiAMNPUEMCTBA, 3 iIHWOTrO — Ue Hinblue BNaWTOBYE NOKYNLIB.

. Mpono3unuja — ue KiNbKiCTb NPOAYKTY, AKY BUPOOHWKM 6axkaloTb Ta MaloTb

MOMK/IMBICTb MOCTAaBUTU HA PUHOK 33 MNEeBHUM nepiofd 4yacy. binblw BMCOKa UiHA
CTUMYNIOE MNigBULLEHHA npono3unuil. EKOHOMICTM pPO3pIi3HAIOTL MNPOMO3ULLII0
OKpemMunx TOBapiB, NEBHOI rpynu ToBapiB i CyKynHy npono3uyito. CyTb 3aKOHY
npono3uuii NoNArae B TOMy, WO 3POCTAaHHA LiH 3yMOBAIOE 36inblIEHHA Npono3nLii
TOBapiB i, HABNAKKU, 3HUXKEHHA LiH HAa TOBApPW BeAe A0 3MEHLUEHHA iX Npono3unuii.

. LliHa nonuTy — ue makKCcMmanbHa LiHa, AKY CNOXMBaYi roTOBIi 3anNpoOnoOHyBaTH 3a

NeBHUI ToBap. 3HUXKEHHS LUiHM Bede A0 BiANOBiAHOro 36inbweHHA nonuTy (3a
iHWMX He3MiHHUX ymoB). Mix LjiHOIO ToBapy Ta obcArom Moro nponosuuii icHye
npAMa 3aseXKHicTb. Yum BULWOK € UiHA Ha ToBap, TMM binblly MOro KiNbKicTb
NnocTa4yaNbHUKN TOTOBI 3aNPOMNOHYBATW, OCKINbKWU Bid, UbOro 3aNeXKUTb iXHIil
npmnbyToK. CnoXmBaudi X KynywTb pedi 3rigHO 3i CBOE LWIKANOK nNepear, Ae
nepuwe micue 3aimatoTb TOBapu Neplioi HeobxiagHOCTI, Aani — npeaMeTH PO3KOLLi.

. UiHn Ha HadTy BnanmM B LbOMY pPeErioHi Ta MO BCbOMY CBiTy, TOMY BUPOOHUKMK

NpPoAatoTb CBOK NPOAYKLiO 32 HU3bKMMMU LLiIHAMU, 32 BUHATKOM TUX BUAIB NANINBA,
AKi He KOPUCTYIOTbCA NONUTOM. BOHM 3myLLeHi 3anponoHyBaTn 40 NPOAAXKY yBecCb
3anac CBOro ToBapy, HaBiTb AKLWO Le He MOKPMUE IX BUTPaTW.



QUESTIONS FOR DISCUSSION

1. For each pair of commodities, state which you think is the more price elastic and
give your reasons: perfume and salt; penicillin and ice-cream; cigarettes and
books; ice-cream and chocolate ice-cream.

2. What will a rise in price do to total revenue when demand is elastic or inelastic?
What will higher quantity do in these cases?

Extend the idea.
1. Demand is very essential for a firm’s prosperity.

2. We exercise our choice according to our scale of preferences.
3. Evensmall changes in prices have effects on demand.

VOCABULARY

English

on average

be in short supply
cause (V)
completely
convince

costs of production

“direct” relationship
downward-sloping line
efficient

elasticity
encourage
exercise one’s choice

fall (v)

furthermore

at given period of time
glut

In response to
inelastic

initially

“inverse” relationship
law of demand

law of supply
luxuries

Ukrainian

B CEPCIHBOMY

Ooytu nedirurom
BUKJTMKATH

MOBHICTIO
3aIlIeBHIOBATH
BUPOOHUY1 BUTPATH,
co0O1BapTICTh

npsiMa 3aJ1IeKHICTh
crajHa JIHis
¢(eKTUBHHM, TIEBUH,
MIPOJYKTUBHUM,
KBaTi(hiKOBAaHUM,
CIIACTUYHICTh
320X09yBaTH
KOPUCTYBaTHCS IIPaBOM
BUOOPY

najgaTu

OLIBII TOTO, IO TOr'O XK
3a TaHWUW Yac
TepeHACHYCHHS

y BIZIIOBIJIb HA
HEEJaCTUYHU I
CITOYATKY, TIEPIII 32 BCE
3BOPOTHA 3aJICKHICTh
3aKOH ITOITUTY

3aKOH MPOMO3UIIii
peAMETH PO3KOIIIi



make a profit
market equilibrium
meet the demand

a “must have”

other things being equal
over-production
purchase (v)

scale of preferences
shortage

strong secondary market
for

total demand

upward slope

OTPUMYBATH NPUOYTOK
pPUHKOBA piBHOBara
3aJI0BUIbHSITU TTOMUT

Te, 1110 Tpeba 000B’I3KOBO
MaTu

3a IHIIUX PIBHUX YMOB
HAJBUPOOHULITBO
KyIyBaTH

IIKaja nepesar

nedinuT, HecTavya

CTaJIMi BTOPUHHUM PUHOK

3arajJibHUU TOITUT
HaXWJI BrOPYy



™ Unit 7 MARKET STUDIES

KET:

LIV

The market controls everything,
but the market has no heart.
Anita Roddick

PRE-READING

1. Match the following dictionary definitions from column A with the
appropriate type of market from column B:

A B
1. small food shops a) covered
2. sheltered markets b) mini
3. market places in the open air c) flea
4. markets that sell cheap d) outdoor

second-hand goods

2. Working in pairs, discuss how markets have changed for the last century.
Give examples and spot as many differences as you can.

READING

Read the text and check your answer:

In the modern economy, most economic activity takes place in markets, places
where buyers and sellers come together to trade money for a good or service, i.e.
make transactions. A market doesn’t have to be a physical place; in fact, many
markets nowadays are fully computerised and exist only in cyberspace (such as the
world sugar market or online music stores, etc.). Such a market is simply a set of
conditions, permitting buyers and sellers to work together. Each commodity market
IS subject to special conditions and differ from one another in a number of
participants, nature of products and in ways of entering the market but they all tend to
behave in the same way, which means we can study markets in general instead of
having to study each one separately.

Price,, Figure 1 shows a demand curve and a supply
curve on the same axes. We label the market
price and market quantity as P* and Q%,
respectively. What makes this price and this
' S quantity special is that at price P*, the quantity

that buyers demand is equal to the quantity that
e producers want to supply, i.e. the quantity
» demanded equals the quantity supplied.

i Quiniity

Supaly Crnatkild




Economists use the model of the equilibrium of supply and demand to show how
markets determine the market price and the market quantity (the prices and amounts
of goods and services sold respectively).

This inherent stability is great because it means that markets are self-correcting,
and when you know where the demand and supply curves are, you know where prices
and quantities are going to end up. The market participants — buyers and sellers —
move the market towards equilibrium without the need for any outside intervention,
such as government regulations.

Remember though that governments often interfere in the market to prevent the
market equilibrium from being reached. Such interventions happen because
politically influential buyers think the market price is too high, or because politically
influential sellers think the market price is too low. Sometimes the government
intervenes in a market to ensure that the price stays below the market equilibrium
price. It should be noted that prices below the market equilibrium normally rise,
and therefore these policies are called price ceilings, because they prevent the price
from rising too high. Prices hit the ceiling and then go no higher. The opposite sort
of market intervention happens when the prices seem to be too low and there is
excess supply on the market. To prevent the price from falling, the government steps
in and buys up the excess supply to keep the price above its market equilibrium
value. (Go to p. 126 to read more on this).

Classical economists developed the theory of perfect competition where perfect
competition is the market where there is a large number of buyers and sellers,
freedom to enter and leave markets, a complete flow of information, etc. Perfect
competition exists when many firms within a given industry are all producing
identical (or nearly identical) products using identical production technology. Every
firm is a price taker, i.e. has to accept the market equilibrium price for what it
produces — because its output is a very small fraction of the industry’s total output.

Though there is no actual perfectly competitive market in the real world, a number
of approximations exist: e.g. a large range of identical goods with all potential
buyers and sellers present; a stock exchange resembles this by design but no markets
may satisfy all requirements of the model. Anyway it is necessary to build such
models up as they provide a gold standard against which we judge about all other

economic institutions [Peter Antonioni. Economics for Dummies / Peter Antonioni, Sean
Masaki Flynn. ; [2nd Edition]. — Chichester : John Wiley & Sons, 2011. — 420 p.].

PRACTICE

Ex. 1. Find the words or word combinations in the text to substitute the
following:

1. share 9. under the influence of

2. define 10. to keep from happening

3. rivalry 11. existing as an inseparable part

4. to make up 12. capable of regulating itself without
5. movement external aid



6.
7.
8.

allowing 13. aline representing statistical data,

to exchange on a graph

a state of balance 14. when operations within a system are
performed by means of a computer

Ex. 2. Using the information in the text say whether the following statements are
true or false:

1.

The ancient idea of a geographically fixed marketplace has been

extended to cover a set of conditions, which permits buyers and sellers to work

together.
Markets vary in location, types, geographic range and size and tend to

behave in different ways too.

The model of equilibrium of supply and demand is used by economists

to study real markets.

Market transactions made by both buyers and sellers tend to destroy the

market equilibrium.

Government may set up price ceilings to keep market prices low.

Competition in a perfect market is conducted in a completely free way
and numerous buyers and sellers enjoy easy communications.

There are no perfect markets in practice but economists need them to

keep balance between supply and demand curves in real world markets.

The lowest price which buyers will offer is the only price in a perfect

market.

Ex. 3. Answer the questions:

NogakowdE

Ex.

What is the difference between the original and modern ideas of the market?
What is necessary to create a market?

Why is each commodity market subject to special conditions?

How can you prove that any market is a self-correcting system?

What measures do governments take to regulate market prices?

What is a perfect market like? Provide your own examples.

What conclusions can economists make studying the model of perfect
competition?

4. Look through the text again and give Ukrainian equivalents to the

following English words and word combinations:

LNk~ wWdE

to trade smth for 9. make transactions
respectively 10. stock exchange
total output 11. expedient
inherent 12. approximation
price ceilings 13. flow of information
requirement 14. judge

axis 15. to equal

production technology 16. market equilibrium



Ex. 5. Give English equivalents to the following words and word combinations
from the text:

1. BCTaHOBIIOBATH I[IHU 10. Takwuii 110 3aJ0BOJIBHSE

2. 4acTka 11. nepkaBHE peryatoBaHHS

3. HabiamxeHa Bepcis 12. eranon

4. xpuBa (J1iHIs) 13. pi3ko 3pocTaTH (Mpo LiHK)

5.  PpO3pI3HATH 14. mapkupyBaTH; MITUTH

6. 4YHCTa KOHKYpEHIIis 15. exoHOMIYHUU CYy0’€KT, KU

/. Halip ymMOB HE CIPABJISE BIUIMBY Ha I[IHY

8. kibepmpocTip (Ha pUHKY)

9. piBHOBa)kHa LliHA 16. HagIMIIOK MPOMO3UIIIT

Ex. 6. Complete the following sentences with words or word combinations from

the text:

1.  When most people think of a , they think of a physical place, like
their neighborhood supermarket, complete with shoppers and shelves stocked
with a wide range of goods.

2. In economics, however, a market need not be a physical location. Where you
have and of a particular product or service, you have a

3. Producers have fixed too high prices, i.e. hit the so the government
will to set up the market :

4. Market conditions permitting market to make depend on
its location and economic situation in the country.

5. Though prices are to sudden increases the conditions of the market
are flexible so that the market can adjust to any changes and does not require any
government :

6. The equilibrium of price and quantity happen where the demand

crosses the supply

Ex. 7. Complete the following sentences with prepositions where necessary:

1.

2.

Monopoly and perfect competition differ one another

many factors.

In a market economy a very strict competition takes place buyers and
sellers the market.

Modern markets create such conditions that make hard for a new product to

enter a market.

The market equilibrium price shows that everyone who wants to buy

that price can do so, whereas everyone who wants to sell that price

can also do so.

Unless we introduce any outside forces demand and supply curves always move
the market equilibrium.



6.

7.

In case there is excess supply the government steps and buys it all

Supply and Demand model serves the gold standard
which the market conditions are judged.

Ex. 8. Extend the idea:

1.

2.
3.

On the one hand each commodity market is unique but on the other hand there is
a general tendency that can be studied...

The government interferes to control prices...

Perfect competition is an ideal market structure...

Ex. 9. Translate into English:

1.

PUHOK — ue peanbHe (Pi3nyHe) micue, Ae cnoxmBay Mae 3mory Kynutu abo
npogatn ToBapu i nocayrn, To6TO 3AIMCHUTM EKOHOMIYHY AiANbHICTb, LWO
nos’A3aHa 3 0bMiHOM TOBapiB i NOCAYr Ha rpoLwi. B Takomy BUIrNAAi PUHOK iCHYE
BipTyanbHo (y KibepnpocTopi), i BCi onepauii komn'toTepusoBaHi. KoKeH pUHOK
NiaaaeETbCA 0COONMBUM YMOBAM | MOXKe BiAPI3HATUCA KiNbKICTIO YY4aCHUKIB PUHKY,
TMMNOM TOBapIB i NOCAYr i cnocobamum BUXOA4yY Ha PUHOK.

. BUKopucrosytoun mogens pisBHOBary nonuTy i NPONoO3uLLii, EKOHOMICTU BUBYAIOTb

MOMNUBI BigxuneHHA B Ty abo iHWy cTopoHy. Kpim TOro, ue p[03BONAE im
BU3HAUMTU PUHKOBY LiHY i KiNbKiCTb TOBApPiB Ha PMHKY B NeBHUM nepioa. Koau ui
MOKA3HMKM MEepeTUHAOTbCA HA KPMBIM MONUTY i KPWUBIN NPOMNO3uLii, MOXKHa
roBOPUTU NPO PiBHOBAry PUHKY.

. Cnip, 3a3HauYMTM NOCTINHY TEHAEHLUI0 PUHKY A0 CTabiNnbHOCTI i camoperyntoBaHHA,

a byab-AKe BTPYYaHHA ypsaay BBaXKaeTbCA HeBaXKaHMUM.

. B poku [pyroi cBiToBOI BiliHM B AHIAII LiHA Ha macno gopisHioBana 1,2 gon. 3a

®YHT. 3 OAHIET CTOPOHU, WBUAKUI PICT LiH HA Maca0 CNPMAB PO3BUTKY iHOAALIT, 3
iHWOI — BUKAOYAB i3 YMC/a NOKYNUiB macna Cim’i 3 HU3bKUM goxogom. Tomy 3
meToto 3anobiraHHA iHAALiT | 3 meTolo 36eperkeHHA macsia Ha cTonax bigHAKis.,
ypA4, BCTAHOBMB NOTONOK UiHM Ha piBHi 0,90 gon. Chig 3ayBa*kUTK, WO NOTONOK
LiHM Ma€E CEeHC ToAi, KON BiH € MEHLUMUM PIBHOBAXHOI LiHW, OCKiNbKK UiHa B 1,50
A0N. 33 GYHT He gana 6 NO3UTUBHOIO pPe3ynbTaTy.

. HWKHIN piBeHb UiHM — MiHiIManbHa UiHa, WO BCTAaHOB/KETbCA ypAAOM i

nepeBULLYE LiHY piBHOBarn. BoHa nepeBa*KHO 3aCTOCOBYETbCA B TaKUX BUMAAKaAX,
KONM CYCNiNbCTBY 343€ETbCA, WO BiNibHE QYHKLIOHYBAaHHA PUHKOBOI CUCTEMU He
3aatHe 3abe3neynTn AOCTaTHIM piBEHb A0XOAiIB NEBHUM Fpynam NOCTayvyanbHUKIB
pecypciB UM BUPOOHMKaM. 3aKOHOAABCTBO NPO MiHIMaNbHUN piBEHb 3apnaaTH, a
TAKOX NIATPUMKA LUiH Ha CiNbCbKOrOCNoAapCbKy MPOAYKLUi0O — ABa HaMKpaLLi
npuKknagu.

. Xo4a [0CKOHasa KOHKYpeHLUia € wsuawe abcTpakTHOWO Mmoaennto, ii aHanis

A03BOJIAIE He Nnwe 3po3yMiTh, AK GOPMYETbCA NOBeAiHKA PipM Ha PUHKY i AK B



LinoMmy PyHKULIOHYE PUHKOBA EKOHOMIKa, afie M NOPIBHATU «ideaNbHUMN» PUHOK 3
peanbHUM.

. BinbHWI BXia Ha PUHOK 3aBaxae dipmam OTPUMYBATU E€KOHOMIYHI NpPUOYTKM B
AOBrOCTPOKOBOMY MAaHi. Llen ke npouec agie M y 3BOPOTHOMY HanpAMi: KOu
NoOMNUT Ha PWUHKY 3HUXKYETbCA MICNA AOCATHEHHA piBHOBAru, ¢GipMu 3aAMLWWAKOTb

PUHOK, OCKINbKK

€KOHOMIYHUX BUTPAT.

VOCABULARY

English
approximation

axis (n., pl.axes)

be equal to smth

be subject to special
conditions

build smth up
buy up
computerised
corner the market
curve

cyberspace

differ from smth/smb in
smth

distinguish

to ensure

equal smth
excess supply

expedient

fix prices

flow of information
fraction

gold standard
government regulation

gratifying

hit the ceiling
influential
inherent

CKOpOYEHHA

nonuty pobutb

Ukrainian

HaOMmKeHHs (HaOIMKeHa
BEpCis)

BICh

PIBHATHCS; TOPIBHIOBATH
MIAIIagaTy 1114 0CO0IUB1
YMOBH; 3a3HaBaTH
0COOJIMBUX YMOB
CTBOPIOBATH, CKJIaJIaTH
CKYIIOBYBaTH

KOMIT FOTEPH30BaHM I
MOHOTIOJI3YBaTH PUHOK
KpuBa (JIiHis)
KibeprpocTip

BIJIPI3HATH, BIIPI3HUTH,
pO3ITi3HABaTH, PO3MI3HATH
BIJIPI3HATH

U1 3a0e31eYeHHS
PIBHATHUCS; TOPIBHIOBATH
HaJTUIITIKOBA MTPOTIO3HIIIS;
HAJJTUIIIOK TTPOTO3UITi{
TOIUTEHU T
BCTAHOBJIFOBATH I[IHU
noTiK iHGopMarlii

JacTKa

30JIOTUM CTaHAAPT; €TAJIOH
JIep’KaBHE PETryTIOBaHHS;
Jep>KaBHI IOCTAHOBH
MIPUEMHHM, TAKAN 110
3aJI0BOJIBHSIE

p13KO0 3pocTaTtu (PO I1HK)
BIUTMBOBHI1

BJIACTHBUI, TPUTAMAHHUI

HEMOXNTNUBUM  NOKPUTTA



interfere in
intervene in
judge

label

make transactions
market conditions
market equilibrium
market equilibrium price

market intervention
market participant
market price
output

perfect competition
permit
price ceiling

price taker

requirement

respectively

self-correcting
set of conditions
step (v) (in)
stock exchange
to prevent from

to trade smth for
total output

BTpyYaTuCs

BTpyYaTUCs

CYJIUTH; OIL[IHIOBATH;
CKJIaCTH cO01 JYMKY
MapKyBaTH; MITUTH
3[IIACHIOBATH orepanii
PUHKOB1 YMOBU
PUHKOBA piBHOBara
piBHOBaXkHa I11HA (IIiHA,
110 3a0e3nevye pUHKOBY
piBHOBAry)

PUHKOBA 1HTEPBEHIIIs
YYaCHUK PHHKY
PUHKOBA I[1HA
POIYKIisl; BAPOOHUIITBO;
o0csar BUpOoOHHUIITBA
qHCTa KOHKYPEHITis
JT03BOJISITH
MaKCHUMaJlbHa I1iHa;
MaKCUMaJIbHUN BUITYCK
MIPOJIYKIIIT TOIIIO
C€KOHOMIYHUM CY0’ €KT,
SIKMI HE CIPAaBIIsi€ BIUIUBY
Ha IIHY (HA PUHKY)

BHUMOTa; HEOOXiHA YMOBA;
noTpeda

CTOCOBHO KO’KHOT'O
30KpeMa; BiMOBiTHO, Y
BKa3aHOMY TMOPSIKY
CaMOpEeryJIr0BaIbHUI

psl yMOB

BTPYYaTHCS

dbonmosa Gipka

3aBaykKaTH, MEPEITKOKATH
(uoMychb)

OOMIHIOBATH IIO-H. Ha
BaJIOBa MPOTYKITis
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PRE-READING

1. Work as a group. Look at the company logos given below and answer the
following questions:

» What do you know about these companies?
(location, products, etc.)
» What do they all have in common?

A

Nestle mcesor FedEx

2 Qe Gt

== FMH3K «¥epanepros

—iﬁj}/— Google

Read the text and identify the types of monopolistic arrangements that those
companies present:

READING

In some markets there may be only one seller or a very limited number of sellers
working very closely together to control prices. Such a situation is called a
‘monopoly’. The target of such monopolistic activity is to fix prices at a level
suitable to the seller, a level which may bring them artificially high profits. Some
monopolies are legal. In practice, it is possible to distinguish, four kinds of
monopoly.

State planning and central control of the economy often mean that a state



government has the monopoly of important goods and services. Some countries have
state monopolies in basic commodities like steel and transport, while other countries
have monopolies in such comparatively unimportant commodities as matches.

A different kind of monopoly arises when a country, through geographical and
geological circumstances, has control over natural resources or important services,
such as water, gas, electricity and telephones where it may not be economic to have a
large number of competing companies which lay cables or pipes to the same
consumers. Such monopolies can be called natural monopolies.

They are very different from legal monopolies, where the law of the country
permits certain producers, authors and inventors to have a full monopoly over the
production and sale of their own products.

But certain companies ‘corner the market’ in order to obtain complete control
over particular commaodities. It is illegal in many countries so there are special
antitrust or competition laws which operate to restrict such activities.

The European antitrust policy is based on two central rules stating the following:

« to prohibit any agreements between two or more independent market
operators which restrict competition;

» to prevent the firms holding a dominant position on a determined market
from abusing that position (e.g. by charging unfair prices, by limiting production, or
by refusing to innovate to the prejudice of consumers).

The Competition Commission examines all special arrangements and mergers
which may lead to undesirable monopolies and is empowered to apply these
prohibition rules and impose fines on undertakings which violate the EU antitrust
rules.

In some cases, however, the benefits of monopolies outweigh their costs and
public monopolies arise to do society a lot of good. They serve the general public
and their primary goal is not profit maximization, e.g. public utility companies
(water, electricity and gas) and Internet service providers in remote areas.

This may also refer to natural monopolies or monopolies concerned with
intellectual property, such as copyright, trademarks, patents. Patents give inventors
the exclusive right to market their inventions for 20 years before they become
public property. Monopolies are also vitally important in the context of innovation
because without them inventors are unlikely to ever see any financial reward for
their hard work: copycats are likely to steal their ideas and flood the market with
rip-offs, thereby collapsing the price. Consequently, in a world without patents, far
fewer people would bother to put in the time, effort and money required to come up
with new inventions.

Apart from monopoly economists distinguish three more market structures,
including perfect competition, oligopoly and monopolistic competition. Of the four
market types, the one that has the most market power is monopoly. Such markets
are characterized by an absence of economic competition, technological
superiority, no substitute for goods sold and a seller having full control of market
power (the ability to lower and raise the prices without losing customers).

A monopolistic competition is an industry infrastructure combining features of
both competition and monopoly. The industry comprises many firms, which offer



substitute products, and many buyers. Although the products are substitutes, they
are differentiated on the basis of physical attributes, image, advertisements and
accompanying services. For example, Dominos and Pizza Hut offer pizza but it
differs in ingredients, recipes and taste. Companies within the industry can gain
monopoly over their competitors by offering superior products or service.

In many sectors of the economy there can be found oligopolies* where a few
producers dominate the majority of the market selling similar or different products,
e.g. tobacco companies or airlines. Sellers compete with each other by aggressive
advertising and improved service delivery. An oligopoly sets barriers to make it
difficult for new sellers to enter the market. Barriers include patent rights, financial

requirements and legal barriers [Tom McArthur. A Rapid Course in English for Students of
Economics / Tom McArthur. — Oxford University Press, USA, 1997. — 138 p.; Peter Antonioni.
Economics For Dummies / Peter Antonioni, Sean Masaki Flynn. ; [2nd Edition]. — Chichester :
John Wiley & Sons, 2011. — 420 p.].

< * It is a market in which only a few sellers operate, each one
produces enough of the total output to be able to affect the market

price. For example, there are two major producers of cola-

flavoured fizzy drinks: Coke and Pepsi. These two corporations produce such large
fractions of the total output that if one were suddenly to increase supply, the market
price of cola-flavoured fizzy drinks would drop dramatically. An increase in output
made by one company causes the price to decrease for other companies in the market
as well [Peter Antonioni. Economics For Dummies / Peter Antonioni, Sean Masaki Flynn. ; [2nd

Edition]. — Chichester : John Wiley & Sons, 2011. — 420 p.].
PRACTICE

Ex. 1. Find the words or word combinations in the text to substitute the
following:

1. the exclusive right to produce 7. the promotion of goods/services for sale
copies and to control an original 8. the difference between the
work, granted by law for price received for a product
a specified number of years and its cost
2. the market condition that exists 9. characteristic
when there is only one seller 10. supply of services
3. to break the law 11. influence
4. located far away; distant 12. to bring into operation or use
5. person who buys and uses 13. joining of two companies
goods and services 14. to be authorised

6. apublic service

Ex. 2. Using the information in the text say whether the following statements are
true or false:



A

10.

Sellers undertake monopolistic activity in order to get high profits.

Monopolistic competition market creates highly competitive conditions
permitting consumers to enjoy a wide range of goods and services at fair prices.

In the monopolistic market companies attract new customers and stay
ahead of their competitors by offering accompanying services and superior
quality of goods.

The term “monopoly” describes a market in which there is only one
seller or a very limited number of sellers, tough competition and freedom to
enter or leave market.

Market operators undertake monopolistic activity in order to serve the
public and increase living standards of the society.

States usually monopolize important public utilities to control prices and

get high profits.

Legal monopolies encourage inventors to undertake their scientific

research by allowing them to control the production and sale of those inventions.

Cornering the market is a usual business practice supported by the state and not
prohibited by law.
The Competition Commission considers undesirable arrangements in order to
restrict business mergers.

In theory there are much more types of market structures than in the

economic reality.

Ex. 3. Answer the questions:

1.
2.

o ok w

What market structures are considered to be the most widely-spread?

What illegal actions do certain companies take to obtain complete control over
particular commodities?

What is the main target of the monopolistic activity?

What measures do governments take to control monopolies?

What type of monopoly does the law permit inventors to have?

Which body is empowered to restrict monopolistic activities in EU countries?

Ex. 4. Look through the text again and give Ukrainian equivalents to the
following English words and word combinations:

LNk~ wNE

rip-off 9. to corner the market
competition laws 10. substitute products

to market 11. to charge unfair prices
technological superiority 12. service delivery

to be empowered to 13. total output

to gain monopoly over 14. perfect competition

to the prejudice of 15. copycat

accompanying services 16. natural monopoly



Ex. 5. Give English equivalents to the following words and word combinations
from the text:

1. nepxaBHa MOHOIOJIS 9. puHKOBa Biaja

2. 0oOMexyBaTH AiSUIbHICTD 10. aBTOpchKE MpaBo

3.  MOHOIOJICTUYHUNA 11. BcTaHOBIIOBATHU MEPEUIKOIN

4. waknagatu mwrpad 12. KOHKypeHT

5.  pexkiiaMyBaHHS 13. 37auTTS KOMMaH1k

6. BuHaxXin 14. xomyHanbHE MiNPUEMCTBO

/. MaTu JOMIHAHTHE TOJIOKEHHS 15. ymoBHOBaXXyBaTH

8. BuMmora 16. HaBOAHIOBATH PUHOK

Ex. 6. Complete the following sentences with words or word combinations from

the text:

1. The situation in which a company has no competitors on the market is called a

2. There is a large number of in the computer . This doesn’t
allow producers to high prices.

3. Giant companies in order to grow and control as
much of a market as possible.

4. Ukrposhta and British Petroleum are examples of monopolies.

5. The Commission has complete power to monopolistic
activities in the market.

6. Public monopolies are granted to public companies empowered to

essential public services like electricity, gas, water and others

especially in areas.

7. Ina perfectly competitive market multiple suppliers offer products to
gain monopolies over these goods.

8. creates extremely favourable conditions for a single buyer who can

control and regulate market prices without any competitors.

Ex. 7. Complete the following sentences with prepositions where necessary:

1.

2.

A competitive market consists many buyers and sellers, so that no
single buyer or seller can affect the market price.

Anti-monopoly Committee of Ukraine carries out its activities the
basis the legislative acts concerning economic competition
protection.

Oligopoly market operators compete each other profit
and try to make their products as distinctive their consumers as
possible.

In case of any “dominant position abuse” there is a set antitrust laws
that impose fines any illegal activities.

The inventors would stop to put their time, effort and money in their

innovative activities if the government didn’t protect their rights
copycats who are likely to rip their inventions to gain profit.



6.

7.

It was quite hard for a consumer to find a substitute
command economy where the problem of scarcity was extremely acute.

Economists are encouraged to come

a good in the

new ideas

more efficient disposal of economic resources.

Ex. 8.a. Complete the table with the appropriate derivatives from the words
given where possible. In some cases there can be more than one word:

Ex. 8.b. Make up sentences

Noun Verb Adjective
addition
compete
consume
different
economy
invent
innovate
market
manage
monopoly
profit
produce
satisfy
value
useful
utility

the parts of speech.

using the words from the table. Mind the usage of

Ex. 9. Arrange these sentences in order to make a logical paragraph about the
market and translate them into English:

1.

2.

B w

3apa3 pUHOK — II¢ MPOCTO PSJ YMOB, IO JIO3BOJSIOTH IMPOJABIO 1 MOKYIIIIO
MpaIOBaTH Pa30OM.
ExoHoMmicTH BBaXaroTh, 0 B JJOCKOHAJIOMY PUHKY Ma€ OyTu 6araTo MpoJaBIliB i
MOKYMIIIB 1 KOHKYPEHIlis Ma€ OyTH HEOOMEKEHOIO (ITOBHICTIO BUTLHOIO).
[To-meprmie, cydacHu# pHHOK HE Ma€ MEBHOTO reorpadigHOro MOT0KECHHS.

Mu MoXeMO BUIUIMTH JABI OCHOBHI BIAMIHHOCTI MDK CYYaCHMM PHHKOM 1
CTapoJIaBHIM PUHKOM.
3a3BHUyail HA pUHKY IPUCYTHS 0OMEkKEHA KUIbKICTh IPOJIABIIIB.



©

Jesiki 00’ €qHaHI MPOMUCIOBI MIIANPUEMCTBA «3aBOMOBYIOTH PUHOK» JJIA TOTO,
1100 KOHTPOJIIOBATH SIKUMCh OJIMH BHU]I TOBapYy.

[To-apyre, iM He MOTPIOHO 3yCcTpivaTUCS OCOOMCTO, BOHM MOXYTh CIUIKYBAaTHUCS
o TesneoHy abo uepe3 CBOiX areHTIB.

BueHi Ha3MBalOTh TaKy CUTYaI[1}0 MOHOMOJIIEKO.

Tomy ypsan 3MylieHuid IpuiiMaTy CeliadbHl 3aKOHU, CTIPSIMOBAaHI HA 0OMEXKEHHS
TaKUX JiH.

10. Ane 11e He 3aBXKIU MOXJIMBO Y JIHCHOCTI.

Ex. 10. Extend the idea:

1.
2.
3.

In theory economists distinguish and study four kinds of market structures
EU Competition Commission vs. undesirable monopolistic arrangements.
Types of monopoly practices in real world market.

Ex. 11. Translate into English:

1.

Ha noseaiHKy KOXXHOI QipMM BNAMBAE XapaKTep, TMM PUHKY, Ha AKOMY BOHA
GYHKUIOHYE. TUN PUHKY 3aN€XUTb Big, TUNY NPOAYKLUii, KiNbKOCTI ¢ipm, HASBHOCTI
abo BigcyTHOCTi obmerkeHb HaA BXig, B rany3b i BuXig 3 Hei, AOCTYNHOCTI
iHpOopMaLii NPO LiHM, HOBI TEXHONOTIi Ta iH.

. ABCONIOTHA KOHKYpPEHLiA Ta YMCTa MOHOMONIA — ABa EeKCTpeMasbHi BMMagKu

PUHKOBOI CTPYKTYpU. | nepuwe, i octaHHE byBae Haa3BMYaMHO pigko. Habarato
PeaniCTUYHIWOK CTafi€Ed € MOHOMOAICTUYHA KOHKypeHUuia. B yubomy Bunaaxy
dipMmK, xo4a N MatoTb CNpaBy 3 KOHKYPEHLUiE 3 BOKY iHWKUX dipm, WO Ti/IbKKU
BXO4ATb B rany3b, abo BXe iCHYHOUMX NPOAABLIB, a/ie MAlOTb KOHTPO/b HaA
LiHaMM Ha CBOI TOBapMW.

. Ha pyHKY 3 MOHONOICTUYHO KOHKYpPEHLUiE icCHYE BaraTa KinbKicTb NpoAaBLiB,

IO NPOMOHYIOTb NOAibHI (ogHOpPiIAHI) ToBapW, AKi BiApPI3HAKTLCA BMHATKOBOK
AKiCTIO, npecTuxem abo imigxkem ToOpriBenbHOI Mapku. Tomy BUPOOHUKM
3MYLUEHi KOHKYypyBaTW, BUPOOGAAKOYM AKICHI ToBapu, nNpuBEPTaOYM yBary
CNOKMBaYa Cy4aCHMM AN3aNHOM Ta ACKPABO YNAKOBKOHO.

. YcniwHa peknamHa KamnaHia NigBuLLY€E NONUT Ta CNOHYKA€E CNOXKMBaYa BigaaTn

nepesary Til YM iHWIN NpoAayKLii abo 3HANTM anbTepHaTUBY BarkaHOro ToBapy.

.Y KpaiHax 3 pO3BMHEHOI PUHKOBOKD €KOHOMIKOI MepeBaXKHO iCHYIOTb PUHKMU

MOHOMONICTUYHOI KOHKYpeHUii (BMPOOHMUTBO oaAary, B3yTTA, cdepa noCAyr,
TOpriBAs i Tak Aani), a TakoxK onirononii (aBTomobinbHa NPOMUCAOBICTD,
MeTanypria).

. Onirononia — TMN PUHKOBOI CTPYKTYpM, A€ 3a3BMYAN MPUCYTHIA LiHOBMIA nigep

abo HeBenMKa KiNbKicTb BUPOOHMKIB, fAKi BCTaHOBAOWOTbL bOap’epu, WO
nepeLwKoaXKatoTb BXO4Y iHWMM KoMNaHiaMm. ONironcoHIieEN Ha3MBaOTb PUHOK, A€
NOKYMLi, @ He NPOAABLLI KOHTPONIOOTb LiHM Ta PeryntooTb NONUT. Y Takomy pasi
ynucenbHi NPOAABLi KOHKYpPYHTb OAMH 3 OAHMM Ta 3MyLIEeHi BianosigaTu
BMMOram NOKynLuiB.



7.3rigHO 3

10.

CTaTUCTUKOO 6arato KOMNAHIN-riraHTiB  MOPYLWYOTb  3aKOH,
Hamaral4mcb  «3aXOMUTM  PUHOK», 34006yTM NOBHUIA  KOHTPOAb  Hapg
BUPOOHULTBOM Ta MNPOJaxem CBOiX TOBapiB, afie aHTUMOHOMOJ/IbHI 3aKOHMU
0bMeXKYI0Tb TaKy AifNbHICTb.

. AMKY (AHTMMOHOMNONbHUI KOMITET YKpaiHWN) 30CcepearKye yBary Ha NpoBeAeHHi

AOCNigeHb | po3cnigyBaHb HA COLIANIbHO BaXK/MBUX PUHKAX YKpaiHM, 30Kpema
Ha PMHKaxX 3 NigKkNtoYeHHA 06’eKTIB XKMUTN0BOro ByAiBHMUTBA A0 MEpPEX eNeKTpo-
, Fa30-, Tenn0-, BOAONOCTa4aHHA Ta BOAOBIABEAEHHA Ta HAAAHHA KOMYHA/IbHUX
nocAyr.

Ypsag npusHayuMB KOMICitO AN5 NepeBipKM 3an1aHOBAHOMO 31MTTA KOMMaHin A Ta
B. EKOHOMICTM BBa)KatloTb, WO Ui KOMNAHIi HamaralTbCA MOHOMOAI3YyBaTH
npoAak NobyToBMX NpuNaLiB Ha 3aXigZHOMY PUHKY.

AK nosigomnae npec-cny>kba BigaineHHA AHTUMOHOMNONBLHOIO KOMITETY YKpaiHu
B XapkiBcbKin ob6nacti, TOB «H IHKOpnopenTea» BYMHMAO MNOPYLUEHHS
KOHKYPEHLIMHOro 3aKOHOAaBCTBA, MOLWMPMBLUM Henpasamey iHGoOpMauito npo
CMOKMBYI BNACTUBOCTI NPOAYKTY Ha YNaKoBLj, Ta cnaatuno wrpad y po3mipi 50

TUC. TPH 33 HeA06POCOBICHY KOHKYpPEHLLitO.

QUESTIONS FOR DISCUSSION

Work as a group. An expert economist is giving a talk in your town this
evening. Write down five questions you will want to ask him: five things you
have never really understood about economics. Discuss possible answers in

pairs.
VOCABULARY
English Ukrainian
abuse (v.) 3TTOBKUBAHHS
accompanying CYIIyTH1, CyTpOBIiHI
services TOBapHU
advertisement pekIama
advertising peKIaMyBaHHS
affect market prices ~ matu BIUIMB Ha pUHKOBI
HA

agreement yroaa

anti-trust laws

AHTUMOHOIIOJIBHI (amep.
AHTUTPECTOBCHKI) 3aKOHU

apply (to) BUKOPHUCTOBYBATH
artificially MITYYHO
attribute aTpuOyT, BIACTUBICTH



characterize
collapse (v)
compete
competition
competition laws
competitor
comprise

copycat (n)
copyright (n., adj)

corner the market
differentiate

dominate
duopoly

duopsony
empower

exclusive right
fix prices

flood the market
(with)

free market
have control over
smth

hold a dominant
position

Impose fines
Inventor

lower

market (v.)

market power
merger

monopoly
monopsony
natural monopoly

XapaKTepu3yBaTH
IPUBECTH 10 3HUKEHHS
KOHKYPYBaTH
KOHKYPEHII1s
3aKOHHM KOHKYPEHII11
KOHKYPEHT

MICTUTH

HaciayBay

aBTOPCHKE MPABO;
OXOPOHSIETHCS ABTOPCHKUM
IpaBOM

‘OXOIUTIOBAaTH PUHOK
PO3PI3HATHUCS;
nudepeHIitoBaTuCs
JIOMIHYBaTH
JTyOTIOis
JTyOTICOHIsI
yIIOBHOBa)KYBATH,
nopydaru
€KCKJIFO3UBHE MPaBO
BCTAHOBJIIOBATH LI1HU
HABOJHSITH, HABOJTHIOBATH
PUHOK
BUIbHHI PUHOK
KOHTPOJIIOBATH I10-H.

MaTH JOMIHYIOUE
MOJIO>KEHHS

HaKJIa1aTu mrpad
BUHAXITHUK

3HIDKATHUCS, 3MEHIITYBaTUCS
peanizyBaTu, 30yBaTH;
3HaXOJUTU PUHOK 30YTY,
TOPTYBaTH Ha PUHKY
pPUHKOBA Blaja

3JIMTTS KOMITaH11
MOHOTMOJIS

MOHOIICOHISI

HaTypaJibHa MOHOTIONIs


http://en.wikipedia.org/wiki/Copyright

oligopoly
oligopsony
on the contrary

patent
patent rights

perfect competition
(pure competition)
profit maximization
prohibit

public monopoly
public utility
company

raise

remote

restrict

rip-off (n)

service delivery
set barriers

substitute products
superior product
superiority

to the prejudice
trademarks
undesirable
violate

OJIITOIIOJIIA
OJIITOIICOHIS
HaBITaKH
[IaTeHT
NaTeHTH1 MpaBa

YUCTa KOHKYPEHIIIS

MaKCHMi3allis MpuOyTKy
3a00pOHSTH
Jep>kaBHA MOHOIIOJTIS

KOMYHAJIbHC HiIIHpI/ICMCTBO

H1ABUIIYBATH
BlJTaJICHAN
0o0OMeKyBaTH
3JIOAIACTBO, TUIariat
HaJaHHS TOCITyT
BCTAaHOBJIIOBATH
HEePEKoIn
TOBapU-3aMIHHUKH
MPOJIYKT KPAIIoi SKOCTI
nepesara

Ha KOy
TOpriBeJibHA MapKa
HeOaKaHUMA
MOpYIITYBaTH


http://en.wikipedia.org/wiki/Patent
http://en.wikipedia.org/wiki/Trademark

Revision and Conclusion

One of the major tasks of economics is to
understand the principles of consumer behaviour.
Consumers depend on others to satisfy their most
basic needs. They must enter into transactions to
obtain food, energy for heat and light, clothing,
medical assistance, transportation, communication
services etc. Commodities of different kinds satisfy
people’s wants in different ways: in relation to time,
people and nations. Economists explain consumer
demand by the concept of utility and with the Law of Diminishing Marginal Utility.
Utility is a concept that represents the amount of usefulness or satisfaction that a
consumer obtains from a commaodity. The Law of Diminishing Marginal Utility states
that as the amount of a commodity consumed increases, the marginal utility of the
last unit consumed tends to decrease.

Consumers spend their incomes to maximize their satisfaction. Their choices are
influenced by the prices of goods, income, and preferences. People tend to buy more
of a good when it is cheap than when it is expensive.

Price elasticity of demand tends to be low for necessities like food and shelter and
high for luxuries like snowmobiles and air travel. Other factors affecting price
elasticity are the extent to which a good has ready substitutes and the length of time
that consumers have to adjust to price changes.

The Law of Demand represents the relationship between the quantity of a good that
people want to buy and the price of that good. The Law of Supply gives the
relationship between the quantity that producers will be willing to sell — other things
equal — and that good’s price.

Money is the universally acceptable medium of exchange. People work and get
payment. Under these conditions their work is labour and therefore people are called
labour force. Some people invest capital, bear risk and receive profit if their business
Is successful.

Market is an arrangement whereby buyers and sellers interact to determine the
prices and quantities of a commodity. Market structures range from perfect
competition, oligopoly, monopolistic competition and monopoly.

Economists consider perfect competition as an ideal market structure where the
number of perfectly competitive sellers and buyers is very large and the products
offered by sellers are homogeneous. They have no power to affect the market price.

Monopoly is a market structure in which a commodity is supplied by a single firm
which causes economists’ concern: they provide regulation and antitrust policy to

control such activities [Tom McArthur. A Rapid Course in English for Students of Economics /
Tom McArthur. — Oxford University Press, USA, 1997. — 138 p.; Peter Antonioni. Economics For
Dummies / Peter Antonioni, Sean Masaki Flynn. ; [2nd Edition]. — Chichester : John Wiley & Sons,

2011. — 420 p.].




I. Choose the correct answer:

1. To satisfy basic needs consumers should
a) not buy non-essentials;
b) learn English;
c) enter into transactions with other people;
d) ask their employers to pay more.

2. make our life more pleasant.
a) Games
b) Food, clothes and shelter
c) Limits
d) Non-essentials

3. To produce 100,000 grey XXL coats every year is typical for ...
a) a mixed economy;
b) acommand economy;
c) a market economy;
d) any economy.

4.  Fluctuations of prices depend on
a) supply and demand;
b) quality and quantity of goods;
c) economic ideology of the country;
d) the exchange rate.

5. Inthe countries with mixed economic systems the authorities
a) decide what guantities of goods to produce;
b) have very few economic functions;
c) organize the whole economic effort of the nation;
d) control and regulate national economic conditions.

6. Mr Smith’s cattle farm belongs to the
a) public sector of British economy;
b) NEDC;
c) private sector of British economy;
d) oil industry.

7. Itis impossible to plan ahead with any certainty in the mixed economy due to:
a) awide and very complex range of people’s wants;
b) natural and political changes;
c) limited natural resources;
d) instability and unemployment.

8. Capitalist economic systems are based upon



10.

11.

a) private ownership of the means of production;
b) surplus income;

c) public property;

d) considerable economic freedom of choice.

Capital 1s...

a) land, houses and shares;

b) land, houses and clothes;

c) land, entertainment and shares;
d) food, clothes and shelter.

A consumer buys more of a commodity at a ...
a) higher price;

b) lower price;

C) current price;

d) price he charges.

Market in economics is a

a) place where people buy and sell food, clothes for everyday lives;
b) set of conditions permitting people meet each other;

c) set of conditions permitting people work together;

d) fixed place where businessmen come to buy sugar.

. Economists consider as a perfect market structure.
a) free market;

b) perfect competition;

c) monopoly;

d) ‘cornered’ market.

. Surplus is the of private enterprise.
a) profit;
b) loss;
c) income;
d) wages.

. The rise in prices encourages producers to
a) buy more of a commodity;

b) produce more goods;

c) stop selling goods;

d) go out of the market completely.

. Utility of a commaodity tends to diminish as
a) the usefulness of the commodity falls;
b) the stock of the commodity decreases;
c) the stock of the commodity increases;



16.

17.

18.

19.

20.

d) the consumer buys little of the commodity.

The Law of Demand says:

a) more will be demanded at higher prices than at lower prices;

b) more will be demanded at lower prices than at higher prices;

c) people will buy more if the prices are higher than usually;

d) the demand for a commaodity rises as the price for that commodity
Increases.

The prices of meat products in a competitive market are determined by:
a) Government.

b) Business monopolies.

c) Supply and demand.

d) The Consumer Price Index.

One of the important conditions for perfect competition is that:

a) products are heterogenous.

b) there are never any economic profits earned by the firms in the industry.

c) there are no barriers to entry and exit.

d) managers in the same industry discuss strategies with each other to perfect
their pricing in the market.

e) the demand curve facing a firm is perfectly inelastic.

Economics can best be defined as the study of

a) allocating finite resources to satisfy limitless wants.
b) spending your money wisely.

c) producing more goods and services.

d) maximising happiness.

Market economy is very similar to
a) mixed economy

b) command economy

c) socialist economy

d) free enterprise economy

I1. Read the following statements and say whether they are true or false:

1.

oW

If in the same garage you may buy a car or some service, which helps you
maintain the car, it means that people working in the garage provide both goods
and services.

Most people usually work to buy essential commaodities.

The science of economics is concerned with all human material needs and wants.
Both American and British economic systems are capitalist. So they are based on
the governmental control of land, labour and capital.



10.

If individual citizens who live in the socialist country obey the law, they can
have private property.

The country whose economic system is based on private enterprise with private
ownership of the means of production is neither communist nor capitalist.

All individual citizens are required to conform to the laws made by their

government.

Such developed countries as the USA and Great Britain have a mixed economy
nowadays.

Food production and distribution are in the public sector of the national
economy.

The members of the National Economic Development Council are responsible
for planning national policies.



SUPPLEMENT

SUPPLEMENT TO UNIT 1

Choose the correct answer:

1. Mad cow disease has had a serious effect on beef producers.
a) economical C) uneconomic
b) economic d) economically
2. If we want a holiday we’ll have to , we are spending too much.
a) economical C) economics
b) economy d) economize
3. The most way of heating your house is by using solar energy.
a) uneconomical c) economical
b) economist d) economize
4, of the country has been improving steadily these past ten years.
a) economics c) economical
b) economy d) economizing
5. Tourism contributes millions of euros to the country’s
a) economical C) uneconomic
b) economic d) economy .
6. Itis usually more to shop in a supermarket than in a small shop.
a) economically c) economical
b) uneconomically d) uneconomical
7. My daughter is in her third year of at university.
a) economics c) economical
b) economy d) economist
8.  The minister maintained that the coal mines were and would have to
be closed.
a) economical C) economize
b) uneconomic d) economy
9. Naturally the big boss has many professional to advise him.
a) economical C) economists
b) economies d) economics
10. An Is @ mechanical device intended to reduce energy consumption.
a) economical c) economically
b) economizer d) economy

Read the following and be ready to discuss the ideas given in the text in class:



TEN ECONOMIC IDEAS TO HOLD DEAR

There are ten economic ideas that all informed people need to understand and be
ready to use to evaluate the policy proposals made by the government.

1. SOCIETY IS BETTER OFF WHEN PEOPLE PURSUE THEIR OWN
INTERESTS

This concept is basically Adam Smith’s famous invisible hand. If all economic
interactions in a society are voluntary on the parts of all parties involved, the only
transactions that are going to take place are those in which all parties feel they are
being made better off.

If you trade your gold for another person’s bread, you’re likely to do so because
you value his bread more than your gold. You trade because trading makes you better
off. Meanwhile, you can be sure that the other person values your gold more than his
bread. So trading makes him better off too. You both pursue yourself interests, and
you’re both made better off.

This concept of what motivates people doesn’t mean that charitable acts are bad for
society. Instead, it means that even philanthropy is generated by self-interest. People
give because they enjoy helping others. By doing so, both they and the people they
help are made better off.

2. FREE MARKETS REQUIRE REGULATION

Economists firmly believe that voluntary transactions in free markets tend to work
toward the common good. But they also believe that nearly every participant in the
marketplace would love to rig the system in his or her own favour. Adam Smith, in
particular, was quick to point this out and argue that for markets to work and serve
the common good, the government has to fight monopolies, collusion and any other
attempts to prevent a properly functioning market in which firms vigorously compete
against each other to give consumers what they want at the lowest possible price.

3. ECONOMIC GROWTH DEPENDS ON INNOVATION

At any given moment, a fixed amount of wealth exists that can be divided equally
among all people, like slicing a pie into equal pieces and giving each person one
equal slice. But if living standards are to keep rising, you need a bigger pie to split
up. In the short run, you can get a bigger pie by working harder or using up resources
faster. But the only way to have sustained growth is to invent more efficient
technologies that allow people to produce ever more from the limited supply of
labour and physical resources.

4. FREEDOM AND DEMOCRACY MAKE US RICHER

Very good moral and ethical reasons exist for favouring freedom and democracy.
But a more bottom line reason is that, in general, because freedom and democracy
promote the free development and exchange of ideas, free societies have more
innovation and, consequently, faster economic growth.

5. EDUCATION RAISES LIVING STANDARDS

Educated people not only produce more as workers — and hence get paid higher
salaries — but also, more importantly, they produce innovative new technologies.



Sustained economic growth and higher living standards are only possible if you
educate your citizens well. Of course, other good reasons exist for getting an
education, including the ability to appreciate high art and literature. But even if all
you care about is living in a country that has rising living standards, you should work
hard to promote education in the sciences and engineering, sectors where
revolutionary technologies are created.

(Notice that we don’t say that lots of people should become economists. All
economists can do for growth is to urge others to become engineers!)

6. PROTECTING INTELLECTUAL PROPERTY RIGHTS PROMOTES
INNOVATION

People need incentives to encourage them to take risks. One of the biggest risks
you can take is to leave a secure job in order to start a new business or work at
developing a great new idea. Intellectual property rights, when deployed effectively,
give you a bargaining chip to help ensure that the rewards are going to go to you and
your associates rather than competitors. Without this assurance, fewer people would
be willing to take the personal risks necessary to provide society with innovative new
technologies and products.

7. WEAK PROPERTY RIGHTS CAUSE MANY ENVIRONMENTAL
PROBLEMS

People always have to do some polluting. After all, even if you don’t want gas-
guzzling SUVs (sports utility vehicle) running around causing lots of pollution, you
probably still want ambulances and fire engines to operate despite the fact that they
too pollute the environment. The difference is that the overall benefit to society
outweighs the cost of the pollution in the case of the emergency vehicles but not in
the case of the SUVs.

Seen in this light, society’s goal isn’t to ban pollution completely, but to make sure
that the benefit exceeds the cost for whatever pollution is generated.

Strong property rights are keys to ensuring that people weigh the complete costs
and benefits of pollution. Property rights force people to take into account not only
their personal costs of generating pollution, but also the costs that their actions
Impose on others.

All environmental problems tend to stem from poorly defined or non-existent
property rights that allow polluters to ignore the costs that they impose on others.
Therefore, economists favour the creation and enforcement of property rights systems
that force people to take all costs into account.

8. INTERNATIONAL TRADE IS A GOOD THING

Opening your country to international trade means opening your country to new
ideas and new innovations. Competition from foreign competitors causes local
businesses to innovate to match the best offerings of companies from around the
world.

Quite simply, throughout history, the richest and most dynamic societies have been
the ones open to international trade. Countries that close themselves off from
international trade grow stagnant and are quickly left behind. Of course, what
economists have in mind when they think of the benefits of international trade is free
trade, where companies compete across borders to provide people with the best goods



and services at the lowest prices. Economists strongly condemn the many
government subsidies and trade restrictions that impede free trade and that try to rig
the game in one country’s favour.

9. FREE ENTERPRISE HAS A HARD TIME PROVIDING PUBLIC GOODS

Private firms can provide goods and services only if they can at least break even
doing so. To break even (or make a profit), whatever a firm is selling has to be
excludable, by which we mean that only those paying for the good or service receive
it.

Some goods and services are non-excludable. For example, a lighthouse provides
warning services to all ships in the vicinity regardless of whether they pay the
lighthouse keeper. Because every ship knows that it can get the service without
having to pay for it, the private lighthouse quickly goes bankrupt because only a few
ships are fair-minded enough to pay for the service.

Goods and services that are non-excludable are called public goods because they’re
essentially open to the public and can’t be kept private. Because private firms can’t
make a profit producing public goods, you typically need governments to provide
them. Unlike private firms, governments can force people to pay for public goods.
They do this by levying taxes and using the tax revenues to pay for public goods,
such as the army, the police force, lighthouses, public fireworks displays, basic
scientific research and so on.

Economists view the existence of public goods as one of the most important
justifications for government intervention in the economy. Although private
philanthropy can also provide some public goods, many public goods are so
expensive that they can be provided only if the government uses its power of taxation
to fund them. Consequently, public goods are typically publicly provided.

10. PREVENTING INFLATION IS EASY

Governments can cause high rates of inflation by increasing the money supply too
rapidly. A growing economy always has a growing demand for money because with
more stuff to buy, you need more money with which to buy it. If you want to keep the
overall level of prices constant, the correct response is to increase the money supply
at the same rate that demand is increasing. If the supply of money increases faster
than the demand for money, the value of money falls, creating inflation. (In other
words, it takes more money to buy the same amount of stuff as before, meaning that
prices go up.)

One recent development has been to make central banks like the Bank of England
independent. This move gets around the temptation to use monetary policy as an
instrument of growth by making it the central banker’s job to ensure that prices stay

stable no matter what governments decide [Tom McArthur. A Rapid Course in English for
Students of Economics / Tom McArthur. — Oxford University Press, USA, 1997. — 138 p.; Peter
Antonioni. Economics For Dummies / Peter Antonioni, Sean Masaki Flynn. ; [2nd Edition]. —

Chichester : John Wiley & Sons, 2011. — 420 p.].
SUPPLEMENT TO UNIT 2

COUNTRIES AND NATIONALITY



The word ‘Nationality’ is not often used in spoken English. It is a formal and
official word and it appears more frequently in written English. You will find the

word ‘Nationality’ is used a lot in the travel industry and for immigration.

We almost never say: What is your nationality?

We usually say: Where are you from? OR Where do you come from?

To tell someone your nationality you DON’T say: My nationality is Chilean.
You say: I’'m Chilean
Look at the following example sentences: She comes from France. She is
French. She is a Frenchwoman. Her nationality is French. She drives a French car.

She speaks French.

I Note — in English all countries and adjectives describing the products, people
or services from that country are proper nouns and as such start with a

CAPITAL LETTER.

For example: Ireland — Irish, Belgium — Belgian

Country Capital Adjective Person Language
Afghanistan Kabul Afghan an Afghan Persian -
l&f,gaenr’sta:ni/ /“ko:bul/ Pashto
Albania Tirana Albanian an Albanian Albanian
/&l’beinia/ Mti'ra:na/
Algeria Algiers Algerian an Algerian Arabic
/el d31aria/ /el d310z/
Andorra Andorra la Vella | Andorran an Andorran Catalan
/aen'do:raf /on'dors 1o

"Beka/
Angola Luanda Angolan an Angolan Portuguese
/&en gaulo/ /lu'@nda/
Argentina Buenos Aires Argentinian | an Argentinian | Spanish
/ a:d3on'ti:na/ /'bweinos 'arriz/
Armenia Yerevan Armenian an Armenian Armenian
/a: ' mi:nro/ /jirt van/
Australia Canberra Australian an Australian English
/o'strerla/ /'kaenbara; -bra/
Austria Vienna Austrian an Austrian German
/'pstria/ /vt ena/
Azerbaijan Baku Azerbaijani | an Azerbaijani | Azerbaijani
/ aezobar'dza:n/ /ba’ku/
Bahamas Nassau Bahamian a Bahamian English
/ba"ha:moz/ /' naeso:/
Bahrain Manama Bahraini a Bahraini Arabic
/ba: rein/ /ma’'na:ma/




Bangladesh Dhaka Bangladeshi | a Bangladeshi | English
/ banglo'def/ /'daeko/
Barbados Bridgetown Barbadian a Barbadian English
/ba: 'berdavs/ /'bridz tavn/
Bangladesh Dacca Bangladeshi | a Bangladeshi | English
| baenglo'def/ /' daeko/
Barbados Bridgetown Barbadian a Barbadian English
/ba: "berdas/ ['bridztavn/
Belarus Minsk Belarusian/ |a Belarusian,
/bela’rus/ /minsk/ Belarusan Belarusian or | Russian
a Belarusan

Belgium Brussels Belgian a Belgian French /
/'beldzom/ /'brasalz/ Flemish
Belize Belmopan Belizean a Belizean English
/br'li:z/ / belmou 'pan/
Benin Porto Novo Beninese a Beninese French
/be 'ni:n/ ['po:rtou 'nouvo/
Bhutan Thimphu Bhutanese a Bhutanese Dzongkha
/bu:'ta:n/ [6im'bu:/
Bolivia Sucre Bolivian a Bolivian Spanish
/ba'livia/ ['su:kre/
Bosnia-Herzegovina | Sarajevo Bosnian a Bosnian Bosnian,
/"boznia and /,sa:ra'yevou/ Croatian,
,Jhertsogou'viina/ Serbian
Botswana Gaborone Botswanan Serbian
/bot'swa:na:/ /,ga:ba'rouni/
Brazil Brasilia Brazilian a Brazilian Portuguese
/bra'zil/ [bra'zi:lya/
Britain London British a Briton English
/'brit(o)n/ /"1andan/
Brunei Bandar Seri Bruneian a Bruneian Malay,
/bru:'nei/ Begawan (Recognised

/'ba:ndor 'seri English)

bo'ga:won/
Bulgaria Sofia Bulgarian a Bulgarian Bulgarian
/bal'geario/ ['soufio /
Burkina Ouagadougou Burkinese a Burkinese French
/b3 ki:.no/ / wa:go'du:gu:/
Burma (official Naypyidaw Burmese a Burmese Burmese
name Myanmar) Inépjida/
/ 'b3:.mo/
/mjoma/
Burundi Bujumbura Burundian a Burundian Kirundi,
/ bu'rondi / /bu:dzom bora/ French




Cambodia Pnompenh Cambodian | a Cambodian Cambodian
/ keem 'baudra / / 'nom 'pen /
Cameroon Yaounde Cameroonia | a Cameroonian | French/
/ kemoa'ru:n / / ja:u:n'der/ n English
Canada Ottawa Canadian a Canadian English /
/"'kaenada / / 'ptowa / French
Cape Verde Islands | Praia Cape a Cape Portuguese
/kerp 'v3:d 'ailond/ | /'prato/ Verdean Verdean
Chad N’Djamena Chadian a Chadian French,
Itfeed/ /anja:'meina:/ Arabic
Chile Santiago Chilean a Chilean Spanish
/'tfili ] / sentt a.govu /
China Beijing Chinese a Chinese Chinese
/ 'tfamo / / bei dzm/
Colombia Bogota Colombian | a Colombian Spanish
/ka'lombra / / boga'ta: /
Congo Brazzaville Congolese a Congolese French
/ 'kongou / / "braeza vil /
Costa Rica San José Costa Rican | a Costa Rican | Spanish
/ kosta 'ri:ko/ [san ho'se]
Croatia Zagreb Croat or Cro |a Croat or a Croatian
/krov 'e1fs/ [za:greb] atian Croatian
Cuba Havana Cuban a Cuban Spanish
['kuBa] /ho ' vaena/
Cyprus Nicosia Cypriot a Cypriot Greek, Turki
['sarpros] / nika'si:o/ sh
Czech Republic Prague Czech a Czech Czech
/'t[ek ri'pablik/ /'pra:q/
Denmark Copenhagen Danish a Dane Danish
/'denma.rk/ /' koupanhergan/
Djibouti Djibouti Djiboutian a Djiboutian French,
/d31'bu:ti/ /d31'bu:ti/ Arabic
Dominican Santo Domingo | Dominican | a Dominican Spanish
Republic / s@&ntou
[do'minikon-] do'mingou/
Ecuador Quito Ecuadorean | an Ecuadorean | Spanish
/"ekwado:1/ [ 'ki:tou]
Egypt Cairo Egyptian an Egyptian Arabic
/'i:dzipt/ /'karrou/
El Salvador San Salvador Salvadorean | a Salvadorean | Spanish
[el ‘seelvado:r/ / s&en

‘selvo do:/
England London English an Englishman/ | English
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['mmglond] /' 1andon/ Englishwoman

Eritrea Asmara Eritrean an Eritrean Tigrinya,

/ er'trer.o/ /ees ' ma:ra/ Arabic,
English

Estonia Tallinn Estonian an Estonian Estonian

[e'stounia/ /"ta:1in/

Ethiopia Addis Ababa Ethiopian an Ethiopian Ambharic

/ 1:01 oupia/ /ad’dis ‘ababa/

Fiji Suva Fijian a Fijian English,

['fi..d3i:/ /’su:va / Fijian,
FijiHindi

Finland Helsinki Finnish a Finn Finnish

/'fin.lond / /"helsmki/

France Paris French a Frenchman/ | French

/ fra:ns / ['peer.1s/ Frenchwoman

Gabon Liberville Gabonese a Gabonese French

/ gaeb'pn / /’lizbrevi:l/

Gambia Banjul Gambian a Gambian English

/'gem.bi.o/ / ba:n’dzu:l/

Georgia Thilisi Georgian a Georgian Georgian

/'d3o:.d3a/ [tabi’li:si/

Germany Berlin German a German German

/'d33:.moa.ni/ /b3:'in/

Ghana Accra Ghanaian a Ghanaian English

/'ga:.na/ [o’kra:/

Greece Athens Greek a Greek Greek

[gri:s/ ['&0.0nz/

Grenada St George Grenadian a Grenadian English

/gra'ner.da/ /seint ‘dzc:rds/

Guatemala Guatemala Guatemalan | a Guatemalan | Spanish

/ gwa:.to' ma:.lo/ / gwa:.to' ma:.lo/

Guinea Conakry Guinean a Guinean French

/'gin.i/ /’konokri/

Guyana Georgetown Guyanese a Guyanese Guyanese

/gar'@n.o/ /’d3c:d3taun/ Creole

Haiti Port-au-prince Haitian a Haitian French /

/"her.ti/ /,pc:tou’prins/ Creole

Holland Amsterdam Dutch a Dutchman/ Dutch

(also Netherlands) |/ em.sto'dem/ Dutchwoman

/"hol.and/

Honduras Tegucigalpa Honduran a Honduran Spanish

/hon'd3va.ros/ /teuhgooh'si

gal"peuh/
Hungary Budapest Hungarian a Hungarian Hungarian
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/"han.gor.i/ bju:d o "pest

Iceland Reykjavik Icelandic an Icelander Icelandic

/"aislond/ /'reikjovik/

India New Delhi Indian an Indian Hindi,

/'ndra/ /nju: "deli/ English

Indonesia Jakarta Indonesian | an Indonesian | Indonesian

/. inda 'ni:z1o/ /dzo ka:to/

Iran Tehran Iranian an Iranian Persian

It'ran/ / te'ra:n/

[a1'ren/

Iraq Baghdad Iraqi an lraqi Avrabic,

It ra:k/ /baeg'deed/ Kurdish

It'rek /

[ar'rek/

Ireland, Republic of | Dublin Irish an Irishman, an | Irish /

/"arolond/ /"dablin/ Irishwoman English

Italy Rome Italian anltalian Italian

/'1tali/ /room/

Israel Jerusalem Israeli an Israeli Hebrew

/"1zretl/ /d3a ' ru:salom/

Jamaica Kingston Jamaican a Jamaican English

/d3o' meiko/ /'kmstan/ (Jamaican
English)

Japan Tokyo Japanese a Japanese Japanese

/d3o paen/ /"toukjou/

Jordan Amman Jordanian a Jordanian Arabic

/'jo:rdon/ /azm'ma:n/

Kazakhstan Astana Kazakh a Kazakh Kazakh

/Ka:zak'sta:n/ [@ste'na:/ (national),
Russian

Kenya Nairobi Kenyan a Kenyan Swahili

/'kenjo/ /nar 'raubi/

Korea Seoul Korean a Korean Korean

/ka 1109/ /saul/

Kuwait Kuwait City Kuwaiti a Kuwaiti Arabic

ko' werit/ lku'wertt ‘siti/

Laos Vientiane Laotian a Laotian Laotian

/"la:os/ / vien'tja:n/

lavs/

Latvia Riga Latvian a Latvian Latvian

/'latvia/ /'ri:ga/

Lebanon Beirut Lebanese a Lebanese Arabic

/'lebanan/ /ber'ru:t/




Liberia Monrovia Liberian a Liberian English

[IA1 bror1o/ /mpn'rovvia/

Libya Tripoli Libyan a Libyan Arabic

/' libra/ /"tripali/

Liechtenstein Vaduz — a German

/"ligtn ftain/ /va'dots/ Liechtensteiner

/'likton stain/

Lithuania Vilnius Lithuanian | a Lithuanian Lithuanian

/ 110(j)u: " erna/ /"vilnias/

Luxembourg Luxembourg - a French,

/'1aksamba: g/ /"1aksamba: g/ Luxembourger | German,
Luxembourg
ish

Macedonia Skopje Macedonian | a Macedonian | Macedonian

/ mas1'dounia/ /"skopjer/

Madagascar Antananarivo Malagasy or | a Malagasy or | Malagasy,

/ mada'gaska/ / anta nana'ri:vo | Madagascan | a Madagascan | French

ol

Malawi Lilongwe Malawian a Malawian Chichewa,E

/ma ' la:wi/ /It lonwer/ nglish

Malaysia Kuala Lumpur | Malaysian a Malaysian Malay /

/ma'lerzo/ / kwa:la Malaysian

/ma ' lerzia/ lompua/

Mali Bamako Malian a Malian French

/'ma:li/ /" bamokouv/

Malta Valletta Maltese a Maltese Maltese

/'mo:1ta/ /va'leta/ English

Mauritania Nouakchott Mauritanian | a Mauritanian | Arabic

/ mor1'teinro/ /nwak’ [ot/

Mauritius Port Louis Mauritian a Mauritian Mauritian

/ma'r1fas/ /" Tu:i// Tu:s/ Creole,
French,
English

Mexico Mexico City Mexican a Mexican Spanish

/' meksikou/ /"mekst kou 'siti/

Moldova Chisinau Moldovan a Moldovan Moldovan

/'moldovo/ / kift nav/ (Romanian)

Monaco Monaco Monégasque | a Monégasque | French

/'monakov/ /'monakav/ /Monacan or a Monacan

Mongolia Ulaanbaatar Mongolian | a Mongolian Mongolian

/mon ' gouvlia/ / wla:n 'ba:to/

Montenegro Podgorica Montenegrin | a Montenegrin | Montenegrin

/ montr'ni:grov/

/pod’ go:ritsa/




Morocco Rabat Moroccan a Moroccan Arabic
/ma 'rokav/ /ra'bat/ French
Mozambique Maputo Mozambican | a Mozambican | Portuguese
/ mavzam 'bik/ /ma ‘pu:tov/
Namibia Windhoek Namibian a Namibian English
/na" ' mibra/ /'vinthok/

/'winthok/
Nepal Kathmandu Nepalese a Nepalese Nepali
/n1'po:l/ / katman'du:/
the Netherlands Amsterdam Dutch a Dutchman, a | Dutch
(see Holland) / amsto'dam/ Dutchwoman,
/'nedalondz/ /'amstodam/ ora

Netherlander
NewZealand Wellington New a New English
/ nju:’zi:lond / /'welmtan / Zealand Zealander Maori
(used
New Zealand attribut-ly)
butter but not He is
New Zealand
Nicaragua Managua Nicaraguan | a Nicaraguan Spanish
/ nika'reegjua/ /ma’'na:gwa/
Niger Niamey Nigerien a Nigerien French
/nar'dz1or/ /nar'mer/
Nigeria Lagos Nigerian a Nigerian English
/nar dz1orio/ /lergos/
NorthKorea Pyongyang NorthKorean | a NorthKorean | Korean
/no:0 ko'ria/ /pjon 'jen/
Norway Oslo Norwegian | a Norwegian Norwegian
/'no:wei/ /'vzlov/
Oman Muscat Omani an Omani Arabic
[ou" ' ma:n/ /' maSkeet/
Pakistan Islamabad Pakistani a Pakistani English,
/ pa:Kr'sta:n /1s'lemobaed/ Urdu
Panama PanamaCity Panamanian | a Panamanian | Spanish
/' penoma:/ /'peenama.: ‘siti/
Papua New Guinea |Port  Moresby | Papua New | a Papua New Hiri Motu,
/'paepjud nju: ‘gini/ |/ poit'mo:zbi/ Guinean or | Guinean or Tok Pisin,
Guinean a Guinean English

Paraguay Asuncion Paraguayan | a Paraguayan | Spanish
/' paeragwai/ /a'sanfan/
Peru Lima Peruvian a Peruvian Spanish
/pa’ru:/ /'li:ma/
The Philippines Manila Philippine @ Filipino Tagalog
/' fila pinz/ /ma'nila/ Filipino




/ma'nila/

Poland Warsaw Polish a Pole Polish

/'pavlond/ /'wa:89:/

Portugal Lisbon Portuguese | a Portuguese Portuguese

/'pa:tfog(d)l/ /"lizban/

Puerto Rico San Juan PuertoRican | PuertoRican Spanish

/ pws:.to 'ri:.kov/ /sen "hwa:n/

Qatar Doha Qatari a Qatari Arabic

/'kata/ /ka'ta:/ | /'devha:/

Romania Bucharest Romanian a Romanian Romanian

/ru: ' mernro/ / bu:ka'rest/

Ira(v) ' mernra/

Russia Moscow Russian a Russian Russian

/'tafal /'moskou/

Rwanda Kigali Rwandan a Rwandan Kinyarwand

/ru:'anda/ /ki'ga:li/ a, French,
English

Saudi Arabia Riyadh Saudi a Saudi Arabic

/ savdi a'reibro/ /ri:"ja:d/ Arabian or S | Arabian or a

/'ri:ad/ audi Saudi

Scotland Edinburg Scottish a Scot English,

/'skotlond/ /"edn barg/ (Scottish
Gaelic)

Senegal Dakar Senegalese | a Senegalese French

/'sena gol/ /da’kar/

/'send gol/ /da’kar/

Serbia Belgrade Serb or Serbi | a Serb or a Serbian

/'sarbea/ /bel’ grerd/ an Serbian

/"sarbia/ /'belgrerd/

Seychelles, the Victoria Seychellois | a Seychellois French,

Iser’ [el(z)/ ik toria/ English,
Seychellois
Creole

Sierra Leone Freetown Sierra a Sierra English

/si,era 1i'oun/ /' fritavn/ Leonian Leonian

/s€ era le'on/ /" frétoun/

Singapore Singapore Singaporean | a Singaporean | English,

/'sma por/ /'sma por/ Malay,
Mandarin,
Tamil

Slovakia Bratislava Slovak a Slovak Slovakian

/slou " vakia/ / bréda'slava/

/s16' vékea/ / brada'slava/

Slovenia Ljubljana Slovene or | a Slovene or Slovene




/s16'vengal/ / ljubliana/ Slovenian a Slovenian

/slou ' vinio/

Solomon Islands Honiara — a Solomon English

/’soloman ,atlondz/ | /,haonr’a:ra/ Islander

Somalia Mogadishu Somali a Somali Somali,

/sa’ma:lia/ /,moga’difu:/ Arabic

South Africa Pretoria South a South 11 languages

/sau0’afrika/ /pri’to:ria/ African African

South Korea Seoul South a South Korean | Korean

/sau0ka’r1o/ [saul/ Korean

Spain Madrid Spanish a Spaniard Spanish

[spein/ /mo’drid/

Sri Lanka Colombo Sri Lankan a Sri Lankan Sinhala,

/sr1 ’lanka/ /ka’1amboau/ Tamil

Sudan Khartoum Sudanese a Sudanese Arabic,

/su:’da:n/ /Ka:’tu:m/ English

Suriname Paramaribo Surinamese | a Surinamer or | Dutch

/,suvarr’nam/ /,para’maribau/ a Surinamese

Swaziland Mbabane Swazi a Swazi Swazi,

/’swa:ziland/ /,(d)mba:’ba:ni/ English

Sweden Stockholm Swedish a Swede Swedish

/’swi:d(a)n/ /’stokhoum/

Switzerland Berne Swiss a Swiss Swiss

/’switsalond/ /ba:n/

Syria Damascus Syrian a Syrian Arabic

/’sirra/ /do’maskas/

Taiwan Taipei Taiwanese | a Taiwanese Chinese

ltar wa:n/ [tar’pet/

Tajikistan Dushanbe Tajik or Tadj | a Tajik or Tajik

Ita,d3i:kr’sta:n/ /du:’ fanbei1/ ik a Tadjik (Persian)

Tanzania Dodoma Tanzanian a Tanzanian Kiswabhili,

[teen,zo'niza/ /dodo:'ma/ English

Thailand Bangkok Thai a Thai Thai

/‘tarleend/ /,baen'kok/

Togo Lomé Togolese a Togolese French

/‘tavgav/ /‘laumer/

Trinidad and Port of Spain Trinidadian | a Trinidadian English

Tobago Tobagan/To | a Tobagan/

/,thinidaed and bagonian Tobagonian

ta’bei.gou/

Tunisia Tunis Tunisian a Tunisian Literary

/ tju:"nizro/ /‘tju:nis/ Arabic;
Spoken:

Tunisian



https://en.wikipedia.org/wiki/Dodoma
https://en.wikipedia.org/wiki/Lom%C3%A9
https://en.wikipedia.org/wiki/Port_of_Spain

Arabic

Frencha
Berber
Turkey Ankara Turkish a Turk Turkish
/‘t3:ki/ /”&enkaral
Turkmenistan Ashgabat Turkmenor |a Turkmenora | Turkmen
/,tark'meno,sta:n/ /,a;fga:'ba:t/ Turkoman Turkoman
Tuvalu Funafuti Tuvaluan a Tuvaluan Tuvaluan,
/tu:'va,lu:/ /funa’futi/ English
Uganda Kampala Ugandan a Ugandan Swahili,
/u:'genda/ /kom'pa:la/ English
Ukraine Kyiv Ukrainian a Ukrainian Ukrainian
/ ju:'krein/ /kajif/
United Arab Abu Dhabi UAE or Emi | an Emirati Arabic
Emirates (UAE) /eebu: ‘da:bi/ rates  (used
/ju: nartid arab attribut-ly
‘emirots/ only)
United  Kingdom | London UK  (used | a Briton English
(UK) /’1andan/ attributively
NB: UK time only)
but not He is UK
United States of Washington uUsS (used | a US citizen English
America (USA) />wofmton/ attribut-ly
NB: US aggression only)
Uruguay Montevideo Uruguayan | a Uruguayan Spanish
/'(j)ora gwar/ / man(t)ava'dero
ol
Uzbekistan Tashkent Uzbek an Uzbek Uzbek
luz bek.i'sta:n/ / tee[ kent/
Vanuatu Port Vila Vanuatuan | a Vanuatuan Bislama,
Iveen.u'a:.tu:/ Ipo:rt'vela/ French,
English
Vatican City Vatican City — — Italian
[ veet.a.kon ‘sit.i/ / veet.i.kon
‘sit.i/
Venezuela Caracas Venezuelan |a Venezuelan | Spanish
/ venaz'weila/ /ka'reekas/
Vietnam Hanoi Vietnamese |a Vietnamese | Vietnamese
/ vjet'nem/ /ha’'no1/
Wales Cardiff Welsh a Welshman, Welsh /
Iweilz/ /'kardof/ a Welshwoman | English
Western Samoa Apia Western a Western Samoan,
/'westorn so'movo/ | /& 'pro/ Samoan Samoan English
Yemen Sana’a Yemeni a Yemeni Arabic



https://en.wikipedia.org/wiki/Funafuti
https://en.wikipedia.org/wiki/Kampala
https://en.wikipedia.org/wiki/Abu_Dhabi

/'jeman/ /sa’'na/

Yugoslavia Belgrade Yugoslav a Yugoslav Yugoslavian

/ jugou 'slavis/ /bel’ grerd/

/'belgrerd/

Zaire Kinshasa Zairean a Zairean French,

Iza'1r/ /kan' fasa/ Lingala,
Kongo,
Swahili,
Tshiluba

Zambia Lusaka Zambian a Zambian English

/' zembioa/ /lu'saka/

Zimbabwe Harare Zimbabwean | a Zimbabwean | 16 languages

[z1m'ba:b.wer/ /ha'rari/

SUPPLEMENT TO UNIT 3

l. Read the following to know more about abbreviated word in the English
language:
Types of English abbreviations

There are four different types of abbreviations in English:
1. Initialism
2. Acronym
3. Shortening
4. Contraction




Initialism

An initialism is formed from the first letters of a group of words. We pronounce
each letter individually, e.g.

CEO — Chief Executive Officer

FAQ - frequently asked questions

Rules for capital letters

If the first letters of the full form are capital letters, then we always write the
abbreviation with capital letters, e.g., in the full form, we always write “Federal
Bureau of Investigation” with capital letters for the first letter of each word
because it is the name of an official organisation. Therefore we write the
abbreviated form in capitals: FBI

For the others (the full form is not in capital letters), both forms are acceptable. It
is a style choice, e.g. “frequently asked questions” — the full form is not in capital
letters, therefore we can choose: FAQ or faq

Rules for full stops (periods)

In BE, we do not usually use full stops between each letter for initialisms (FBI)
though in AE, it is a question of style and using full stops is more common in AE
(F.B.L.).

Acronyms

An acronym is formed from the first letters of a group of words and we pronounce
the acronym as a word.

NATO — North American Treaty Organisation

SIM — subscriber identification module (card for mobile phone)

*VAT (value added tax) is a special case. It can be 2 types of abbreviation:

It can be an acronym and we pronounce it as one word /veet/

It can also be treated as an initialism and we pronounce each letter separately.

Rules for capital letters

This is the same rules as for the initialisms. If the first letters of the full form are
capital letters, then we always write the acronym with capital letters, e.g., we
always write “North American Treaty Organisation” with capital first letters
because it is the name of an official organization, therefore we also write the
acronym in all capitals (NATO).

For the others (the full form is not in capital letters), both forms are acceptable. It
Is a style choice, e.g., “personal identification number” — the full form is not in
capital letters, therefore we can choose: PIN or pin.

Rules for full stops (periods)

We do NOT use full stops after each letter of an acronym because we treat
acronyms as words and pronounce them as words so we never write full stops in
the middle of words, e.g., “personal identification number” — PIN.



Shortenings

A shortening is an abbreviation in which the beginning or end of the word has been

omitted. There are 2 types:

Type 1 shortenings
(treated as real words,
writen and said as one word)

app — application (software)
blog — weblog (a type of website)
Rules for capital letters
The first letter is a capital letter only if
the full word starts with a capital
letter:
Example: full form is “Briton” (with a
capital first letter) therefore the
shortening also must start with a
capital letter: “Brit”
There are lots of Brits living in Spain.
Rules for full stops (periods)
We do NOT use a full stop after type
1 shortenings

Type 2 shortenings
(not treated as real words, only used
in writing but when we say or read
them, we say the full version of the
word)
Feb. — February
Sat. — Saturday
etc. — et cetera (Latin for “and the rest”)
Writing: “Please send me the Feb
accounts.”
Speaking: “Please send me the
February accounts.”

Rules for full stops (periods)

We have the choice to use full stops
(periods) at the end of the
abbreviation, e.g., Feb. or Feb for

February.

Rules for capital letters

The first letter of a type 2 shortening is
a capital letter only if the full word
starts with a capital letter.

Contractions
Contractions are abbreviations in which we omit letters from the middle of a word.
We do NOT write a full stop at the end of a contraction. The first letter is a capital
letter only if the full word starts with a capital letter.

Type 1 contractions
(missing letters from 1 word)

Dr — Doctor

govt — government
St — Saint

Mr — Mister

Type 2 contractions
(missing letters from more
than 1 word)
We use an apostrophe to represent the
missing letters:

he‘s — he is
they‘d — they would
I‘ve — | have

[https://Iwww.crownacademyenglish.com/types-english-abbreviations]




Il.  Here are the most common abbreviations used in texting, e-mailing
and chatting:

Meaning Abbreviation Meaning
Abbreviation
1dRfl wonderful L8 late
2 to/too/two L8r later
2da today LMK let me know
2moro tomorrow M8 mate
2nite tonight MOF matter of fact
3dom freedom MT empty
4 for NAGI not a good idea
4get forget Ne any
4N foreign Nel anyone
ADN any day now Nol no one
ASAP as soon as possible nrg energy
ATM at the moment oIC oh i see
B be OK okay
B4 before ONNA oh no! not again
B4N bye for now oTT over the top
BB bye bye PAL parents are listening
Bf boyfriend PCM please call me
BION believe it or not Pls please
BK big Kiss Ppl people
BTDT been there, done that R are
BTW by the way Re regarding
By busy RUOK are you okay?
CB call back Spk speak
CID consider it done Sry sorry
CULS8R see you later SWAK sealed with a kiss
CWUL chat with you later THX thanks
DUZ does TTYL talk to you later
DUZNT doesn’t TXT text




G2G got to go U you
Gf girlfriend U@ you at? (where are
you?)
Gr8 great UOK you okay?
Grr angry UR your/you’re
H2 how to Usu usually
HUH have you heard? W8 wait
IC I see W84M wait for me
ICCL i couldn’t care less w/ with
IK I know Wan2 want to
ILU (or ILY) I love you XLNT excellent
in4dml informal Y why
KISS keep it short and simple | YR yeah, right!
(or keep it simple,
stupid)

I1. Using the list given above work out the meaning of the following:

Words in full Abbreviations or | Words in full Abbreviations or
SMS language SMS language
AFAIR PAW or PW
LUV RAK
THNX or THX SEC
2day ASAP
B4 OMG
HAND HAK or XOXO
CcCu LOL
SWYP CSB
@ LTWT or LWT or

LW
TIME ATM
SWAK SAL
CHX KISS
GRS XLNT

SUPPLEMENT TO UNIT 4

I. Read the text and be ready to discuss it in class:




COMPLEMENTARY GOODS AND SUBSTITUTE GOODS

Some things just go together: fish and chips; sausages and ketchup; shoes and
shoelaces. In each of these pairs, the goods in question are more useful or more
pleasing when consumed along with the other member of the pair. Because such
goods complement each other, economists refer to them as complementary goods.
An interesting thing about complementary goods is that changes in the price of one
complement affect the other complement. For example, the price of the petrol you
put in your car affects the demand for cars; if the price of petrol goes up, fewer
cars are sold.

In contrast, consider substitute goods, which are goods that serve similar
functions so that if the price of one goes up, people switch to the other one. For
example, if the price of train travel goes up, more people drive cars. And if the cost
of regular mail goes up, more people use email.

Both complementary goods and substitute goods are the result of cross-price
effects. An increase in the price of a complement causes the quantity demanded of
its pair to fall, whereas an increase in the price of a substitute causes the quantity
demanded of its pair to rise.

As you look around the economy, make sure that you think of it as one great big
organic whole, where things don’t happen in isolation. When the price of one good
changes, it doesn’t affect just that good, but also many other goods that are
substitutes or complements. And if the prices of the substitutes or complements
change too, as a result of the initial price change, all their substitutes and

complements are also affected, like a gigantic ripple effect [Peter Antonioni.
Economics For Dummies / Peter Antonioni, Sean Masaki Flynn. ; [2nd Edition]. — Chichester :
John Wiley & Sons, 2011. — 420 p.].

TRANSITION WORDS

I1. Write two sentences using the words given for each type of transition.

Addition — another, moreover
1

2
Time— following, then
1

2

Contrast- on the other hand, unlike
1

2




Comparison — equally, similar

1

2

Example — for instance, to illustrate

1

2

Cause- Effect — because, reason

1

2

Classification — type, group

1

2

Generalization and Example — for example, such as

1

2

I11. Complete the text with the correct transition word or phrase given below:
“WHO LEARNS FASTER — CHILDREN OR ADULTS?”

Small children seem to learn very quickly, (1) adults sometimes appear
to lose the ability to pick up new subjects such as languages, music, games, or
computer programs. In this essay, | will discuss (2) children or adults
make the best learners.

It is (3) that children seem to learn very quickly. In just a few years,
they can learn how to play a musical instrument, speak one or even two new
languages, and deal with many subjects at school. They (4) have time for
sports and hobbies, and become experts in their favorite pastimes. (5),

how much of this is social pressure and how much is genetic? | am convinced that
while children’s brains have a natural ability to absorb new information as part of
their developmental growth, much of their achievement is because of social
pressure. Schools force them to take many subjects. Parents force them to practice
new sports or to learn music. Even their playmates force them to become better at
computer games or to read Harry Potter novels faster. (6), children may
enjoy learning, but their environment also is a big motivating factor.



Adults (7) are supposed to be poor learners. (8), I disagree
with people who say that adults cannot learn quickly. Adults have many skills that
compensate for the decline in the ability of the brain to grasp and remember new
material. They can organize their learning by setting times for reading or practice.
They can build on skills and experiences they know already. Adults usually cannot
learn to do ballet or to play the violin, but (9) these physical challenges,
their motivation can often be higher than a child’s. (10), society does not
encourage many adults to learn. People are busy with families and work, and some
adults may feel that further learning is pointless, (11) they have already
achieved many goals at work or in their personal life.

(12), | feel that we cannot generalize about children or adults being
better learners. It depends on the situation and the motivation of the person, and the
level of enthusiasm he or she has for learning
[http://www.eoioviedo.org/anacarmen/opinion/opinion.pdf].

while

if

obvious

even

despite

as regards

on the contrary
however

even in spite of
10 unfortunately
11 furthermore

12 insummary

©Ooo~Noolh~, WwWwNBE

whereas
whereas
undoubtedly true
even though
nevertheless

In summary
opposite
although

even though
unluckily

since

to cut a long story short

since

whether
completely truth
also

however

to sum up

on the other hand
nevertheless
even despite
unlikely

due to the fact that
in conclusion



IV. Fill in each blank with a transition from the box. Use each transition
only once. Then tell what pattern of organization is used.

after finally third first second

Steps to Stop Sexual Harassment

Sexual harassment is defined as any form of unwanted sexual attention. Most
companies now have sexually harassment policies in place. If you feel you are
being sexually harassed, there are several steps you can take. (1) :
ask the harasser to stop. Be clear and direct. This may be the first time the person
has ever been told such behavior is wrong. (2) , record the event.
Having a record of exactly what occurred (and when and where) will be helpful in
making your case. (3) , complain to a higher authority. Talk to
your manager about what happened. (4) , remember that you have
not done anything wrong. You will likely feel awful (5)
being harassed. However, you should feel proud that you are not keeping silent.

What pattern of organization is used in this paragraph?

difference despite however in contrast

Reading a book is always much better than watching a movie based on a book.
(7) the saying “A picture is worth a thousand words,” a book is
able to give much more information than a movie can give. The author can give the
thoughts of characters; (8) , @ movie usually conveys only the
actions and words of the characters.
A book can follow several characters and plot lines, but a movie usually has less
than two hours to tell the story and must follow just a few characters or one plot
line. The final (9) Is one of imagination. Each reader of a book
can create a different mental picture of the characters and scenes. A movie, (10)
, can offer only the vision of the director and actors.

What pattern of organization is used in this paragraph?
These kinds kinds one type two kinds another type

Laws That Protect Children

Unwanted infants are protected by (12) of laws. Both
(13) deal with parents who are unable to cope with the pressures of
parenthood. (14) of law punishes neglect. Several states, such

as Georgia and Massachusetts, will put parents in jail for several years if they leave



or abandon a child. (15) of law rewards parents for handing
their unwanted children over to authorities. A number of states, such as South
Carolina and California, have ‘“safe haven” laws. (16) of laws
allow parents to leave the unwanted child at a church or hospital without being
charged with a crime. These laws are supposed to lead to better treatment for the
unwanted children.

What pattern of organization is used in this paragraph?

[http://www.mld.metu.edu.tr/sites/default/files/Transitions-Patterns-of-Organization-Pt1.pdf]
SUPPLEMENT TO UNIT 7

|. Read the text about possible consequences of the government intervention
in regulating the market price and be ready to discuss it in class. Provide your
own examples.

FIRST WORLD SUPPORTS, THIRD WORLD SUFFERS

Undesirable result of agricultural price supports in rich countries like the United
States and the nations of the European Union is the great damage those supports
cause to developing nations. For example, the US price of sugar is three times the
world price because the United States restricts imports of cheaper foreign sugar in
order to help US food production giants. The result is that thousands of poor Third
World farmers are left without a livelihood, instead of making a living selling
sugar to Americans and Europeans.

Even worse is what the United States and Europe do with some of the many tons
of excess agricultural products that pile up due to the agricultural price supports.
Not wanting to sell the excess in the US or EU, and thereby depress US or EU
prices, our governments often send the stuff free to developing countries as food
aid. That sounds nice and friendly, but when all that free wheat hits Nigeria,
Nigerian farmers are put out of business. You can see what the consequences may
be for the local economy.

Interfering with markets can therefore be a very bad thing: unexpected side
effects usually end up hurting people that the policy isn’t expected to harm.
Furthermore, such policies are also typically inefficient, costing the losers more
than they benefit the winners. When you see a policy like this, it’s worth thinking
through very carefully where the hidden costs are falling.

Although we like to apply out of sight, out of mind to them, the hidden costs can
be very real and add up significantly.

. Study the following examples of the most approximate to perfect
competition model structures and be ready to discuss them in class:

By design a stock exchange resembles this. The flaw in considering the stock
exchange as an example of Perfect Competition is the fact that large institutional



investors (e.g. investment banks) may solely influence the market price. This, of
course, violates the condition that “no one seller can influence market price”.

Horse betting is also quite a close approximation. When placing bets, consumers
can just look down the line to see who is offering the best odds, and so no one
bookie can offer worse odds than those being offered by the market as a whole,
since consumers will just go to another bookie. This makes the bookies price-
takers. Furthermore, the product on offer is very homogeneous, with the only
differences between individual bets being the pay-off and the horse. Of course,
there are not an infinite amount of bookies, and some barriers to entry exist, such
as a license and the capital required to set up.

Free software works along lines that approximate perfect competition as well.
Anyone is free to enter and leave the market at no cost. All code is freely
accessible and modifiable, and individuals are free to behave independently. Free
software may be bought or sold at whatever price that the market may allow.

Some believe that one of the prime examples of a perfectly competitive market
anywhere in the world is street food in developing countries. This is so since
relatively few barriers to entry/exit exist for street vendors. Furthermore, there are
often numerous buyers and sellers of a given street food, in addition to
consumers/sellers possessing perfect information of the product in question. It is
often the case that street vendors may serve a homogenous product, in which little
to no variations in the product’s nature exist.

Another very near example of perfect competition would be the fish market and
the vegetable or fruit vendors who sell at the same place, the bars in “Le Carrii”
(Linge, Belgium) or the “kebab street” near the Grand Place in Brussels.

I11. Read the following text on the approach to market studies used in
marketing. Note the differences and be ready to discuss them in class:

THE MARKET, ITS DEFINITION AND STRUCTURE
IN TERMS OF MARKETING RESEARCH

A market consists of all the consumers who purchase a particular type of good
or service. The market may be sub-divided into separate segments each of which
can be considered to be a separate market in its own right. It is very important for a
business to be able to define its market:

« So that it can estimate the size of the market.

« So that it can forecast the growth of the market.

» To identify the competitors in the market.

» To break the market down into relevant segments.

 To create an appropriate marketing mix to appeal to customers in the
market.

There are different types of markets, for example:
Business-to-Business (B2B) markets in which businesses are customers for other
businesses. Business to Consumer (B2C) markets in which businesses sell to other



customers. Some markets take place in a physical location e.g. a street market,
whereas others may be virtual markets e.g. when people buy and sell through the
medium of the Internet.

The size of the market can be calculated in terms of the number of customers
that make up the market, or the value of sales in the market. A business can then
calculate its market share in terms of the number of customers its sells to, or the
total value of its sales.

Markets are typically structured into segments. Primary segmentation is between
customers buying entirely different products. For example, an oil company
manufactures a wide range of fuels and lubricants for road, rail, water and air
transport and for industry, all of them for different groups of customers. Further
segmentation can be based on demographic and psychographic factors.
Demographics segments people by clearly ascertainable facts: their sex, their age,
size of their family, etc.

Psychographics segments people by something less clearly ascertainable and
often disputable: their ‘life-style’. A person’s lifestyle is built up from his or her
attitudes, beliefs, interests and habits.

SUPPLEMENT TO UNIT 8

I. Study the following types of monopolies and think of similar monopolistic
arrangements operating in your country:

TYPES OF MONOPOLY PRACTICES

« Private Monopoly. When production is owned, controlled and managed by the
individual, or private body or private organization, it is called private monopoly.
Such type of monopoly is profit oriented. e.g. Tata, Reliance, Bajaj groups in
India.

* Public monopoly:

Is called public monopoly. It is also known as social monopoly. The entire
operation is controlled either by central or state government. Their main motive
IS to provide welfare to the public.

« Government monopoly (or Public monopoly) is a monopoly firm owned and
operated by public or state government and it is the sole provider of a particular
good or service and competition is prohibited by law. It is a monopoly created
by the government. Their main motive is to provide welfare to the public, e.g.
the German Public Train System is entirely government run, there are no private
competitors.

» Perfect monopoly:

It is also known as pure or absolute monopoly. Such monopoly is practically
very rare. There is absolutely zero level of competition. In this case, there is
only a single seller of product having no close substitute; not even remote one. It



Is also called as absolute monopoly. Bill Gates played Perfect Monopoly in US
for MS Word.

Imperfect monopoly:

It means in this market, a product may have a remote substitute. So, there is fear
of competition to some extent. It refers to a single seller market having no close
substitute. It is also called as relative monopoly. e.g. Vodafone is having
competition from fixed landline phone service industry BSNL.

Simple or single monopoly:

It is also called Single-Price Monopoly. It is a type of monopoly in which a
single seller controls the entire market, by selling the commodity at a single
price for all the consumer. There is no price discrimination in the market.
Discriminative Monopoly. Such a monopoly firm charges different price to
different customers for the same product. It prevails in more than one market.
An example is an airline monopoly. Airlines frequently sell various seats at
various prices based on demand.

Legal monopoly:

When a firms enjoys then it is known as legal monopoly. Such monopoly rights
are approved by the government.

Legal Monopoly. It is a monopoly that is protected by law from competition. A
government-regulated firm that is legally entitled to be the only company
offering a particular service in a particular area. For example, AT&T operated as
a legal monopoly until 1982 because it was supposed to have cheap and reliable
service for everyone. Having exclusive rights like trade mark, copy right, patent
right, etc. can be another example of a legal monopoly.

Natural Monopoly. A type of monopoly that exists as a result of the high fixed
or start-up costs of operating a business in a particular industry. Government
often regulate certain natural monopolies to ensure that consumers get a fair
deal. The utilities industry is a good example of a natural monopoly — gas,
water, power.

Technological Monopoly. When a firm enjoys monopoly power due to
technical superiority over other products in the market, then it is called as
technological monopoly. It emerges as a result of economies of large scale
production, use of capital goods, new production methods, etc. E.g. engineering
goods industry, automobile industry, software industry, etc. Internet Explorer
was the only browser available to browse the web between 1995-2000.

Joint Monopoly If two or more business firms acquire a monopoly position
through mergers, cartels, syndicates, etc. then it becomes a joint monopoly. E.g.,
pizza making firm and burger making firm are competitors of each other in fast
food industry. But when they combine their business that leads to reduction in
competition so they can enjoy monopoly power in the market.

I1. Read the text and be ready to discuss it in class:

ANTITRUST GOVERNMENT POLICY
FOR DEALING WITH MONOPOLIES



Antitrust laws aim to stop abuses of market power by big companies and,
sometimes, to prevent corporate mergers and acquisitions that would create or
strengthen a monopolist. There have been big differences in antitrust policies both
among countries and within the same country over time. This has reflected
different ideas about what constitutes a monopoly and, where there is one, what
sorts of behaviour are abusive.

In the United States, monopoly policy has been built on the Sherman Antitrust
Act of 1890. This prohibited contracts or conspiracies to restrain trade or, in the
words of a later act, to monopolise commerce. In the early 20th century this law
was used to reduce the economic power wielded by so-called “robber barons”,
such as JP Morgan and John D. Rockefeller, who dominated much of American
industry through huge trusts that controlled companies’ voting shares. Du Pont
chemicals, the railroad companies and Rockefeller’s Standard Oil, among others,
were broken up. In the 1970s the Sherman Act was turned (ultimately without
success) against IBM, and in 1982 it secured the break-up of AT&T’s nationwide
telecoms monopoly.

In the 1980s a more laissez-faire approach was adopted, underpinned by
economic theories from the Chicago school. These theories said that the only
justification for antitrust intervention should be that a lack of competition harmed
consumers, and not that a firm had become, in some ill-defined sense, too big.
Some monopolistic activities previously targeted by antitrust authorities, such as
predatory pricing and exclusive marketing agreements, were much less harmful to
consumers than had been thought in the past. They also criticised the traditional
method of identifying a monopoly, which was based on looking at what percentage
of a market was served by the biggest firm or firms, using a measure known as the
Herfindahl-Hirschman index*. Instead, they argued that even a market dominated
by one firm need not be a matter of antitrust concern, provided it was a contestable
market.

In the 1990s American antitrust policy became somewhat more interventionist.
A high-profile lawsuit was launched against Microsoft in 1998. The giant software
company was found guilty of anti-competitive behaviour, which was said to slow
the pace of innovation. However, fears that the firm would be broken up, signaling
a far more interventionist American antitrust policy, proved misplaced. The firm
was not severely punished.

In the UK, antitrust policy was long judged according to what policymakers
decided was in the public interest. At times this approach was comparatively
permissive of mergers and acquisitions; at others it was less so. However, in the
mid-1980s the UK followed the American lead in basing antitrust policy on
whether changes in competition harmed consumers. Within the rest of the
European union several big countries pursued policies of building up national
champions, allowing chosen firms to enjoy some monopoly power at home which
could be used to make them more effective competitors abroad. However, during
the 1990s the European Commission became increasingly active in antitrust policy,
mostly seeking to promote competition within the EU.



In 2000, the EU controversially blocked a merger between two American firms,
GE and Honeywell; the deal had already been approved by America’s antitrust
regulators. The controversy highlighted an important issue. As globalization
increases, the relevant market for judging whether market power exists or is being
abused will increasingly cover far more territory than any one single economy.
Indeed, there may be a need to establish a global antitrust watchdog, perhaps
under the auspices of the World Trade Organisation.

*The Herfindahl index (also known as Herfindahl-Hirschman Index, or HHI,
cidglen Oldéciare -Ocdrerir) is a measure of the size of firms in relation to the
industry and an indicator of the amount of competition among them. Named after
economists Orris C. Herfindahl and Albert O. Hirschman, it is an economic
concept widely applied in competition law, antitrust and also technology

management.

I11. Read the following article and explain in terms of economics which laws
were broken by Apple Inc. and what could be the possible best-case/worst-
case scenario for the company.

APPLE IPHONE ‘MONOPOLY’ CHALLENGED

AGENCIES Oct 10, 2007

SAN FRANCISCO: A civil lawsuit filed in California accuses Apple of creating
an unlawful iPhone monopoly and vindictively releasing a software update that
turns hacked devices into “iBricks.”

The lawsuit, filed by attorney Damian Fernandez on behalf of a California man,
accuses Apple of creating a monopoly by barring US customers from choosing a
cellphone service provider other than US telecom giant AT&T. The lawsuit also
says Apple released last month a software update that disables iPhones that
customers managed to unlock to choose another carrier.

Fernandez, who filed the lawsuit on October 5, is seeking “class action” status to
expand the litigation to cover all US iPhone buyers. In court documents, Fernandez
estimates that Apple has sold 1.28 million iPhones since they went on sale in the
United States on June 29. Several hundred thousand of those phones were hacked
to enable them to connect to service providers other than AT&T, which has a five-
year deal to be the exclusive US telephone service for the devices.

The lawsuit says Apple has created a monopoly by forcing iPhone buyers to use
AT&T and not “unlocking” the devices to allow service by rival carriers.

An update released September 27 for iPhone software disables hacked devices,
turning the phones into “iBricks,” the suit alleged.

“Apple punished consumers for exercising their rights to unlock their iPhones,”
Fernandez says in court documents. “Apple issued a software update that ‘bricked’
or otherwise caused iPhone malfunctions for consumers who unlocked their
phones and installed the update.”



The suit demands a jury trial and asks the court to order Apple to unlock
iIPhones and provide warranty service to hacked devices. It also demands Apple be
forced to pay unspecified cash damages. “Apple’s unlawful trust with AT&T
substantially lessens competition and tends to create a monopoly in trade and
commerce throughout the entire United States,” Fernandez claims in the suit.
Apple declined to comment.



English

abuse (v.)
accompanying
services
according to
achieve economic
growth

address (v)

advertisement
advertising
affect market prices

affect sth
agreement
allocative efficiency

anti-trust laws

apply (to)
approach
approximately

approximation

artificially
as follows
assign
assume

at given period of time

attribute
authoritarian regime
axis (n., pl.axes)

be based on

be concerned with
be constrained

be directed by

be equal to smth
be in short supply
be listed on

VOCABULARY
Ukrainian
3TTOBKMBAHHS
CYIIyTHI,
TOBapH
BIJIIIOBIAHO 10
JOCSITTH ~ €KOHOMIYHOTO
3pOCTaHHS
TIPUBECTHU y
BIJITOBIJTHICTB;
3BEPHYTHUCS;

CIpsIMyBaTH

pekiiama

peKIaMyBaHHS

MaTH BIUIUB Ha PUHKOBI
IHA

BILJIMBATH Ha

yrojaa

e(eKTUBHICTh PO3MOJLTY
pecypciB
AHTUMOHOIIONIBHI (amep.
AHTUTPECTOBCHKI)
3aKOHH
BUKOPUCTOBYBATH

AX1T

PUOJIU3HO

HaAOJIMKEHHS
(HabyxeHa BepCis)
MITYYHO

HACTYIIHE

PUIHCYBATH, BBAKATH
BBAYKATH, IPUITYCKATH

3a JJaHUH Yac

aTpuOyT, BIACTUBICTH
ABTOPUTAPHUU PEIKUM
BIChH

0azyBaTuCA

MaTH CIIPaBy 3

OoyTu 3MYILIEHUM;
oOMeKeHUM

OyTHU CIIPSIMOBaHUM
PIBHSITUCS; TOPIBHIOBATH
OyTu nediurom

OyTH  3aHECEHUM  J0
CITUCKY

CYNpOBIJIHI



be of
Importance
be related to

be subject to special
conditions

build smth up
business venture
buy up

capital stock
cardinal utility
cause (V)

central planning
certainty
characterize
charge price for
classify
collapse (v)
command economy
community
compete
competition
competition laws
competitor
complete power
completely
comprise
computerised
concentrate on

consequence
constituent

construction business

consume
consumer
consumer behaviour

consumption
consumption good
continually
convince

secondary He

MaTH
3HAYEHHS
OyTM  TOB’SI3aHUM 3
YUMOCH

MianamgaTyd Mmia ocoOInB1
YMOBH, 3a3HaBATH
0COOJIMBUX YMOB
CTBOPIOBATH, CKJIaaTH
BEHUYpHUI O13HEC
CKYIIOBYBaTH

OCHOBHHM Karita
KUTbKICHA KOPUCHICTh
BUKIIUKATH

IIEHTPAJIbHE TIJIaHyBaHHS
BIICBHEHICTh
XapaKTepu3yBaTH
NpU3HAYATH IIHY JTS
KJacudikyBaTu
TIPUBECTH JIO 3HMKCHHS
KOMaH/THa EKOHOMiKa
CYCHUIBCTBO
KOHKYPYBaTH
KOHKYPEHIIis

3aKOHHM KOHKYPEHIIi1
KOHKYPEHT

MOBHA BJIaJia

MOBHICTIO

MICTUTH

KOMIT’ I0TE€pU30BaHU I
KOHIIEHTPYBATHCS;
30CcepemKyBaTUC

HACJI 0K

CKJIaJI0Ba

OyniBelIbHA KOMITaHIs
CIIO’KUBATH

CIIO’KMBaY

MOBEIIHKA  CIIOKHBada
(moBeXiHKA JTIOJWHHM, 10
MOB’si3aHa 3 PIMICHHAMH
I0JI0 TIOKYIIKK TOBAapiB
Ta MOCIIYT)

CTIIO’KUBAHHS

CIIOKMBYUI TOBAP
Oe3MepecTaHKy
3arneBHIOBATH

BaKJIMBOI'O



copycat (n)
copyright (n., adj)
corner the market
costs of production

create wealth

critically

current exchange rate
current price

curve

cyberspace

deal with

define

demand

depend on
derive from
deserve sth
detention center

determine

differ from smth/smb
in smth

differentiate

diminish (v.)
direct relationship
dispose of

distinguish
distribute
dominate
downward-sloping
line

duopoly

duopsony

earn a living

HaCJIi1yBay

aBTOPCHKE MIPABO
‘OXOIUTIOBAaTH PUHOK

BUPOOHNYI1 BUTPATH,

co01BapTICTh

HAKONUYYBaTH,

CTBOPIOBATH

MarepiajibHi

IIIHHOCT1/0araTcTBO

BaXKJIMBO, KPUTUYHO
Kypc 0OMiHY BaJIIOT
[IOTOYHA I[IHA
KpuBa (JIiHis)
Ki0epnpocTip
MaTH CIpPaBy 3
JlaBaTh
BU3HAYEHHS
ITOITAT
3aJIEKATH Bif
0JIep)KyBaTH
3aCJIyrOByBaTH
HEHTp IS yTpUMaHHS
i BapTOIO
MIPaBONOPYIITHUKIB
BU3HAYATH,
BCTAHOBJIIOBATH
BIJIPI3HATH, BIAPI3HHTH,
pO3ITi3HaBaTH

TOYHC

pO3ITi3HATH;
PO3PI3HATHUCS,
nudepeHIiroBaTucs
CIaJiaTH, 3MEHIITYBaTUCS
npsiMa 3aJIeXKHICTh
PO3IOPSAIKATUCS
MalHOM

BIJIPI3HATH
pPO3MOALIATH
JIOMIHYBaTH
crajHa JIHIA

JTyOTIOJTist
JTyOTICOHI1S
3apO0IsTH HA KUTTS


http://en.wikipedia.org/wiki/Copyright

economic (adj.)
economic activities

economic planning
economic resources
economic system
economical (adj.)

economics

economist (n.)
economize (v.)

economy (n.)

economy-wide

efficient

efficiently

effort

elasticity

employed labour force
employment level
empower

encourage
entrepreneur

entrepreneurship
environmental
protection

equal smth
equipped with
essential commodity

everyday life

excess supply

exclusive right
exercise freedom

€KOHOMIYHUI
€KOHOMIYHA AISUTbHICTH

€KOHOMIYHE IJIaHyBaHHS
€KOHOMIUHI1 pecypcu
€KOHOMIYHA CUCTEMa
3a0I11aIJIMBHM,
€KOHOMHUH

€KOHOMIKa (HaBYaJbHA
Ta HayKOBa JMCIUILIIHA)
€KOHOMICT
3a01113]PKyBaTH,
CKOHOMHWTH

EKOHOMIKa (kpaiHn),
HapoJIHE T'OCIOJIApPCTBO;
EKOHOM I

y MeXax eKOHOMIKH
KpaiHu

e(heKTUBHHI, JIE€BUH,
IIPOAYKTHUBHUM,
KBaTi(hiKOBAaHUM
e(heKTUBHO

3YCHILIIS

eJIACTUYHICTh

3aifHsTa poboya cuiia
PIBEHB 3aMHATOCTI
YIIOBHOBAa)KYBATH,
nopydaru

320X04YyBaTH

cy0’eKT TOCIoAapchbKoOi
ISITBHOCTI

HiAITpUEMEITH

OXOpOHa
HABKOJIMIITHHOTO
cepeaoBuIIa

PIBHATHCS; TOPIBHIOBATH
o0JiaTHaHU

TOBap Iepuoi
HEOOX1THOCTI
ITOBCSIKICHHE JKUTTS
HaJJIMIIIKOBA
MIPOTIO3HUIIIS;, HAJTUIIIOK
MPOTO3HUIIiT

EKCKITFO3UBHE MPABO
BUKOPHUCTAHHSI CBOOOAN



exercise one’s choice

exist alongside sth
expand

expedient
experience (n)
exploit (V)
extraction

factor inputs

factors of production
fall (v)
fall into the category
feature
feature emphases on

fix prices

fixed capital

flood the market
(with)

flow of information
focus on sth.

fraction
free good
free market
furthermore
gain (from)

generation
get the most out of sth.

glut
gold standard

government
intervention
Government
investment spending
government regulation

government services
company
gratifying

KOPHCTYBAaTHCSI TIPABOM
BUOOpY

ICHYBaTH pa3oM 3
PO3IIUPIOBATH
JTOIUTEHU N

JIOCBIJT

po3pobIATH

POJIOBUIIIE

BUJ00YTOK, dakropu
BUPOOHUIITBA

dakTopu BUpOOHUIITBA
najaTH

MOTPAIUISATH B KATETOPIF0
0COOJIUBICTh

BiJIBOJIUTH BaXJIUBY
poJib

BCTAHOBJIFOBATH L[IHU
OCHOBHMH KaIliTal
HABOIHSATH,
HABOJ/IHIOBATH

noTiK 1H(popmarrii
30CepeIKyBaTUCH,
30CepeAUTHCS Ha Y-H.
qacTKa

O€3KOIIITOBHI TOBApH
BUIbHHI PUHOK

OLIBII TOTr'O, 10 TOTO XK
0JIepKYyBaTH,
JoMaraTucs; 3100yBaTu
MTOKOJIIHHS, TeHepaltis
OTPUMYBATH,
0JIep)KyBaTH MaKCUMyM
NepeHACHYCHHS

30JI0TUH CTaHIaPT;
eTaJIOH

JIep>)KaBHE BTPYYaHHS

JIep’)KaBHI BUTpATH Ha
IHBECTHUIIT

Jep>KaBHE PEryIIOBaHHS;
JiepKaBH1 MTOCTAHOBH
KOMIIAHIsA, IO HaJae
Jep KaBHI MOCIYyTH
NPUEMHUM, TaKul IO
3a/10BOJIbHSIE



Gross Domestic
Product (GDP)
have control over
smth

health care service

hit the ceiling
hold a dominant
position

human capital
humanity

imply

impose fines

improve through

In response to
in the long run
in the near

in the strict economic
sense

increase (n) to
indicate

individual citizens
inelastic
infinite

influential
inherent

initial idea

initially

interfere in
interference
intervene in
inventor

inverse relationship
inversely

invest

BAJIOBUM
MPOAYKT
KOHTPOJIIOBATH 11OCh

BHYTPIIIHIN

cHcTeMa OXOPOHHU
310pOB’ 4

pizko  3poctatd  (TIpo
I[1HH )

MaTH JIOMIHYIOUYE
ITOJIOKCHHS

JIOACHKHI KaItiTana
JIOJICTBO

MaTd Ha aymmoi  (Ha
yBa3i); HATsKaTH,

MICTUTH B CO01; 3HAYUTH,
MaTH 3HAYEHHS
HaKJIagatu mrpad
TIOKpAIyBaTH 3a
JIOIIOMOT OO

y BIZNIOBIJIb HA

B KiHI[EBOMY PaxyHKY

y HaWOIMKIOMY
MaiiOyTHEOMY

B CYBOPO €KOHOMIYHOMY
CeHCI
30UIBIIEHHS 10
BKa3yBaTH;
OyTH 03HAKOIO
OKpeMi rpoMaasiHu
HEECJTACTUYHUM
HECKIHYCHHUH,
HE3JIIYeHHUH,
HEOCATHCHHU I
BILJINBOBUM

BJIACTUBMH,
MpUTAMAHHUMN

TIepBicHA i1es
CITOYATKY, TIEPIII 32 BCE
BTPYYaTHCS

BTPYYaHHS

BTPYYaTHCS
BUHAXIIHUK

3BOPOTHA 3aJICKHICTh
00EpHEHO MPOMOPIIIHHO
1HBECTYBaTH I'pOLIl

O3HaAYaTH,



It is commonly
assumed

It should be noted
judge (v)

label

lack of

laissez-faire

law of demand

Law of Diminishing
Marginal Utility
law of supply

life expectancy

limited resources
London Stock
Exchange
long-standing
long-term planning

lower

luxuries
luxuries/luxurious
goods

machinery
macroeconomics
maintain

maintenance

make a distinction
make a profit
make a step

make assessments
make into

make transactions
make up

man made
manufactured
marginal utility
maritime

market

market (v.)

3TIZHO 3 3arajbHOIO
JTyMKOTO

CJIIJT 3a3HAYHTH

CYyAUTH; OI[IHIOBATH;

CKJIaCTH cO01 JYMKY
MapKyBaTH; MITUTU
BIJICYTHICTb

MOJIITUKA HEBTPYUYaHHSI
3aKOH TMOMUTY

3aKOH CIIaJiHO1
TPAaHUYHOT KOPUCHOCTI1
3aKOH MPOMO3UIIiT
cepenHs TPUBAJICTh
KUTTS

0o0OMe3KeH1 pecypcu
Jlonnonceka  (oHIOBA
Oipxa

JIOBTOTPUBAIU I
JIOBTOCTPOKOBE
IUTAaHYBAaHHS

3HIKATHUCA,
3MEHIIIyBaTUCS
peIMETH PO3KOIITi
peIMETH PO3KOIITi

TEXHIKa, YCTaTKyBaHHS
MaKpOEKOHOMIKa
HiATPUMYBaTH y
pobouomy cTaHi
HiATPUMaHHS B
HAJIE)KHOMY CTaH1
BIJIPI3HATH

OTPUMYBATH PUOYTOK
poOUTH KPOK
OIIHIOBATH, OI[IHUTH
NIEPETBOPUTH HA
3MIMCHIOBATH omepartii
CTBOPIOBATH, CKIAaTH
TYYHU U

MIPOMUCIIOBU I

rpaHUYHA KOPUCHICTD
MOPCBKUU

PUHOK

peanizyBatH, 30yBaTH;



market conditions
market economy
market equilibrium
market equilibrium
price

market intervention
market participant
market power
market price
maximize

means of production
meet the demand
merger
microeconomics
monopoly
monopsony

must have

national labour force

natural disaster
natural monopoly
natural resources
nature

newborn

nobility
non-essential
commodities
non-marketed output
noticeable
objections (to)
objective (n)

of about 5 inhabitants

oligopoly
oligopsony

on average

on the contrary
operate

operate a business
opportunity cost

3HAaXOJIUTU PUHOK 30YTYy,
TOPTyBaTH Ha PUHKY
PUHKOB1 YMOBU

PUHKOBA €KOHOMIKa
PUHKOBA piBHOBara
pIBHOBaXkKHa IIiHA, I[iHA
o 3a0e3neyye pUHKOBY
piBHOBary

PUHKOBA 1HTEPBEHIIIS
YYaCHUK PUHKY

pUHKOBA BlIaja

PUHKOBA I[1HA
30UIBIIYBAaTH /O MEXI;
MaTH KOPHCTh

3aco0u BUPOOHHUIITBA
32JI0BOJIBHSITH TIOTTAT
3JIMTTS. KOMITaHIN
MIKpPOEKOHOMIKa
MOHOITOJI1S
MOHOIICOHIS

TE, 110
000B’I3KOBO MaTH
HaIL[lOHAJIbHA poboua
cuia

CTUXIHHE JTUXO
HaTypaJibHa MOHOIIOJIIs
IIPUPOJIHI pecypcu
IpHUPO/IA; XapaKTep
HOBOHAPOKECHUI
JIBOPSTHCTBO
TOBap HE
HEOOX1THOCTI
HEPUHKOBI TOBapH
MOMITHUM

3anepeyueHHs

JTb

3 NPUOJIU3HO 5
MEIIKAHI[IB

OJIIFOMOJTIst

OJIITOTICOHIS

B CEPETHHOMY

HaBITAKH

IpaIroBaTh

yIpaBiIsTU O13HECOM
BUTPATH

Tpeba

IepuIol



opt for

other things being
equal

output

over-production
own (V)

ownership

paid job

patent

patent rights
perfect competition
(pure competition)
permit
phenomenon (pl.-a)
plan ahead

plc (public limited
company)

POSSess
possessions
precise

price ceiling

price taker

priority

private enterprise
private ownership

private property
produce

production targets
productive potential
productive resources
productivity

HEBUKOPHUCTAHUX
MOXKJIMBOCTEN
BUOpATU

3a IHIIMX PIBHUX YMOB

MPOJTYKIIIS;
BUPOOHUILITBO;
BUPOOHUIITBA
HaJIBUPOOHUIITBO
BOJIOITH

IPaBO BJIACHOCTI
orlayyBaHa po0ota
NaTeHT

NaTeHTH1 MpaBa
YKCTa KOHKYPEHIIis

o0csr

JIO3BOJISITH
(dbeHOMEH, SIBUIIE
TUTAHYBaTH HaIepes

nyOiiyHa KOMMaHis 3
0OMEKEHOIO
BIJIITOB1JAJIBHICTIO
BOJIOIITH

MamHO

TOYHUM

MakCHhMaJibHa [1HA;
MAaKCUMQJIbHUM  BUITYCK
MPOJIYKIIiT TOIIIO
CKOHOMIYHUM  CYO0’€KT,
AKAN HE CIIpABJISIE

BINIMBY Ha IiHy (Ha
PHUHKY)

MEPIIOYEPTOBICTb,
IpiOPUTET

pPUBATHE MiATPUEMCTBO
IIpaBo IIPUBATHOI1
BJIACHOCTI

pUBaTHA BIACHICTh
BUPOOJIATH

BUPOOHMYI IT1T1
BUPOOHUYHI TTOTEHITIaT
BUPOOHUY1 pecypcu
MPOJIYKTUBHICTb


http://en.wikipedia.org/wiki/Patent

profit maximization
prohibit

provide smb with sth
public monopoly
public ownership
public sector

public utility company

purchase (V)
quality

raise

raised capital
range of wants
rank (v)

rare
rate (V)

raw material
real estate
recognition
refer to

reflect
regard as
relate to

relationship
relevant

remain
remote
requirement

respectively

restrict
restrictions on
revenue

rigidly controlled

rip-off (n)

MaKcHMi3allis NpuOyTKy
3a00pOHSITH
3a0€3II€YNTH K-H., 9-H.
Jep>kaBHa MOHOIIOJIsS
CyCHUIbHA BJIACHICTh
JepKaBHUU CEKTOp
CKOHOMIKH, OOJKETHA
chepa

KOMYHQJIbHE
H1AITPUEMCTBO

KyIyBaTH

SKICTh

H1ABUITYBATH

3aJIy4eHU KamiTas

KOJI0 Oa’KaHb
KJacu(ikyBaTH,
pO3TaIlyBaTH B IICBHOMY
TOPSJIKY

PIAKICHUN

OIL[IHIOBATHU

CUPOBHHA

HEPYXOMICTh

BU3HAHHS

NOCWJIATUCSA HA; MaTH
BIJTHOILIEHHSI J10 Y-H.
Opatu 110 yBarw,
BBaXKATU

MaTy BIIHOILIEHHSA OO Y-
H.

B3a€MO3B’ SI30K
JOPEYHUN; 110
CTOCYETBCS CITPaBU
3aIUIIATUCS

BlIUTaICHAN

BHMOTA; HeoOXigHa
yMOBa; oTpeba
CTOCOBHO KOKHOTO
30KpeMa; BIJMOBIIHO, Yy
BKAa3aHOMY TOPSIIKY
o0OMexKyBaTH

0OMeXeHHS Ha

PIYHMM 10X1]

AKOPCTKO
KOHTPOJIbOBAHUM
3J0Q1MCTBO; TIJIariat



run a company
sacrifice
satisfaction

satisfy

savings

scale of preferences
scarcity

science
scientific
self-correcting
semi-finished
separate (adj)
service delivery
set barriers

set of conditions
set up

set up a target
shelter

shortage

social capital

society

solve the problem
standard of living
starvation

state

step (v) (in)

stock exchange
strong secondary
market for
subsistence level
substitute products
success

sum up

sum-total
superior product
superiority
supplies of capital
supply

surplus income
sweet tooth

YIPABIATH KOMIIAHIEIO
KEepTBa
3aJI0BOJICHHS
3aJI0BOJIbHUTHU
32011 [KEHHS
IKaja rnepenar
HeJIocTava,
nediut

HayKa
HayKOBUMU
CaMOPETyTOBAIBHUAN
HaniBaOpukar

OKpEMHUIM

HaJIaHHSI TTOCITYT
BCTAHOBIIIOBATH
MEePEIIKOIN

P YMOB

3aCHOBYBATHU

CTaBUTH U1

KHUTIIO

nedinuT, HecTava
COLlaJIbHUI KariTana

HecTayva,

CYCHUTBCTBO
BUPIIITYBATU MPOOIIEMY
PIBEHB KUTTS

rOJI0JT; TOJIOAYBAaHHS
CTBEPIKYBaTH
BTpYyYaTHUCS

dbon0Ba OipKa

CTaJnn BTOPUHHUU
PUHOK

IPOKUTKOBUI PIBEHb
TOBapHU-3aMIHHUKH
yCImixX

N1CyMOBYBATH,
iA0MBATH ITIICYMKH

y CYKyITHOCTI, pa3om
POYKT KPaIoi SKOCTi
nepesara

HAKOMHUYEHHS KamiTary
MIPOTIO3UIIIS
HAJJTUIITKOBUNA TPUOYTOK
NPUCTPACTh,  CJIAOKICTH
710 COJIOAKOTO



take a broad view of

sth.

take part in sth
tax

tend towards
the purest form
thus

to ensure

to prevent from

to the prejudice

to trade smth for
total demand

total output

total utility
trademarks
traditional economy
training

under-developed
country
underlie

undesirable
upward slope
used to be

usefulness
utility function
valuable

value

venture

violate

vitally important
wage
willingness
working age
working capital

IIUPOKO JUBUTHCS Ha
peui

OpaTu y4acTh B 4-H.
I10JIATOK

MparHyTH J10 4-H.

y 4YUCTIH popmi

TaKUM YHHOM, OTKE
JUIS 3a0€31eUeHHS
3aBa)kaTu,
NepeIKoKaTH
(uoMych)

Ha IIKOTY

OOMIHIOBATH IIOCh
3araJibHUM MNOMUT
BaJIOBa MPOAYKITis
CYKyITHa KOPHUCHICTh
TOpriBejbHa MapKa
TpaauIliiHa €eKOHOMIKA
HaBYaHHS, ITIATOTOBKA;
OCBITa

c1abopo3BUHYTA KpaiHa

nexatu (OyTH) B OCHOBI
Y-H.

HeOaxaHu

HAXHJI BrTOPY

MaTHy 3BUYKY; paHiIIe

KOPHUCTD; MPUJATHICTh
GbyHKIIIS KOPUCHOCTI
IHHUA

[IHHICTD
HiITPUEMCTBO
MOPYITyBaTH
JKUTTEBO BaKJIMBUI
3apo0iTHA mIaTa
Oa’xkaHHS
npare31aTHUN BiK
000pOTHHI KarriTan


http://en.wikipedia.org/wiki/Trademark

Abbreviation
AGM

BP

CE

CEO

Co.

Corp.

DC

e.g. (Lat.)
EBRD

EC

ECM

EDP

EEC

etc. (Lat.) et cetera
EU

EUROSTAT

HQ

l.e. (Lat.) id est
ICC

ILO

Inc.

IT

Ltd

MBA

NATO

NB (Lat.) nota bene

OECD

OSCE

LIST OF ABBREVIATIONS

Meaning

Annual General Meeting
British Petroleum

Council of Europe

Chief Executive Officer
company

corporation

developed country

exempli gratia (for example)

European Bank of Research and
Development

European Community

European Common Market
Electronic Data Processing
European Economic Community
and so on

European Union

Statistical Office of the European
Communities

Headquarters

that is, in other words

International Chamber of Commerce
International Labour Organisation
Incorporated

Information Technologies

limited liability

Master of Business Administration
North Atlantic Treaty Organisation

NpUMU K CBEIEHUIO, 00patu ocoboe
BHUMaHUE

Organisation for Economic Cooperation
and Development

The Organization for Security and



plc
Rd

SIM

Sq
St
UNESCO

UNO
VIP
WHO
WIPO

WTO

Co-operation in Europe
Public Limited Company
Road

subscriber identification module (card
for mobile phone)

Square
Street

United Nations Educational, Scientific
and Cultural Organisation

United Nations Organisation
Very Important Person
World Health Organisation

World Intellectual Property
Organisation

The World Trade Organization
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